
CHEMISTRY

BOOKS - UNIVERSAL BOOK DEPOT 1960 CHEMISTRY

(HINGLISH)

IONIC EQUILIBRIUM

Ordinary Thinking ( Electric conductors, Arrhenius theory and

Ostawalds dilution law)

1. Acetic Acid is a weak electrolyte because:

A. Its molecular weight is high

B. It is covalent compound

C. It does not dissociate and much or its ionization is very less

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_l4unlEdzIfR9


D. It is highly unstable

Answer: C

Watch Video Solution

2. Which of the following is non-electrolyte ?

A. NaCl

B. 

C. 

D. 

Answer: C

Watch Video Solution

CaCl2

C12H22O11

CH3COOH

https://dl.doubtnut.com/l/_l4unlEdzIfR9
https://dl.doubtnut.com/l/_EkpGSEcGlqM6
https://dl.doubtnut.com/l/_AicOrdJuJpXf


3. Ionisation depends upon

A. Pressure

B. Volume

C. Dilution

D. None of these

Answer: C

Watch Video Solution

4. Degree of dissociation of 0.1 N is ( Dissociation

constant 

A. 

B. 

C. 

CH3COOH

= 1 × 10− 5)

10− 5

10− 4

10− 3

https://dl.doubtnut.com/l/_AicOrdJuJpXf
https://dl.doubtnut.com/l/_WEIBd2vsEPLU


D. 

Answer: D

Watch Video Solution

10− 2

5. For a 'C'  concentarted solution of a weak electrolyte 

(degree of dissociation) is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

M AxByα

α = √Keq /C(x + y)

α = √KeqC /(xy)

α = (Keq /Cx+y− 1XxY y)
( 1 / ( x+y )

α = (Keq /Cxy)

https://dl.doubtnut.com/l/_WEIBd2vsEPLU
https://dl.doubtnut.com/l/_kN8M3zdN7jGM


6. A weak monobasic acid is 1% ionized in 0.1 M solution at C.

The percentage of ionization in its 0.025 M solution is :

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

25∘

7. Theory of ionization was given by

A. Rutherford

B. Graham

https://dl.doubtnut.com/l/_CwtFjdo9Csdr
https://dl.doubtnut.com/l/_k1dIV3LDwAJK


C. Faraday

D. Arrhenius

Answer: D

Watch Video Solution

8. The colour of an electrolyte solution depends on

A. The nature of the anion

B. The nature of the cation

C. The nature of both the ions

D. The nature of the solvent

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_k1dIV3LDwAJK
https://dl.doubtnut.com/l/_4vjf7FzhMt2o


9. Which of the following acids is stronger than benzoic acid

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(Ka = 6.3 × 10− 5)

A(Ka = 1.67 × 10− 8)

B(pKa = 6.0)

C(pKa = 4.0)

D(Ka = 1.0 × 10− 5)

10.  M solution of formic acid is ionized . Its ionization

constant is

A. 

0.2 3.2 %

9.6 × 10− 3

https://dl.doubtnut.com/l/_CjZhgQ6HnYuO
https://dl.doubtnut.com/l/_O93CAzUHPBLB


B. 

C. 

D. 

Answer: B

Watch Video Solution

2.1 × 10− 4

1.25 × 10− 6

4.8 × 10− 5

11. The values of dissociation constants of some acids ( at 

are as follows. Indicate which is the strongest acid in water

A. 

B. 

C. 

D. 

25∘C

1.4 × 10− 2

1.6 × 10− 4

4.4 × 10− 10

4.3 × 10− 7

https://dl.doubtnut.com/l/_O93CAzUHPBLB
https://dl.doubtnut.com/l/_u1Ejpzar5RLu


Answer: A

Watch Video Solution

12. Which will not affect the degree of ionization

A. Temperature

B. Concentration

C. Type of solvent

D. Current

Answer: D

Watch Video Solution

13. An electrolyte

https://dl.doubtnut.com/l/_u1Ejpzar5RLu
https://dl.doubtnut.com/l/_E8b9BQm9oc6E
https://dl.doubtnut.com/l/_pedT1V59L15p


A. Gives complex ions in solution

B. Dissolves in water to give ions

C. Is ionized in the solid state

D. Generates ions on passing electric current

Answer: B

Watch Video Solution

14. Dissociation constant of a weak acid is decreased by

A. Addition of a strong acid

B. Addition of a salt of the above weak acid

C. Decreasing temperature

D. Dilution of the solution

https://dl.doubtnut.com/l/_pedT1V59L15p
https://dl.doubtnut.com/l/_4By5AFTNh8rG


Answer: C

Watch Video Solution

15. Ammonium hydroxide is a weak base because

A. It has low vapour pressure

B. It is only slightly ionized

C. It is not a hydroxide of any metal

D. It has low density

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4By5AFTNh8rG
https://dl.doubtnut.com/l/_BmTDKa5WoV6q


16. In which of the following, dissociation of  will be

minimum?

A. NaOH

B. 

C. 

D. NaCl

Answer: C

Watch Video Solution

NH4OH

H2O

NH4Cl

17. The degree of dissociation of 0.1 M HCN solution is 0.01%. Its

ionisation constant would be :

A. 10− 3

https://dl.doubtnut.com/l/_2seIzWwXTBRv
https://dl.doubtnut.com/l/_n3ZCXiG0gE44


B. 

C. 

D. 

Answer: D

Watch Video Solution

10− 5

10− 7

10− 9

18. Concentration of  M HCN is (Given :

)

A. 

B. 

C. 

D. 

CN −  in 0.1

Ka = 4 × 10− 10

2.5 × 10− 6M

4.5 × 10− 6M

6.3 × 10− 6M

9.2 × 10− 6M

https://dl.doubtnut.com/l/_n3ZCXiG0gE44
https://dl.doubtnut.com/l/_L7lQAcJRMksQ


Answer: C

Watch Video Solution

19. If  is the degree of ionization, C the concentration of a weak

electrolyte and  the acid ionization constant , then the correct

relationship between  and C is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α

Ka

α

α2 = √
Ka

C

α2 = √
C

Ka

α = √
Ka

C

α = √
C

Ka

https://dl.doubtnut.com/l/_L7lQAcJRMksQ
https://dl.doubtnut.com/l/_UE3r1n01Yeqq
https://dl.doubtnut.com/l/_UlFD10x7uYJm


20. The  of a  molar solution of the acid  is . The value

of the ionisation constant,  of the acid is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

pH 0.1 HQ 3

Ka

3 × 10− 1

1 × 10− 3

1 × 10− 5

1 × 10− 7

21. Which is generally true about ionic compounds

A. Have low boiling point

B. Have low melting point

https://dl.doubtnut.com/l/_UlFD10x7uYJm
https://dl.doubtnut.com/l/_cf5ZllrXwNj1


C. Soluble in non polar solvents

D. Conduct electricity in the fused state

Answer: D

Watch Video Solution

22. Which one of the following is the correct quadratic form of

the Ostwald's dilution law equation

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

α2C + αK − K = 0

α2C − αK − K = 0

α2C − αK + K = 0

α2C + αK + K = 0

https://dl.doubtnut.com/l/_cf5ZllrXwNj1
https://dl.doubtnut.com/l/_XUpLKNRgUNXO


Watch Video Solution

23. An example of a strong electrolyte is

A. Urea

B. Ammonium hydroxide

C. Sugar

D. Sodium acetate

Answer: D

Watch Video Solution

24. A 0.010M solution of maleic acid, a monoprotic organic acid is

14% ionised. What is  for maleic acid ?

A. 

Ka

2.3 × 10− 3

https://dl.doubtnut.com/l/_XUpLKNRgUNXO
https://dl.doubtnut.com/l/_qhWdlbP50djx
https://dl.doubtnut.com/l/_kdsqdLHj6ZTm


B. 

C. 

D. 

Answer: B

Watch Video Solution

2.3 × 10− 4

2.0 × 10− 4

2.0 × 10− 6

25. The equilibrium that exists in aqueous solution ,

 if dil HCI is added at

constant temperature then

A. Concentration of  will increase

B. Concentration of  will decrease

C. The equilibrium constant will increase

D. The equilibrium constant will decrease

CH3COOH ⇔ CH3COO
− + H +

CH3COO
−

CH3COO
−

https://dl.doubtnut.com/l/_kdsqdLHj6ZTm
https://dl.doubtnut.com/l/_KVkeaRhcJfDe


Answer: D

Watch Video Solution

26. A monoprotic acid in  solution is  ionised. The

dissociation constant of this acid is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1.00M 0.01 %

1 × 10− 8

1 × 10− 4

1 × 10− 6

10− 5

https://dl.doubtnut.com/l/_KVkeaRhcJfDe
https://dl.doubtnut.com/l/_som7dRjqMqOm


27. Accumulation of lactic acid , a monobasic acid in

tissues leads to pain and a feeling of fatigue. In a 0.10 M aqueous

solution, lactic acid is  dissociates. The value of dissociation

constant Ka, for this acid will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(HC3H5O3)

3.7 %

1.4 × 10− 5

1.4 × 10− 4

3.7 × 10− 4

2.8 × 10− 4

28. The van't Hoff factor for  at 0.01 M concentration is 1.98.

The percentage dissociation of  at this concentration is :

BaCl2

BaCl2

https://dl.doubtnut.com/l/_68884hSolfbB
https://dl.doubtnut.com/l/_HlLeaQcnDLF2


A. 49

B. 69

C. 89

D. 98

Answer: A

Watch Video Solution

29. An ionizing solvent has

A. Low value of dielectric constant

B. High value of dielectric constant

C. A dielectric constant equal to 1

D. Has a high melting point

https://dl.doubtnut.com/l/_HlLeaQcnDLF2
https://dl.doubtnut.com/l/_4l7zb9kcewv2


Answer: B

Watch Video Solution

30. For a weak acid HA, Ostwald's dilution law is representented

by the equation

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ka =
αc

1 − α2

Ka =
α2c

1 − α

Ka =
Kac

1 − c

Ka =
α2c

1 − α2

https://dl.doubtnut.com/l/_4l7zb9kcewv2
https://dl.doubtnut.com/l/_O6xJmjduCNZM


31. The addition of a polar solvent to a solenoid electrolyte results

in

A. Polarization

B. Association

C. Ionization

D. Electron transfer

Answer: C

Watch Video Solution

32. For solution of weak electrolytic, the degree of ionization

A. Will be proportional to dilution

B. Will be proportional to concentration of electrolyte

https://dl.doubtnut.com/l/_ssOVhxbiU4v6
https://dl.doubtnut.com/l/_L7E67EJEuZMw


C. Will be proportional to the square root of dilution

D. Will be reciprocal to the dilution

Answer: C

Watch Video Solution

33. The best conductor of electricity is a 1M solution of

A. Boric acid

B. Acetic acid

C. Sulphuric acid

D. Phosphoric acid

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_L7E67EJEuZMw
https://dl.doubtnut.com/l/_AoDKIKuwuC8W


Ordinary Thinking (Acids and Bases)

1. The degree of dissociation in a weak electrolyte increase

A. On increasing Dilution

B. On increasing pressure

C. On decreasing

D. None of these

Answer: A

Watch Video Solution

2. Which of the following is not a Lewis acid ?

A. PH3

https://dl.doubtnut.com/l/_HyXWsI3O8Dfw
https://dl.doubtnut.com/l/_MkrSltFuiQ2o


B. 

C. 

D. 

Answer: A

Watch Video Solution

FeCl3

SiF4

C2H4

3. Boron halides behave as Lewis acid because of their ___ nature.

A. Ionic nature

B. Acidic nature

C. Covalent nature

D. Electron deficient nature

Answer: D

https://dl.doubtnut.com/l/_MkrSltFuiQ2o
https://dl.doubtnut.com/l/_2izLxIrF0NAm


Watch Video Solution

4. Which of the following is the strongest conjugate base ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cl−

CH3COO
−

SO
−
4

NO−
2

5. The most acidic compound in water is

A. AlCl3

https://dl.doubtnut.com/l/_2izLxIrF0NAm
https://dl.doubtnut.com/l/_AtYY4VAR7JOm
https://dl.doubtnut.com/l/_qQmoAbE2kLqh


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

BeCl2

FeCl2

6. Which of the following molecules acts as a Lewis acid?

A. 

B. 

C. 

D. 

Answer: A

(CH3)3B

(CH3)2O

(CH3)3P

(CH3)3N

https://dl.doubtnut.com/l/_qQmoAbE2kLqh
https://dl.doubtnut.com/l/_H5wia5Fe7SyK


Watch Video Solution

7. Which of the following is least likely to behave as Lewis acid?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

OH −

H2O

NH3

BF3

8. In which of the following arrangements the given sequence is

not strict according to the property indicated against it?

A.  , increasing acidic strengthHF < HCl < HBr < HI

https://dl.doubtnut.com/l/_H5wia5Fe7SyK
https://dl.doubtnut.com/l/_fdklRdRtvfCS
https://dl.doubtnut.com/l/_XbE9b3nCE4v2


B.  , increasing  values

C.  : increasing acidic

character

D.  , increasing oxidizing

power

Answer: B

Watch Video Solution

H2O < H2S < H2Se < H2Te pKa

NH3 < PH3 < AsH3 < SbH3

CO2 < SiO2 < SnO2 < PbO2

9. Which of the following salts will give highest pH in water ?

A. 

B. 

C. 

D. 

Na2CO3

CuSO4

KCl

NaCl

https://dl.doubtnut.com/l/_XbE9b3nCE4v2
https://dl.doubtnut.com/l/_76oqwBMltLRR


Answer: A

Watch Video Solution

10. NaOH is a atrong base because

A. It gives  ion

B. it can be oxidized

C. It can be easily ionized

D. Both (a) and (c)

Answer: D

Watch Video Solution

OH −

11. The correct order of basic strength is

https://dl.doubtnut.com/l/_76oqwBMltLRR
https://dl.doubtnut.com/l/_8BfFOwH865AF
https://dl.doubtnut.com/l/_V4Ke4BvEvIT7


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O < OH − < CH3OH < CH3O
−

CH3OH < H2O < CH3O
− < OH −

H2O < CH3OH < OH − < CH3O
−

OH − < H2O < CH3O
− < CH3OH

12. Review the equilibrium and choose the correct statement

A.  is the conjugate acid of 

B.  is the conjugate base of 

C.  is the conjugate acid of 

D.  is the conjugate base of 

HCIO4 + H2O ⇔ H2O
+CIO

−
4

HClO4 H2O

H3O
+ H2O

H2O H3O
+

ClO
−
4 HClO4

https://dl.doubtnut.com/l/_V4Ke4BvEvIT7
https://dl.doubtnut.com/l/_kKJsIkvINeDN


Answer: D

Watch Video Solution

13. In the equilibrium 

A.  is the conjugate acid of 

B.  is the conjugate base of HF

C.  is the conjugate base of 

D.  is the conjugate base of 

Answer: B

Watch Video Solution

CH3COOH + HF ⇔ CH3COOH
+

2 + F −

F − CH3COOH

F −

CH3COOH CH3COOH
+

2

CH3COOH
+

2 CH3COOH

https://dl.doubtnut.com/l/_kKJsIkvINeDN
https://dl.doubtnut.com/l/_tlNW6RdVVpjo


14. Which of the following is a Lewis base

A. 

B. 

C. Acetone

D. Secondary amine

Answer: B::D

Watch Video Solution

CH4

C2H5OH

15.  of  is added to  of . The

resulting solution will be

A. Acidic

B. Basic

100ml 0.2MH2SO4 100ml 0.2MNaOH

https://dl.doubtnut.com/l/_qIvSv1NfZdO8
https://dl.doubtnut.com/l/_IyCpcwDWgh4b


C. Neutral

D. Slightly basic

Answer: A

Watch Video Solution

16. Which of the following is not a Bronsted acid

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3NH +
3

CH3COO
−

H2O

HSO
−
4

https://dl.doubtnut.com/l/_IyCpcwDWgh4b
https://dl.doubtnut.com/l/_wuRFrlSMReRn


17. Dissociation of  takes place in following steps

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

H3PO4

18. The solution of strong acid and weak base  is

A. Acidic

B. Basic

C. Neutral

NH4Cl

https://dl.doubtnut.com/l/_kkfMuSJiXxfO
https://dl.doubtnut.com/l/_32ZMhqCi49eh


D. None of the above

Answer: A

Watch Video Solution

19. Neutralization of an acid with base invariably results in the

production of

A. 

B. 

C. 

D.  and 

Answer: C

Watch Video Solution

H3O
+

OH −

H2O

H + OH −

https://dl.doubtnut.com/l/_32ZMhqCi49eh
https://dl.doubtnut.com/l/_HfEAV6mtfmoP


20. A salt  is dissolved in water having . The resulting

solution has a  more than . The salt is made by neutralisation

of

A. A strong acid and strong base

B. A strong acid and weak base

C. A weak acid and weak base

D. A weak acid and strong base

Answer: D

Watch Video Solution

X pH = 7

pH 7

21. Correct statement is

A.  gives alkaline solution in waterNH4Cl

https://dl.doubtnut.com/l/_lcQnfoUtGLE9
https://dl.doubtnut.com/l/_v84YagypN2Oy


B.  gives acidic solution in water

C.  is a weak acid

D.  is a strong base

Answer: C

Watch Video Solution

CH3COONa

CH3COOH

NH4OH

22. The aqueous solution of  is

A. Acidic

B. Basic

C. Neutral

D. Amphoteric

Answer: A

CuSO4

https://dl.doubtnut.com/l/_v84YagypN2Oy
https://dl.doubtnut.com/l/_zjydcRGJNiIl


Watch Video Solution

23. According to Lewis concept, an acid is a substance which

A. Accepts protons

B. Donates protons

C. Accepts a lone pair of electrons

D. Donates a lone pair of electrons

Answer: C

Watch Video Solution

24. Which is a Lewis base ?

A. B2H6

https://dl.doubtnut.com/l/_zjydcRGJNiIl
https://dl.doubtnut.com/l/_MQfk8LfT7ogT
https://dl.doubtnut.com/l/_Z6IReZhXxdTn


B. 

C. 

D. 

Answer: D

Watch Video Solution

LiAIH4

AIH4

NH3

25. A white substance was alkaline in solution. Which of the

following substances could it be

A. 

B. 

C. 

D. 

Fe2O3

Na2CO3

NH4Cl

NaNO3

https://dl.doubtnut.com/l/_Z6IReZhXxdTn
https://dl.doubtnut.com/l/_9rkmFmh83ue9


Answer: B

Watch Video Solution

26. Ammonia gas dissolves in water to form . In this

reaction water acts as

A. An acid

B. A base

C. A salt

D. A conjugate base

Answer: A

Watch Video Solution

NH4OH

https://dl.doubtnut.com/l/_9rkmFmh83ue9
https://dl.doubtnut.com/l/_6xhQ2as0V7SF


27. With reference to protonic acids, which of the following

statements is correct

A.  is more basic than 

B.  is less basic than 

C.  is equally basic as 

D.  is amphoteric while  is basic

Answer: B

Watch Video Solution

PH3 NH3

PH3 NH3

PH3 NH3

PH3 NH3

28. Which of the following is Lewis acid?

A. 

B. 

BF3

Cl−

https://dl.doubtnut.com/l/_3TPvgBN0DH04
https://dl.doubtnut.com/l/_2QOEPaEUfRYi


C. 

D. 

Answer: A

Watch Video Solution

H2O

NH3

29. HClO is a weak acid. The concentration of  ions in 0.1 M

solution of HClO  will be equal to

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

H +

(Ka = 5 × 10− 8)

7.07 × 10− 5m

5 × 10− 9m

5 × 10− 7m

7 × 10− 4m

https://dl.doubtnut.com/l/_2QOEPaEUfRYi
https://dl.doubtnut.com/l/_jPxRFEmxYs8d


Watch Video Solution

30. Which is the strongest Lewis acid?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SbH3

AsH3

PH3

Bl3

31. In the equation  which is Lewis base

A. 

B. 

I2 + I − → , I −
3

I2

I −

https://dl.doubtnut.com/l/_jPxRFEmxYs8d
https://dl.doubtnut.com/l/_tQ6FSOkBqWmR
https://dl.doubtnut.com/l/_W7ow5mEbgGLJ


C. 

D. None of these

Answer: B

Watch Video Solution

I −
3

32. Which one is Lewis acid

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cl−

Ag+

C2H5OH

S2 −

https://dl.doubtnut.com/l/_W7ow5mEbgGLJ
https://dl.doubtnut.com/l/_TkngdeDhg4AC


33. According to Bronsted-Lowry concept, base is a substance

which is

A. A proton donor

B. An electron pair acceptor

C. A proton acceptor

D. An electron pair donor

Answer: C

Watch Video Solution

34. The indicator used in the titration of iodine against sodium

thiosulphate is

A. Starch

https://dl.doubtnut.com/l/_6wbZzZEp9eRI
https://dl.doubtnut.com/l/_4Kiee6oTqu0L


B. 

C. 

D. Potassium

Answer: A

Watch Video Solution

K3Fe(CN)6

K2CrO4

35. 100 mL of HCI + 35 mL of NaOH, colour of methyl orange in the

solution will be

A. Red

B. Yellow

C. Can't be predicted

D. Methyl orange is not a suitable indicator

https://dl.doubtnut.com/l/_4Kiee6oTqu0L
https://dl.doubtnut.com/l/_SWkyU8aHVom1


Answer: A

Watch Video Solution

36. According to Lewis concept which one of the following is not a

base

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

OH −

H2O

Ag+

NH3

https://dl.doubtnut.com/l/_SWkyU8aHVom1
https://dl.doubtnut.com/l/_JjwUunvXwvqn


37. Choose the correct option : 

 is used as a catalyst in several industrial processes due to its

:

A. Strong reducing agent

B. Weak reducing agent

C. Strong Lewis acid nature

D. Weak Lewis acid character

Answer: C

Watch Video Solution

BF3

38. The acid that results when a base accepts a proton is called

A. Conjugate base of the acid

https://dl.doubtnut.com/l/_vs4afAke2MfU
https://dl.doubtnut.com/l/_bL72Ix9GGT4i


B. Conjugate protonated base

C. Lewis base

D. Conjugate acid of the base

Answer: D

Watch Video Solution

39. Accepting the definition that an acid is a proton donor, the

acid in the following reaction 

 is

A. 

B. 

C. 

D. 

NH3 + H2O → NH
+

4 + OH −

NH3

H +

NH
+

4

H2O

https://dl.doubtnut.com/l/_bL72Ix9GGT4i
https://dl.doubtnut.com/l/_9QdkKFLZtvid


Answer: D

Watch Video Solution

40. The  for acid A is greater than  for acid B, the strong

acid is :-

A. Acid B

B. Acid A

C. Both A and B

D. Neither A nor B

Answer: A

Watch Video Solution

pKa pKa

https://dl.doubtnut.com/l/_9QdkKFLZtvid
https://dl.doubtnut.com/l/_HniqpsSCGxjb


41. The strongest acid is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H3AsO4

H3AsO3

H3PO3

H3PO4

42. An aqueous solution of aluminium sulphate would show

A. A basic nature

B. An acidic nature

C. A neutral nature

https://dl.doubtnut.com/l/_RpHoQHzlDvRo
https://dl.doubtnut.com/l/_IG0VVsBZk3gZ


D. Both acidic and basic nature

Answer: B

Watch Video Solution

43. Which halide of nitrogen is least basic

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NBr3

NI3

NCl3

NF3

https://dl.doubtnut.com/l/_IG0VVsBZk3gZ
https://dl.doubtnut.com/l/_kba4RZYedWhU
https://dl.doubtnut.com/l/_EUduDmjpPcci


44. Which of the following is a conjugated acid - base pair?

A. HCl, NaOH

B. 

C. 

D. KCN, HCN

Answer: C

Watch Video Solution

NH4Cl, NH4OH

H2SO4, HSO
−
4

45. The indicator used in the titration of sodium carbonate with

sulphuric acid is

A. Phenolphthalein

B. Methyl organe

C. Potassium ferrocynide

https://dl.doubtnut.com/l/_EUduDmjpPcci
https://dl.doubtnut.com/l/_Y11MdVd7T62t


D. Potassium ferricynide

Answer: B

Watch Video Solution

46. Which one is the weakest acid

A. 

B. 

C. 

D. HBr

Answer: A

Watch Video Solution

HNO3

HClO4

H2SO4

https://dl.doubtnut.com/l/_Y11MdVd7T62t
https://dl.doubtnut.com/l/_8MBrp8EKxJgg
https://dl.doubtnut.com/l/_kgj4vHHh2ltz


47. Strongest conjugate base is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cl−

Br−

F −

I −

48. An acid is a compound which furnishes (Bronsted-Lowery

concept)

A. An electron

B. A proton

C. An electron and a proton

https://dl.doubtnut.com/l/_kgj4vHHh2ltz
https://dl.doubtnut.com/l/_Qj6sbPDvKHGo


D. None of the above

Answer: B

Watch Video Solution

49. Which of the following is not a Lewis base

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3

PH3

(CH3)3N

NH3

https://dl.doubtnut.com/l/_Qj6sbPDvKHGo
https://dl.doubtnut.com/l/_itQnoJr0acSK
https://dl.doubtnut.com/l/_SDClwGy0mrtY


50. The salt that forms neutral solution in water is

A. 

B. NaCl

C. 

D. 

Answer: B

Watch Video Solution

NH4Cl

Na2CO3

K3BO3

51. In the reaction 

A.  is the conjugate base of HCl acid

B.  is the conjugate base of HCl acid

C.  is the conjugate acid of  acid

HCl + H2O → H +
3 O + Cl−

H2O

Cl−

Cl− H2O

https://dl.doubtnut.com/l/_SDClwGy0mrtY
https://dl.doubtnut.com/l/_8MDw959l1vzO


D.  is the conjugate base of HCl

Answer: B

Watch Video Solution

H3O
+

52. The conjugate acid of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S2O
− 2
8

H2S2O8

H2SO4

HSO
−
4

HS2O
−
8

https://dl.doubtnut.com/l/_8MDw959l1vzO
https://dl.doubtnut.com/l/_eI3ypRsuLSrF
https://dl.doubtnut.com/l/_rCArRhwV8V1A


53. In the reaction , Lewis base is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

BCl3 + PH3 → Cl3B → PH3

BCl3

PH3

Cl3B → PH3

54. In the reaction  the Lewis

acid is

A. 

B. 

C. 

SnCl2 + 2Cl− → SnCl4 + 2e−

SnCl2

Cl−

SnCl4

https://dl.doubtnut.com/l/_rCArRhwV8V1A
https://dl.doubtnut.com/l/_XQY5Ons22SsA


D. None of these

Answer: A

Watch Video Solution

55. The conjugate acid of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HPO2 −
3

H3PO4

H3PO3

H2PO
−
3

PO
3 −
4

https://dl.doubtnut.com/l/_XQY5Ons22SsA
https://dl.doubtnut.com/l/_IYaGPMl56vMg
https://dl.doubtnut.com/l/_eSxfWyooe9kt


56.  The conjugate acid of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HPO
2 −
4

H2PO
−
4

PO
3 −
4

H3PO4

H3PO3

57. Which of the following is the strongest Lewis acid

A. 

B. 

C. 

BI3

BBr3

BCl3

https://dl.doubtnut.com/l/_eSxfWyooe9kt
https://dl.doubtnut.com/l/_we9pQm0XdYXR


D. 

Answer: A

Watch Video Solution

BF3

58. The conjugate base of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NH −
2

NH3

NH 2 −

NH
+

4

N −
3

https://dl.doubtnut.com/l/_we9pQm0XdYXR
https://dl.doubtnut.com/l/_X6L9qxHiN6Dt
https://dl.doubtnut.com/l/_JAgcmMoXD1TJ


59. Which of the anhydrous salts when come in contact with

water turns blue

A. Ferrous sulphate

B. Copper sulphate

C. Znic sulphate

D. Cobalt sulphate

Answer: B

Watch Video Solution

60. An example of a Lewis acid is

A. NaCl

B. 

C. 

MgCl2

AlCl3

https://dl.doubtnut.com/l/_JAgcmMoXD1TJ
https://dl.doubtnut.com/l/_Dq9af4ZkNVov


D. 

Answer: C::D

Watch Video Solution

SnCl4

61. Orthoboric acid in aqueous medium is

A. Monobasic

B. Dibasic

C. Tribasic

D. All are correct

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Dq9af4ZkNVov
https://dl.doubtnut.com/l/_ljumNUbIRTFv
https://dl.doubtnut.com/l/_7KzF845pjyXo


62. When  of  solution is mixed with  of 

, the resulting mixture will be

A. Acidic

B. Alkaline

C. Neutral

D. Strongly alkaline

Answer: A

Watch Video Solution

100ml 1MNaOH 10ml

10MH2SO4

63.  is the conjugate base of

A. 

B. HCl

C. HOCl

Cl−

HClO4

https://dl.doubtnut.com/l/_7KzF845pjyXo
https://dl.doubtnut.com/l/_zm0rdNQbbpRU


D. 

Answer: B

Watch Video Solution

HClO3

64. According to Bronsted principle, an aqueous solution of

 will contain

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HNO3

NO−
2

NO−
3

NO+
2

NO+

https://dl.doubtnut.com/l/_zm0rdNQbbpRU
https://dl.doubtnut.com/l/_pEyNZzQco8vm


65. Which of the following is strongest Lewis base?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH −
3

F −

NH −
2

OH −

66. Which of the following can give base 

A. 

B. 

C. 

OH −

H2O

H3O
+

H2

https://dl.doubtnut.com/l/_2Y1A9V24S7w0
https://dl.doubtnut.com/l/_nVxlm4d7nFaM


D. HCl

Answer: A

Watch Video Solution

67. The conjugate base of HBr is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2Br
+

H +

Br−

Br−

https://dl.doubtnut.com/l/_nVxlm4d7nFaM
https://dl.doubtnut.com/l/_t7iXMfwdJ9EQ
https://dl.doubtnut.com/l/_DFljlR6ZtcRX


68. According to Bronsted lowry, water is a/an

A. Base

B. Acid

C. Acid and base both

D. Salt

Answer: C

Watch Video Solution

69. Aqueous solution of  changes blue litmus paper

to red due to

A. Presence of  ions

B. Presence of  ions

C. Hydrolysis taking place

CuSO4.5H2O

Cu+ +

SO
− −
4

https://dl.doubtnut.com/l/_DFljlR6ZtcRX
https://dl.doubtnut.com/l/_xdGYxl5hS6aK


D. Reduction taking place

Answer: C

Watch Video Solution

70. An aqueous solution of ammonium carbonate is

A. Weakly acidic

B. Weakly basic

C. Strongly acidic

D. Neither acidic nor basic

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xdGYxl5hS6aK
https://dl.doubtnut.com/l/_qfbBVeMVAMF8
https://dl.doubtnut.com/l/_VInTDz3hAV9c


71. In the reaction  is

A. Lewis acid

B. Lewis base

C. Neither Lewis acid not Lewis base

D. Lewis acid and Lewis base both

Answer: A

Watch Video Solution

NH3 + BF3 ⇔ NH3 → BF3, BF3

72. Molar heat of neutralization of NaOH with HCl in comparison

to that of KOH with  is

A. Less

B. More

C. Equal

HNO3

https://dl.doubtnut.com/l/_VInTDz3hAV9c
https://dl.doubtnut.com/l/_ekXRCGIcrfHm


D. Depends on pressure

Answer: C

Watch Video Solution

73. What name is given to the reaction between hydrogen ion and

hydroxyl ion

A. Hydrogenenation

B. Hydroxylation

C. Hydrolysis

D. Neutralization

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ekXRCGIcrfHm
https://dl.doubtnut.com/l/_nroV4r26IDuq


74.  value of the strongest acid among the following is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

pKa

3.0

4.5

1.0

2.0

75. In the following reaction

,

which are the two Bronsted bases?

A.  and 

HC2O
−
4 (aq) + PO

3 −
4 (aq) ⇔ HPO

− 2
4 (aq) + C2O

2 −
4 (aq)

HC2O
−
4 PO

− − −
4

https://dl.doubtnut.com/l/_9xQelqVgJ0LI
https://dl.doubtnut.com/l/_Z9WcnDJ74Rp3


B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

HPO
− −
4 C2O

− −
4

HC2O
−
4 HPO

− − −
4

PO
− − 3
4 C2O

− 2
4

76. Which of the following statement is true

A. The conjugate base of a strong acid is a strong base

B. The conjugate base of a acid acid is a strong base

C. The conjugate base of a acid acid is a weak base

D. The base and its conjugate acid react to form a neutral

solution

https://dl.doubtnut.com/l/_Z9WcnDJ74Rp3
https://dl.doubtnut.com/l/_XjL7cFlM2Tal


Answer: B

Watch Video Solution

77. Which of the following can act both as Bronsted acid and as

Bronsted base?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cl−

HCO−
3

H3O
+

OH −

https://dl.doubtnut.com/l/_XjL7cFlM2Tal
https://dl.doubtnut.com/l/_z4olTyShQokU


78. The species which acts as a Lewis acid but not as Bronsted

acid is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH −
2

O2 −

BF3

OH −

79. The aqueous solution of which one of the following is basic

A. HOCl

B. NaHCO4

https://dl.doubtnut.com/l/_xs9UZPuWExWz
https://dl.doubtnut.com/l/_JFSAteICXFUs


C. 

D. 

Answer: D

Watch Video Solution

NH4NO3

NaOCl

80. Among the following, the weakest base is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H −

CH −
3

CH3O
−

Cl−

https://dl.doubtnut.com/l/_JFSAteICXFUs
https://dl.doubtnut.com/l/_Ido28N5IAUuf


81. Which of the following behaves as both Lewis and Bronsted

base

A. 

B. 

C. CO

D. None of these

Answer: B

Watch Video Solution

BF3

Cl−

82. The pH is less than 7, of the solution of

A. 

B. NaCN

FeCl3

https://dl.doubtnut.com/l/_fz0uiY6SV4Ds
https://dl.doubtnut.com/l/_ECaisu66MSeg


C. NaOH

D. NaCl

Answer: A

Watch Video Solution

83. Aqueous solution of weak acid and weak base is

A. Acidic

B. Basic

C. Neutral

D. Either acidic or basic

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ECaisu66MSeg
https://dl.doubtnut.com/l/_VYSCFDHTfeiR


84. The conjugate base of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HSO−
3

H2SO3

SO2

SO2 −
3

H2S

85. Which of the following can be classified as a Bronsted base ?

A. 

B. 

C. 

NO−
3

H3O
+

NH
+

4

https://dl.doubtnut.com/l/_tUalHEvj4F1V
https://dl.doubtnut.com/l/_pIK77dBOnCOc


D. 

Answer: A

Watch Video Solution

CH3COOH

86. In the reaction , water is

A. A weak base

B. A weak acid

C. Both a weak acid and a weak base

D. Neither an acid nor a base

Answer: C

Watch Video Solution

2H2O ⇔ H3O
+ + OH −

https://dl.doubtnut.com/l/_pIK77dBOnCOc
https://dl.doubtnut.com/l/_B3BZeHTsDWf0
https://dl.doubtnut.com/l/_kQuy7nnvPtHu


87. The conjugate base of  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2PO
−
4

HPO
− 2
4

H2PO
−
4

PO
3 −
4

H3O
+

88. Which of the following is not used as a Lewis acid

A. 

B. 

C. KCl

SnCl4

FeCl3

https://dl.doubtnut.com/l/_kQuy7nnvPtHu
https://dl.doubtnut.com/l/_RKWwKoAypxVA


D. 

Answer: C

Watch Video Solution

BF3

89. An aqueous solution of ammonia consist of

A. 

B. 

C. 

D.  and 

Answer: D

Watch Video Solution

H +

OH −

NH
+

4

NH
+

4 OH −

https://dl.doubtnut.com/l/_RKWwKoAypxVA
https://dl.doubtnut.com/l/_nM2Dy24C98y9
https://dl.doubtnut.com/l/_6Vac1uZqUXnn


90. Which of the following is not a Lewis acid

A. CO

B. 

C. 

D. 

Answer: A

Watch Video Solution

SiCl4

SO3

Zn2 +

91. An aqueous solution of sodium carbonate is alkaline because

sodium carbonate is a salt of

A. Weak acid and weak base

B. Strong acid and weak base

C. weak acid and strong base

https://dl.doubtnut.com/l/_6Vac1uZqUXnn
https://dl.doubtnut.com/l/_wEj4pKQ9Tktl


D. Strong acid and strong base

Answer: C

Watch Video Solution

92. In the given irreversible reaction,

 the species that acts as Bronsted

base is

A. 

B. HCl

C. 

D. 

Answer: A

Watch Video Solution

H2O + HCl → H3O
+ + Cl−

H2O

H3O
+

Cl−

https://dl.doubtnut.com/l/_wEj4pKQ9Tktl
https://dl.doubtnut.com/l/_3jnt9oGQqAnL


93. which of the following dissolves in water to give a neutral

solution

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(NH4)2SO4

Ba(NO3)2

CrCl3

CuSO4

94.  is a

A. Lewis acid

H +

https://dl.doubtnut.com/l/_3jnt9oGQqAnL
https://dl.doubtnut.com/l/_KiKvZqacZKUt
https://dl.doubtnut.com/l/_4jPomBK2UZ5s


B. Lewis base

C. Bronsted-Lowry base

D. None of the above

Answer: A

Watch Video Solution

95. For two acids A and B,  respectively in

value , then which is true

A. A and B both are equally acidic

B. A is strongly than b

C. B is stronger than A

D. Neither A nor B is strong

pKa = 1.2, pKb = 2.8

https://dl.doubtnut.com/l/_4jPomBK2UZ5s
https://dl.doubtnut.com/l/_vGuitsqBrMh2


Answer: B

Watch Video Solution

96. Lewis base is

A. 

B. 

C. 

D. ROH

Answer: D

Watch Video Solution

CO2

SO3

SO2

97. The suitable for strong acid and weak base is

https://dl.doubtnut.com/l/_vGuitsqBrMh2
https://dl.doubtnut.com/l/_uvvwV3kKNXSF
https://dl.doubtnut.com/l/_rHkgGwESVq7s


A. Methyl orange

B. Methyl red

C. Phenol red

D. Phenolphthalein

Answer: A::B

Watch Video Solution

98. Ammonium ion is

A. Neither an acid nor base

B. Both an acid and a base

C. A conjugate acid

D. A conjugate base

https://dl.doubtnut.com/l/_rHkgGwESVq7s
https://dl.doubtnut.com/l/_cjEnOp2gYPuz


Answer: C

Watch Video Solution

99. Which is not electrophile ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AlCl3

BF3

(CH3)3C
+

NH3

100. For an aqueous solution, the characteristic species of acid is

https://dl.doubtnut.com/l/_cjEnOp2gYPuz
https://dl.doubtnut.com/l/_WzXAySZQYJdz
https://dl.doubtnut.com/l/_FEK6Nq6w9ILM


A.  ion

B.  ion

C.  ion

D.  ion

Answer: A::B

Watch Video Solution

H +

H3O
+

H +
2

H4O
+

101. The solvent which neither accepts proton nor donates proton

is called

A. Amphoteric

B. Neutral

C. Aprotic

D. Amphiprotic

https://dl.doubtnut.com/l/_FEK6Nq6w9ILM
https://dl.doubtnut.com/l/_ml2061ZaOm7t


Answer: C

Watch Video Solution

102. Conjugate base of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3

NH
⊕

4

NH ⊕
2

NH ⊕
2

N2

https://dl.doubtnut.com/l/_ml2061ZaOm7t
https://dl.doubtnut.com/l/_DOHacbixjDpJ


103. The aqueous solution of aluminium chloride is acidic due to

the

A. Cation hydrolysis

B. Anion hydrolysis

C. Hydrolysis of both anion and cation

D. Dissociation

Answer: A

Watch Video Solution

104. which of the following salt does not get hydrolysed in water?

A. 

B. 

KClO4

NH4Cl

https://dl.doubtnut.com/l/_SjpWx6ghV2Ku
https://dl.doubtnut.com/l/_4SqG9IoFFQ6e


C. 

D. None of these

Answer: A

Watch Video Solution

CH3COONa

105. The species among the following which can act as an acid

and as a base is

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

HSO
−
4

SO
2 −
4

H3O
+

Cl−

https://dl.doubtnut.com/l/_4SqG9IoFFQ6e
https://dl.doubtnut.com/l/_PMI5YdqqJE1I


Watch Video Solution

106. Which one of the following substances has the highest

proton affinity ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O

H2S

NH3

PH3

107. The conjugate base of  is :

A. 

H2PO
−
4

H3PO4

https://dl.doubtnut.com/l/_PMI5YdqqJE1I
https://dl.doubtnut.com/l/_sibmBHSoiIQp
https://dl.doubtnut.com/l/_pqYEts5KTf46


B. 

C. 

D. 

Answer: D

Watch Video Solution

P2O5

PO
3 −
4

HPO
2 −
4

108. What is the conjugate base of ?

A. 

B. 

C. 

D. 

Answer: D

OH −

O2

H2O

O−

O2 −

https://dl.doubtnut.com/l/_pqYEts5KTf46
https://dl.doubtnut.com/l/_uYztn1EOz2bf


Watch Video Solution

109. Four species are listed below: 

( )  


( )  


( )  


( )  


Which one of the following is the correct sequence of their acid

strength?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

i HCO−
3

ii H3O
+

iii HSO
−
4

iv HSO3F

ii < iii < i < iv

i < iii < ii < iv

iii < i < iv < ii

iv < ii < iii < i

https://dl.doubtnut.com/l/_uYztn1EOz2bf
https://dl.doubtnut.com/l/_BxYbYdps3gOq


Watch Video Solution

110. The correct order of increasing basicity of the given

conjugate bases  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(R = CH3)

RCO¯̄̄O < HC ≡ ¯̄̄C < ¯̄̄N̄ H2 < ¯̄̄R

RCO¯̄̄O < HC ≡ ¯̄̄C < ¯̄̄R < ¯̄̄N̄ H2

¯̄̄R < HC ≡ ¯̄̄C < RCO¯̄̄O < ¯̄̄N̄ H2

RCO¯̄̄O < ¯̄̄N̄ H2 < HC ≡ ¯̄̄C < ¯̄̄R

111. Three reactions involving  are given below 

 


 


H2PO
−
4

I. H3PO4 + H2O → H3O
+ + H2PO

−
4

II. H2PO
−
4 + H2O → HPO

2 −
4 + H3O

+

https://dl.doubtnut.com/l/_BxYbYdps3gOq
https://dl.doubtnut.com/l/_ymqN0jAYD7Bl
https://dl.doubtnut.com/l/_hPjNEX5lgLsY


 


In which of the above does  act as an acid?

A. (i) only

B. (ii) only

C. (i) and (ii)

D. (iii) only

Answer: B

Watch Video Solution

III. H2PO
−
4 + OH − → H3PO4 + O2 +

H2PO
−
4

112. Which one is not an acid salt?

A. 

B. 

C. 

NaH2PO2

NaH2PO3

NaH2PO4

https://dl.doubtnut.com/l/_hPjNEX5lgLsY
https://dl.doubtnut.com/l/_UpFrE2FSzlBc


D. None

Answer: A

Watch Video Solution

113. For the reaction in aqueous solution 

, the  is greatest when X is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Zn2 + + X − ⇔ ZnX +

Keq

F −

NO−
3

ClO
−
4

I −

https://dl.doubtnut.com/l/_UpFrE2FSzlBc
https://dl.doubtnut.com/l/_1sKGroopiS2S


114. Why are strong acids generally used as standard solutions in

acid-base titrations ?

A. The pH at the equivalence point will always by 7

B. They can be used to titrate both strong and weak bases

C. Strong acids form more stable solutions than weak acids

D. The salts of strong acids do not hydrolysed

Answer: B

Watch Video Solution

115. Assign suitable reason for the following: 

 is diprotic

A. 

H3PO3

H2PO5

https://dl.doubtnut.com/l/_haIy2dnKFqSw
https://dl.doubtnut.com/l/_Ds90qeuavKV7


B. 

C. 

D. 

Answer: D

Watch Video Solution

H2S

HClO3

H3PO3

116. According to Bronsted Lowry concept, the correct order of

strength of bases follows the order:

A. 

B. 

C. 

D. 

CH3COO
− > Cl− < OH −

CH3COO
− > OH − > Cl−

OH − > CH3COO
− > Cl−

OH − > Cl− > CH3COO
−

https://dl.doubtnut.com/l/_Ds90qeuavKV7
https://dl.doubtnut.com/l/_CypMHEfaInXm


Answer: C

Watch Video Solution

117. Phenolphthalein does not act as an indicator for the titration

between

A. NaOH and 

B.  and 

C.  and HCl

D. KOH and 

Answer: B

Watch Video Solution

CH3COOH

H2C2O4 KMnO4

Ba(OH)2

H2SO4

https://dl.doubtnut.com/l/_CypMHEfaInXm
https://dl.doubtnut.com/l/_JN7oSzgXNQYF


118. For a weak acid, the incorrect statement is

A. Its dissociation constant is low

B. Its  is very low

C. it is partially dissociated

D. Solution of its sodium salt is expected to form ionic

Answer: B

Watch Video Solution

pKa

119. Which of the following salt is alkaline in water

A. 

B. 

C. NaBr

CCl4

O2

https://dl.doubtnut.com/l/_mrPCY9JsCOAi
https://dl.doubtnut.com/l/_tFVkZs67arop


D. 

Answer: C

Watch Video Solution

CHBr3

120. An organic dye, cosine used to detect end point of

precipitation titration by adsorption is called

A. Absorption indicator

B. Adsorption indicator

C. Chemical indicator

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_tFVkZs67arop
https://dl.doubtnut.com/l/_AJQpxogOPvVa


121. Which shows weak ionisation in water

A. 

B. NaCl

C. 

D. 

Answer: D

Watch Video Solution

H2SO4

HNO3

NH3

122. The shape of  ion is

A. 

B. 

C. 

SO
2 −
4

SO
2 −
4

HSO
−
4

H3SO
+
4

https://dl.doubtnut.com/l/_2nZk1XNLGhUn
https://dl.doubtnut.com/l/_oImtUytVWaMm


D. None of these

Answer: B

Watch Video Solution

123. Which of the following is not a Lewis acid ?

A. 

B. 

C. HCl

D. 

Answer: A

Watch Video Solution

PH3

AlCl3

LiAlH4

https://dl.doubtnut.com/l/_oImtUytVWaMm
https://dl.doubtnut.com/l/_Hiv8ZvyOoy5B
https://dl.doubtnut.com/l/_7ORAUoLbaPFA


124. The conjugate base in the following reaction 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO4 + H2O → H3O
+ + HSO

−
4

H2O

HSO
−
4

H3O
+

SO2

125. Which of the following base is weakest ?

A. 

B. 

C. 

NH4OH :Kb = 1.6 × 10− 6

C6H5NH2 :Kb = 3.8 × 10− 10

C2H5NH2 :Kb = 5.6 × 10− 4

https://dl.doubtnut.com/l/_7ORAUoLbaPFA
https://dl.doubtnut.com/l/_nzR4GZ0IhGIV


D. 

Answer: B

Watch Video Solution

C6H7N :Kb = 6.3 × 10− 10

126. Species acting both as Bronsted acid base is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HSO
−
4

Na2CO3

NH3

OH −

https://dl.doubtnut.com/l/_nzR4GZ0IhGIV
https://dl.doubtnut.com/l/_6XpREKkE1Bhh
https://dl.doubtnut.com/l/_62UEgJg7a2h2


127. According to hard and soft acid base principle, a hard acid

A. Has low charge density

B. Shows preference for soft bases

C. Shows preference for donor atoms of low electronegativity

D. Is not polarizable

Answer: B

Watch Video Solution

128. The  indicators are

A. Salts of strong acid and strong bases

B. Salts of weak acids and weak bases

C. Either weak acids or weak bases

pH

https://dl.doubtnut.com/l/_62UEgJg7a2h2
https://dl.doubtnut.com/l/_sqHAV1ufaym1


D. Either strong acids or strong bases

Answer: C

Watch Video Solution

129. The strongest base of the following species is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH 2 −

OH −

O2 −

S2 −

https://dl.doubtnut.com/l/_sqHAV1ufaym1
https://dl.doubtnut.com/l/_qwzgQT7JLmMB
https://dl.doubtnut.com/l/_y2aINOktNX1c


130. Water is a

A. Amphoteric acid

B. Aprotic acid

C. Protophobic solvent

D. None of these

Answer: D

Watch Video Solution

131. Amines behave as:

A. Aprotic acid

B. Neutral compound

C. Lewis acid

https://dl.doubtnut.com/l/_y2aINOktNX1c
https://dl.doubtnut.com/l/_fWypEj6X2ofu


D. Lewis base

Answer: D

Watch Video Solution

132. The different colours of litmus in acidic, neutral and basic

solutions are, respectively.

A. Red, orange and blue

B. Blue, violet and red

C. Red, colourless and blue

D. Red, violet and blue

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fWypEj6X2ofu
https://dl.doubtnut.com/l/_cdfaWQTSbeTA


133.  is acidic, because

A. On hydrolysis  gives weak base  and strong

acid HCl

B. Nitrogen donates a pair of electron

C. It is a salt of weak acid and strong base

D. On hydrolysis  gives strong base ad weak acid

Answer: A

Watch Video Solution

NH4Cl

NH4Cl NH4OH

NH4Cl

134.  Which is correct about

conjugate acid base pair

A.  is conjugate acid of base 

HSO
−
4 + OH − → SO

2 −
4 + H2O

HSO
−
4 SO

2 −
4

https://dl.doubtnut.com/l/_efu3mNOMazDd
https://dl.doubtnut.com/l/_QCLVy5TmPg4f


B.  is conjugate base of acid 

C.  is conjugate acid of base 

D. None of these

Answer: A

Watch Video Solution

HSO
−
4 SO

2 −
4

SO
2 −
4 HSO

−
4

135. The correct order of acidity for the following is

A. 

B. 

C. 

D. 

Answer: C

HCN > ClCH2COOH > HCOOH > CH3COOH

HCN > HCOOH > ClCH2COOH > CH3COOH

ClCH2COOH > HCOOH > CH3COOH > HCN

ClCH2COOH > HCN > HCOOH > CH3COOH

https://dl.doubtnut.com/l/_QCLVy5TmPg4f
https://dl.doubtnut.com/l/_as8ySiZd9UUq


Watch Video Solution

136. The aqueous solution of  is acidic due to the hydrolysis

of

A. Aluminium ion

B. Chloride ion

C. Both aluminium and chloride ion

D. None of these

Answer: A

Watch Video Solution

AlCl3

137. Would gaseous  be considered as an Arrhenius acid?

A. Yes

HCl

https://dl.doubtnut.com/l/_as8ySiZd9UUq
https://dl.doubtnut.com/l/_h32zg3Usb3qG
https://dl.doubtnut.com/l/_jT6wq7a0zgDZ


B. No

C. Not known

D. Gaseous HCl does not exist

Answer: B

Watch Video Solution

138. Which one of the following is called amphoteric solvent

A. Ammonium hydroxide

B. Chloroform

C. Benzene

D. Water

Answer: D

https://dl.doubtnut.com/l/_jT6wq7a0zgDZ
https://dl.doubtnut.com/l/_HZxLfcZZOwkg


Watch Video Solution

139.  of a weak acid is defined as

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

pKa

log10 Ka

1

log10 Ka

log10.
1

Ka

−log10.
1

Ka

140. The compound HCl behaves as .......in the reaction,

A. Weak base

HCl + HF → H +
2 Cl + F −

https://dl.doubtnut.com/l/_HZxLfcZZOwkg
https://dl.doubtnut.com/l/_IHgyr3ZS7VUH
https://dl.doubtnut.com/l/_5nm9tZiiIEdy


B. Weak acid

C. Strong base

D. Strong acid

Answer: A

Watch Video Solution

141. The acid having the highest  value among the following

is

A. HCOOH

B. 

C. 

D. 

pKA

CH3COOH

ClCH2COOH

FCH2COOH

https://dl.doubtnut.com/l/_5nm9tZiiIEdy
https://dl.doubtnut.com/l/_doTWMAekTxGS


Answer: B

Watch Video Solution

142. Which of the following is not Lewis acid?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

AlCl3.6H2O

NCl3

SnCl4

FeCl3

143. The aqueous solution of  is acidic due toFeCl3

https://dl.doubtnut.com/l/_doTWMAekTxGS
https://dl.doubtnut.com/l/_zMXG35Pb8ZIG
https://dl.doubtnut.com/l/_jhFTNz0nPbF5


A. Hydrolysis

B. Acidic impurities

C. Dissociation

D. Ionisation

Answer: A

Watch Video Solution

144. Arrange  and  in increasing

order of acidic nature:

A. 

B. 

C. 

D. 

NH
+

4 , H2O, H3O
+ , HF OH −

H3O
+ < NH

+
4 < HF < OH − < H2O

NH
+

4 < HF < H3O
+ < H2O < OH −

OH − < H2O < NH
+

4 < HF < H3O
+

H3O
+ > HF > H2O > NH

+
4 > OH −

https://dl.doubtnut.com/l/_jhFTNz0nPbF5
https://dl.doubtnut.com/l/_BnwqJSCk1DU8


Answer: C

Watch Video Solution

145. A solution of sodium bicarbonate in water turns

A. Phenolphthalein pink

B. Methyl orange yellow

C. Methyl orange red

D. Blue litmus red

Answer: C

Watch Video Solution

146.  is weaker acid than . It is due toCH3COOH H2SO4

https://dl.doubtnut.com/l/_BnwqJSCk1DU8
https://dl.doubtnut.com/l/_T5BoqMcJP62z
https://dl.doubtnut.com/l/_OhuEkrt8E7qr


A. More ionization

B. Less ionization

C. Covalent bond

D. Electrovalent bond

Answer: B

Watch Video Solution

147. Among the following the weakest base is

A. 

B. 

C. 

D. 

H −

OH −

Cl−

HCO−
3

https://dl.doubtnut.com/l/_OhuEkrt8E7qr
https://dl.doubtnut.com/l/_UvPCBMCXltTI


Answer: C

Watch Video Solution

148.  of  will completely neutralise

A. 10 ml of 1M NaOH solution

B. 10 ml of 2M NaOH solution

C. 5 ml of 2 M KOH solution

D. 5 ml of 1 M  solution

Answer: B

Watch Video Solution

10ml 1MH2SO4

Na2CO3

https://dl.doubtnut.com/l/_UvPCBMCXltTI
https://dl.doubtnut.com/l/_WschFnyzpiWp


149. Which of the following species is an acid and also a

conjugate base of another acid

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HSO
−
4

H2SO4

OH −

H3O
+

150. An aqueous solution of aluminium sulphate would show

A. An acidic reaction

B. A neutral reaction

https://dl.doubtnut.com/l/_gTk2MaFFh6yW
https://dl.doubtnut.com/l/_kHRgXFF5wiA6


C. A basic reaction

D. Both acidic and basic reaction

Answer: A

Watch Video Solution

151. Aqueous solution of aluminium sulphate would show

A.  ions

B.  ions

C.  ions

D.  ions

Answer: C

Watch Video Solution

H +

H +
2

H3O
+

H4O
+

https://dl.doubtnut.com/l/_kHRgXFF5wiA6
https://dl.doubtnut.com/l/_tdR1PAhNIMuP


152. Assertion (A):  is more soluble in  than in

water. 

Reason (R ): Carbonate is a weak base and reacts with  ions to

form strong acid causing barium salt to dissociate.

A. If both assertion and reason are true and reason is the

correct explanation of the assertion

B. If both assertion and reason are true but reason is not the

correct explanation is true but reason is false.

C. If the assertion and reason both are false.

D. If the assertion and reason both are false.

Answer: A

Watch Video Solution

BaCO3 HNO3

H ⊕

https://dl.doubtnut.com/l/_orsRPEc7ToPT
https://dl.doubtnut.com/l/_bodwOwY9L3by


153. Assertion:  is more acidic than . 


Reason: The conjugate base of  is more stable than 

.

A. If both assertion and reason are true and reason is the

correct explanation of the assertion

B. If both assertion and reason are true but reason is not the

correct explanation is true but reason is false.

C. If the assertion and reason both are false.

D. If the assertion and reason both are false.

Answer: A

Watch Video Solution

CHCl3 CHF3

CHCl3 CHF3

https://dl.doubtnut.com/l/_bodwOwY9L3by


Ordinary Thinking (Common ion effect, Isohydric solutions,

Solubility product, Ionic product of water and Salt hydrolysis )

154. Assertion : Ionic reactions are not instantaneous. 

Reason : Oppositely charged ions exert strong forces.

A. If both assertion and reason are true and reason is the

correct explanation of the assertion

B. If both assertion and reason are true but reason is not the

correct explanation is true but reason is false.

C. If the assertion and reason both are false.

D. If assertion is false but reason is true

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cgn63znYnFnW


1. The hydrogen ion concentration in weak acid of dissociation

constant  and concentration  is nearly equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ka c

√Ka/c

c/Ka

Kac

√Kac

2. Which of the following salts when dissolved in water with get

hydrolysed?

A. NaCl

https://dl.doubtnut.com/l/_0tJU08i1cdIF
https://dl.doubtnut.com/l/_Trk4yGswxkn1


B. 

C. KCl

D. 

Answer: B

Watch Video Solution

NH4Cl

Na2SO4

3. Which is the correct alternate for hydrolysis constant of

?

A. 

B. 

C. 

D. 

NH4CN

√
Kw

Ka

Kw

Ka × Kb

√
Kb

c

Ka

Kb

https://dl.doubtnut.com/l/_Trk4yGswxkn1
https://dl.doubtnut.com/l/_y5kRxuTmPhL0


Answer: B

Watch Video Solution

4. In which of the following solvents will  has highest

solubility?

A.  M NaBr

B. 

C. Pure water

D.  M HBr

Answer: B

Watch Video Solution

AgBr

10− 3

10− 3MNH4OH

10− 3

https://dl.doubtnut.com/l/_y5kRxuTmPhL0
https://dl.doubtnut.com/l/_NzX4iHn0pidx


5. Which one of the following is most soluble ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CuS(Ksp = 8 × 10− 37)

MnS(Ksp = 7 × 10− 16)

Bi2S3(Ksp = 1 × 10− 70)

Ag2S(Ksp = 6 × 10− 51)

6. The solubility of AgCl will be minimum in

A. 0.001 M 

B. Pure water

C. 0.01 M 

AgNO3

CaCl2

https://dl.doubtnut.com/l/_Bx9Z5Beb4STZ
https://dl.doubtnut.com/l/_q6s0tveYLxgk


D. 0.01 M NaCl

Answer: B

Watch Video Solution

7. The ionic product of water at  is  its ionic product at

 will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

25∘C 10− 14

90∘C

1 × 10− 20

1 × 10− 12

1 × 10− 14

1 × 10− 16

https://dl.doubtnut.com/l/_q6s0tveYLxgk
https://dl.doubtnut.com/l/_ppqTBEKrW96I


8. The solubility product of  are 

 respectively. The solubilities of these

sulphides are in the order

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CuS, Ag2S and HgS

10− 31, 10− 44, 10− 54

Ag2S > CuS > HgS

Ag2S > HgS > CuS

HgS > Ag2S > CuS

CuS > Ag2S > HgS

9. The solubility of  is . Its solubility

product is

CaF2 2 × 10− 4mole/litre

https://dl.doubtnut.com/l/_99HaNNCKFlqO
https://dl.doubtnut.com/l/_Lmyzcufvydai


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

2.0 × 10− 4

4.0 × 10− 3

4 × 8.0 × 10− 12

3.2 × 10− 11

10. Solubility of  type electrolytes is , then

find out  of electrolytes.

A. 

B. 

C. 

D. 

MX2 0.5 × 10− 4mol/L

Ksp

5 × 10− 13

25 × 10− 10

1.25 × 10− 13

5 × 1012

https://dl.doubtnut.com/l/_Lmyzcufvydai
https://dl.doubtnut.com/l/_3y3ggfOIXPO1


Answer: A

Watch Video Solution

11. The solubility product of  at  is .

The solubility of  in  solution of  at  is

approximately ( in )

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AgI 25∘C 1.0 × 10− 16mol2L− 2

AgI 10− 4N KI 25∘C

molL− 1

1.0 × 10− 8

1.0 × 10− 16

1.0 × 10− 12

1.0 × 10− 10

https://dl.doubtnut.com/l/_3y3ggfOIXPO1
https://dl.doubtnut.com/l/_kQDIGPIcz6nk
https://dl.doubtnut.com/l/_GX2EV9cKUL0x


12. The solubility product of a sparingly soluble salt  is 

. Its solubility (in ) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

AX2

3.2 × 10− 11 mo/L

2 × 10− 4

4 × 10− 4

5.6 × 10− 6

3.1 × 10− 4

13. A weak acid, HA, has a  of . If  mol of the

acid is dissolved in 1 L of water, the percentage of the acid

dissociated at equilibrium is the closed to

A. 

Ka 1.00 × 10− 5 0.100

99.0 %

https://dl.doubtnut.com/l/_GX2EV9cKUL0x
https://dl.doubtnut.com/l/_AU8CmkGwtJwa


B. 

C. 

D. 

Answer: B

Watch Video Solution

1.00 %

99.9 %

0.100 %

14. The ionization constant of ammonium hydroxide is

 at . Hydrolysis constant of ammonium chloride

is

A. 

B. 

C. 

D. 

1.77 × 10− 5 298K

5.65 × 10− 10

6.50 × 10− 12

5.65 × 10− 13

5.65 × 10− 12

https://dl.doubtnut.com/l/_AU8CmkGwtJwa
https://dl.doubtnut.com/l/_ZsEXXFdEjCf3


Answer: A

Watch Video Solution

15.  of saturated solution of  is . The value of

solubility product  of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

pH Ba(OH)2 12

(Ksp) Ba(OH)2

3.3 × 10− 7

5.0 × 10− 7

4.0 × 10− 6

5.0 × 10− 6

https://dl.doubtnut.com/l/_ZsEXXFdEjCf3
https://dl.doubtnut.com/l/_1EwHJ8mGk63C


16. The  of  and AgI are respectively, 

. Which one

of the following salts will precipitate last if  solution is

added to the solution containing equal moles of NaCl,NaBr,NaI

and  ?

A. AgCl

B. AgBr

C. 

D. AgI

Answer: C

Watch Video Solution

Ksp Ag2CrO4, AgCl, AgBr

1.1 × 10− 12, 1.8 × 10− 10, 5.0 × 10− 13, 8.3 × 10− 17

AgNO3

Na2CrO4

Ag2CrO4

https://dl.doubtnut.com/l/_bFR4UVVwMwUP


17. MY and  two nearly insoluble salts, have the same 

values of  at room temperature. Which statement

would be true in rearged to MY and  ?

A. The molar solubilities of MY and  in water are identical

B. The molar solubility of MY in water is less than that of 

C. The salts MY and  are more soluble in 0.5 M KY than in

pure water

D. The addition of the salt of KY to solution of MY and 

will have no effect on their solubilities

Answer: B

Watch Video Solution

NY3 Ksp

6.2 × 10− 13

NY3

NY3

NY3

NY3

NY3

https://dl.doubtnut.com/l/_QmPojtbzIbQK


18. The pH of a solution of AgCI(s) with solubility product

 in 0.1 M Nacl solution would be :

A. Zero

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.6 × 10− 10

1.26 × 10− 5M

1.6 × 10− 9M

1.6 × 10− 11M

19. The  value of  and  in water are 

and , respectively, at . If a miaxture of two is

washed with , what is  ion concentration in water?

Ka CaCO3 CaC2O4 4.7 × 10− 9

1.3 × 10− 9 25∘C

H2O Ca2 +

https://dl.doubtnut.com/l/_lafoQTZGIhOR
https://dl.doubtnut.com/l/_p9Xy4o7Pqdo9


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5.831 × 10− 5M

6.856 × 10− 5M

3.606 × 10− 5M

7.746 × 10− 5M

20. Any precipitate is formed when

A. Solution becomes saturated

B. The value of ionic product is less that than the value of

solubility product

C. The value of ionic product is equal than the value of

solubility product

https://dl.doubtnut.com/l/_p9Xy4o7Pqdo9
https://dl.doubtnut.com/l/_RIEvyxCfa2cd


D. The value of ionic product is greater than the value of

solubility product

Answer: D

Watch Video Solution

21. The solubility of  in water is . Its

solubility product will be (molecular weight of )

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

BaSO4 2.33 × 10− 3g/litre

BaSO4 = 233

1 × 10− 5

1 × 10− 10

1 × 10− 15

1 × 10− 20

https://dl.doubtnut.com/l/_RIEvyxCfa2cd
https://dl.doubtnut.com/l/_lMGYGYppkY3N


Watch Video Solution

22. The solubility product of  is . It is 50%

dissociated in saturated solution. The solubility of salt is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

As2O3 10.8 × 10− 9

10− 2

2 × 10− 2

5 × 10− 3

5.4 × 10− 9

23. On adding 0.1 M solution each of  ions in a 

 solution, species first precipitated is 

Ag+ , Ba2 + , Ca2 +

Na2SO4

(KspBaSO4 = 10− 11, KspCaSO4 = 10− 6, KspAg2SO4 = 10− 5)

https://dl.doubtnut.com/l/_lMGYGYppkY3N
https://dl.doubtnut.com/l/_L5n5KWwOSciq
https://dl.doubtnut.com/l/_wj6lmwLr6Rgt


A. 

B. 

C. 

D. All of these

Answer: B

Watch Video Solution

Ag2SO4

BaSO4

CaSO4

24.  for sodium chloride is . The solubility of

sodium chloride is

A. 

B. 

C. 6

D. 3600

Ksp 36mol2 /litre2

1

36

1

6

https://dl.doubtnut.com/l/_wj6lmwLr6Rgt
https://dl.doubtnut.com/l/_NNgBjUg3w47j


Answer: C

Watch Video Solution

25. If the solubility of a sparingly soluble saltof the type 

(Giving three ions on dissociation of a molecule ) is 'x' moles per

litre , then its solubility product is given by

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

BA2

x2

2x3

4x2

4x3

https://dl.doubtnut.com/l/_NNgBjUg3w47j
https://dl.doubtnut.com/l/_P6I8diJXItKX
https://dl.doubtnut.com/l/_xu8yTNbGet4T


26. If te solubility product of  is  in water, its

solubility in moles per litre, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

BaSO4 1.5 × 10− 9

1.5 × 10− 9

3.9 × 10− 5

7.5 × 10− 5

1.5 × 10− 5

27. The solubility product of  is  What is the

concentration of  ions in that solution ?

A. 

B. 

AgCrO4 32 × 10− 12.

CrO
2 −
4

2 × 10− 4M

16 × 10− 4M

https://dl.doubtnut.com/l/_xu8yTNbGet4T
https://dl.doubtnut.com/l/_kc4BDXEZhEE5


C. 

D. 

Answer: A

Watch Video Solution

8 × 10− 4M

8 × 10− 8M

28. On adding ammonium chloride to a solution ammonium

hydroxide

A. Dissociation of  increases

B. Concentration of  increases

C. Concentration of  decreases

D. Concentration of  and  increases

Answer: C

W h Vid S l i

NH4OH

OH −

OH −

NH
+

4 oH −

https://dl.doubtnut.com/l/_kc4BDXEZhEE5
https://dl.doubtnut.com/l/_uXRL5PFvxDZT


Watch Video Solution

29. The product of ionic concentration in a saturated solution of

an electrolyte at a given temperature is constant an is known as

A. Ionic product

B. Solubility product

C. Ionization constant

D. Dissociation constant

Answer: B

Watch Video Solution

30. Solubility product of  at 298K is  At this

temperature solubility of  in moles per litre is

PbC2 1.0 × 10− 6

PbCI2

https://dl.doubtnut.com/l/_uXRL5PFvxDZT
https://dl.doubtnut.com/l/_B2xHLP3I1w0N
https://dl.doubtnut.com/l/_TG5FLIjFZklk


A. 

B. /

C. 

D. 

Answer: A

Watch Video Solution

6.3 × 10− 3

(0.25 × 10− 6)
1

3

3.0 × 10− 3

4.6 × 10− 14

31. If the concentration of lead iodide in its saturated solution at

 be  moles per litre, then the solubility product is

A. 

B. 

C. 

D. 

25∘C 2 × 10− 3

4 × 10− 6

8 × 10− 12

6 × 10− 9

32 × 10− 9

https://dl.doubtnut.com/l/_TG5FLIjFZklk
https://dl.doubtnut.com/l/_AYAjkUJIqPZh


Answer: D

Watch Video Solution

32. Electrolytes when dissolved in water dissociate into their

constituent ions. The degree of dissociation of an electrolyte

increases with

A. Increasing concentration of the electrolyte

B. Decreasing concentration of the electrolyte

C. Decreasing temperature

D. Presence of a substance yielding a common ionsely

proportional to the concentration of the electrolyte

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_AYAjkUJIqPZh
https://dl.doubtnut.com/l/_7LHp7XlYeCv1


33. In which of the following salt hydrolysis takes place

A. KCl

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaNO3

CH3COOK

K2SO4

34. Aqueous solution of sodium acetate is

A. Neutral

B. Weakly acidic

https://dl.doubtnut.com/l/_7LHp7XlYeCv1
https://dl.doubtnut.com/l/_4yf7BtvZCecp
https://dl.doubtnut.com/l/_sKd7Q20VL8hn


C. Strongly acidic

D. Alkaline

Answer: D

Watch Video Solution

35. Why pure NaCl is precipitated when HCl gas is passed in

saturated solution of NaCl

A. Impurities dissolves in HCl

B. The value of  and  becomes smaller than 

of NaCl

C. The value of  and  becomes greater than 

of NaCl

D. HCl dissolves in the water

[Na+ ] [Cl− ] Ksp

[Na+ ] [Cl− ] Ksp

https://dl.doubtnut.com/l/_sKd7Q20VL8hn
https://dl.doubtnut.com/l/_8BvQzhs0VJ3F


Answer: C

Watch Video Solution

36. The solubility of  at  is  mole/litre. Its

solubility product at that temperature is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PbCl2 25∘C 6.3 × 10− 3

(6.3 × 10− 3) × (6.3 × 10− 3)

(6.3 × 10− 3) × (12.6 × 10− 3)

(6.3 × 10− 3) × (12.6 × 10− 3)
2

(12.6 × 10− 3) × (12.6 × 10− 3)

https://dl.doubtnut.com/l/_8BvQzhs0VJ3F
https://dl.doubtnut.com/l/_JFBP0TXgCPkM


37. The solubility product of a sparingly soluble salt  at room

temperature is . Its molar solubility is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AB

1.21 × 10− 6

1.21 × 10− 6

1.21 × 10− 3

1.1 × 10− 4

1.1 × 10− 3

38. The solubility product of .

What would be the concentration of  necessary to

precipitate  from a solution of  ions

BaSO4  at 25∘C  is 1.0 × 10− 9

H2SO4

BaSO4 0.01  M Ba+ 2

https://dl.doubtnut.com/l/_UtZxVNZ33lbT
https://dl.doubtnut.com/l/_lQFO2t1FK4oJ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10− 9

10− 8

10− 7

10− 6

39. If S and  are respectively solubility and solubility product

of a sparingly soluble binary electrolyte, then

A. 

B. 

C. 

D. 

Ksp

S = Ksp

S = K2
sp

S = √Ksp

S = Ksp

1

2

https://dl.doubtnut.com/l/_lQFO2t1FK4oJ
https://dl.doubtnut.com/l/_nuRv9LMeoolC


Answer: C

Watch Video Solution

40.  value of  and  are  and 

 respectively. If  is added in a solution of 

 and , which will precipitate earlier

A. 

B. 

C. Both together

D. None

Answer: A

Watch Video Solution

Ksp Al(OH)3 Zn(OH)2 8.5 × 10− 23

1.8 × 10− 14 NH4OH

Al3 + Zn2 +

Al(OH)3

Zn(OH)2

https://dl.doubtnut.com/l/_nuRv9LMeoolC
https://dl.doubtnut.com/l/_x2vGyq2Rg18M
https://dl.doubtnut.com/l/_XMU6Tyv3kJgP


41. Which one is strongest electrolyte in the following ?

A. NaCl

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3COOH

NH4OH

C6H12O6

42. At infinite dilution, the percentage ionisation of both strong

and weak electrolytes is

A. 

B. 

1 %

20 %

https://dl.doubtnut.com/l/_XMU6Tyv3kJgP
https://dl.doubtnut.com/l/_B4q1LjP3qK6W


C. 

D. 

Answer: D

Watch Video Solution

50 %

100 %

43. If  for  is , then solubility of the salt is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ksp HgSO4 6.4 × 10− 5

8 × 10− 3

8 × 10− 6

6.4 × 10− 5

6.4 × 10− 3

https://dl.doubtnut.com/l/_B4q1LjP3qK6W
https://dl.doubtnut.com/l/_zNeSr8P9gqu1


44. Solubility of  in a solution of , will be

represented by the concentration term:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

BaF2 Ba(NO3)2

[Ba+ + ]

[F − ]

[F − ]
1

2

2[NO−
3 ]

45. The solubility of  in water is  mol/letre at

298K. What will be its solubility product ?

A. 

Sb2S3 1.0 × 10− 5

108 × 10− 25

https://dl.doubtnut.com/l/_kTBcChbje11v
https://dl.doubtnut.com/l/_BAP9dk5s6B5G


B. 

C. 

D. 

Answer: A

Watch Video Solution

1.0 × 10− 25

144 × 10− 25

126 × 10− 24

46. Pure sodium chloride is prepared by saturating a cold

saturated solution of common salt in water with HCl gas. The

principle used is

A. Le-Chatelier principle

B. Displacement law

C. Common ion effect

D. Fractional distillation

https://dl.doubtnut.com/l/_BAP9dk5s6B5G
https://dl.doubtnut.com/l/_T8tLgjcrZG0r


Answer: C

Watch Video Solution

47. In the reaction: , when  is added,

then

A.  is precipitate

B. No reaction takes places

C. Concentration of  decreases

D. Concetration of  increases

Answer: D

Watch Video Solution

H2S ⇔ 2H + + S − NH4OH

S − −

S − −

S −

https://dl.doubtnut.com/l/_T8tLgjcrZG0r
https://dl.doubtnut.com/l/_j33oCMVmcuI2


48. Solubility product of AgCl is  at 298 K. Its solubility in

mole  would be

A.  mol/ litre

B.  mol/litre

C.  mol/litre

D. None of these

Answer: B

Watch Video Solution

1 × 10− 6

litre− 1

1 × 10− 6

1 × 10− 3

1 × 10− 12

49. A saturated solution of . The value of

its solubility product is

A. 

Ag2SO4is2.5 × 10− 2M

62.5 × 10− 6

https://dl.doubtnut.com/l/_HjIHnbhORJ39
https://dl.doubtnut.com/l/_MJB2jTSIUWEK


B. 

C. 

D. 

Answer: A

Watch Video Solution

6.25 × 10− 4

15.625 × 10− 6

3.125 × 10− 6

50. The solubility product of AgCl under standard conditions of

temperature is given by

A. 

B. 

C. 

D. 

1.6 × 10− 5

1.5 × 10− 8

3.2 × 10− 10

1.5 × 10− 10

https://dl.doubtnut.com/l/_MJB2jTSIUWEK
https://dl.doubtnut.com/l/_bkluG98vciyr


Answer: D

Watch Video Solution

51. For which of the following sparingly soluble salt the solubility

(s) and solubility product  are related by the expression 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(Ksp)

s = (Ksp /4)1 / 3

BaSO4

Ca3(PO4)2

Hg2Cl2

Ag3PO4

https://dl.doubtnut.com/l/_bkluG98vciyr
https://dl.doubtnut.com/l/_NDtO2P681Urb
https://dl.doubtnut.com/l/_OSakhvTAVPKH


52. At  C, the solubility product of  in water is 

 what is the solubility of  in water

at C ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

25∘ Hg2CI2

3.2 × 10− 17mol3dm− 9 Hg2CI2

25∘

1.2 × 10− 12M

3.0 × 10− 6M

2 × 10− 6M

1.2 × 10− 16M

53. Which one of the following substances will be a mixed salt?

A. 

B. Ca(OCl)Cl

NaHCO3

https://dl.doubtnut.com/l/_OSakhvTAVPKH
https://dl.doubtnut.com/l/_MBds37V4ux9C


C. 

D. Mg(OH)Br

Answer: B

Watch Video Solution

K2SO4Al2(SO4)3.24H2O

54. What happens when  is treated with 

A. A white ppt. of AgCl will form

B.  will be evolved

C.  will dissolved in 

D. Nothing will happen

Answer: D

Watch Video Solution

CCl4 AgNO3

NO2

CCl4 AgNO3

https://dl.doubtnut.com/l/_MBds37V4ux9C
https://dl.doubtnut.com/l/_ZLzDmqcHq17h


55. Which one is a mixed salt

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NaHSO4

NaKSO4

K4Fe(CN)6

Mg(OH)Cl

56. A monoprotic acid in a 0.1 M solution ionizes to . Its

ionisation constant is

A. 

B. 

0.001 %

1.0 × 10− 3

1.0 × 10− 6

https://dl.doubtnut.com/l/_AsfpszwvkBRB
https://dl.doubtnut.com/l/_6xJ3aDKOYG04


C. 

D. 

Answer: D

Watch Video Solution

1.0 × 10− 8

1.0 × 10− 11

57. Ionic product of water increases, if

A. Pressure is reduced

B. Temperature increases

C.  is added

D. Temperature increases

Answer: D

Watch Video Solution

OH −

https://dl.doubtnut.com/l/_6xJ3aDKOYG04
https://dl.doubtnut.com/l/_IAAoMcLEJ334


58. If the concentration of  ions in a saturated solution of

silver chromate is  , solubility product of silver chromate

will be:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CrO
2 −
4

2 × 10− 4

4 × 10− 8

8 × 10− 12

12 × 10− 12

32 × 10− 12

59. Approximate relationship between dissociation constant of

water (K) and ionic product of water  is(Kw)

https://dl.doubtnut.com/l/_zB9MNJMI9X20
https://dl.doubtnut.com/l/_U0GA4xpedwWJ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Kw = K

Kw = 55.6 × K

Kw = 18 × K

Kw = 14 × K

60. Solubility (s) of  in terms of its solubility product is given

as

A. 

B. 

C. 

D. 

CaF2

s = (Ksp)1 / 3

s = (Ksp /2)1 / 3

s = (Ksp /4)1 / 3

s = (Ksp /2)1 / 2

https://dl.doubtnut.com/l/_U0GA4xpedwWJ
https://dl.doubtnut.com/l/_rFj0fqgncnY7


Answer: C

Watch Video Solution

61. If the solubility of  is S g-mole per litre, its solubility

product, considering it to be 80% ionized, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Pr2

2.048S2

20.48S3

2.048S3

2.048S4

https://dl.doubtnut.com/l/_rFj0fqgncnY7
https://dl.doubtnut.com/l/_5xWNVFksnAaC


62. Which is a basic salt

A. PbS

B. 

C. 

D. 

Answer: D

Watch Video Solution

PbCO3

PbSO4

2PbCO3. Pb(OH)2

63. According to the reaction , the

solubility coefficient of  is

A. 

B. 

PbCl2 = Pb2 + 2Cl−

PbCl2

[Pb2 + ][Cl− ]
2

[Pb2 + ][Cl− ]

https://dl.doubtnut.com/l/_qR5lWsWF5z3i
https://dl.doubtnut.com/l/_a38h0v5W7mXQ


C. 

D. None of these

Answer: A

Watch Video Solution

[Pb2 + ]
2
[Cl− ]

64. Which will not be hydrolysed

A. Potassium nitrate

B. Potassium cyanide

C. Potassium succinate

D. Potassium carbonate

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_a38h0v5W7mXQ
https://dl.doubtnut.com/l/_Yd7Ixdihy9CS


65. Which of the following aqueous solution will have a  less

than `7.0 ?

A. 

B. NaOH

C. 

D. NaCN

Answer: C

Watch Video Solution

pH

KNO3

FeCl3

66. On addition of a solution containing  ions to the

solution of , and  ions, the precipitate obtained

first will be of

CrO
2 −
4

Ba2 + , Sr2 + Ca2 +

https://dl.doubtnut.com/l/_OOqWqnfflNoV
https://dl.doubtnut.com/l/_OmKFXDvNPaHP


A. 

B. 

C. 

D. Mixture of (a), (b), (c)

Answer: C

Watch Video Solution

CaCrO4

SrCrO4

BaCrO4

67. The solubility product of AgCl is  at . The

solubility of silver chloride in boiling water may be

A. 

B. 

C. 

D. 

1.44 × 10− 4 100∘C

0.72 × 10− 4M

1.20 × 10− 2M

0.72 × 10− 2M

1.20 × 10− 4M

https://dl.doubtnut.com/l/_OmKFXDvNPaHP
https://dl.doubtnut.com/l/_R2JhG3HH5WPH


Answer: B

Watch Video Solution

68. The solubility of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PbCl2

√Ksp

3√Ksp

3√
Ksp

4

√8Ksp

69. Which of the following cannot be hydrolysed?

https://dl.doubtnut.com/l/_R2JhG3HH5WPH
https://dl.doubtnut.com/l/_HFnXgawNnsPS
https://dl.doubtnut.com/l/_LaB7gd9wAW1f


A. A salt of weak acid and strong base

B. A salt of strong acid and weak base

C. A salt of weak acid and weak base

D. A salt of strong acid and strong base

Answer: D

Watch Video Solution

70. The solubility of  in water is  moles/litre.

Its solubility product will be

A. 

B. 10

C. 

D. 

CaCO3 3.05 × 10− 4

3.05 × 10− 4

6.1 × 10− 4

9.3 × 10− 8

https://dl.doubtnut.com/l/_LaB7gd9wAW1f
https://dl.doubtnut.com/l/_3YG1GCW4Z8zN


Answer: D

Watch Video Solution

71.  of water is . When a substance  is dissolved in water, the

 becomes . The substance  is a salt of

A. Strong acid and strong base

B. Weak acid and weak base

C. Strong acid and weak base

D. Weak acid and strong base

Answer: D

Watch Video Solution

pH 7 Y

pH 13 Y

https://dl.doubtnut.com/l/_3YG1GCW4Z8zN
https://dl.doubtnut.com/l/_2vz7267ltRyO


72. At , the  ion concentration in a saturated solution 

 is  mol  litre. At , the solubility product

of  would be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

20∘C Ag+

Ag2CrO4 1.5x10− 4 / 20∘C

Ag2CrO4

3.3750 × 10− 12

1.6875 × 10− 10

1.6875 × 10− 12

1.6875 × 10− 11

73. Addition of which chemical will decrease the hydrogen ion

concentration of an acetic acid solution

https://dl.doubtnut.com/l/_rEuZlSSjAQAs
https://dl.doubtnut.com/l/_vGnGSrLwJnxp


A. 

B. 

C. 

D. HCN

Answer: D

Watch Video Solution

NH4Cl

Al2(SO4)

AgNO3

74. What is minimum concentration of  required to

precipitate  in solution containing  mole of 

 ? (  of )

A. 

B. 

C. 

SO
2 −
4

BaSO4 1 × 10− 4

Ba2 + Ksp BaSO4 = 4 × 10− 10

4 × 10− 10M

2 × 10− 7M

4 × 10− 6M

https://dl.doubtnut.com/l/_vGnGSrLwJnxp
https://dl.doubtnut.com/l/_v0pmh0qVxYFG


D. 

Answer: C

Watch Video Solution

2 × 10− 3M

75. The concentration of KI and KCl in certain solution containing

both is 0.001M each. If 20 mL of this solution is added to 20 ml of

a saturated of AgI in water ? What will happen

A. AgCl will be precipitated

B. AgI will be precipitated

C. Both AgCl and AgI will be precipitated

D. There will be no precipitated

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_v0pmh0qVxYFG
https://dl.doubtnut.com/l/_Vwt7DDqBeXtj


76. The solubility of  is 'S' moles , the solubility

product is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ca(OH)2 lit− 1

4S3

4S2

S3

S2

77. Calculate the hydrolysis constant of the salt containing .

Given the 

NO−
2

Ka  for HNO2 = 4.5 × 10− 10

https://dl.doubtnut.com/l/_Vwt7DDqBeXtj
https://dl.doubtnut.com/l/_QUXLVFHIPI1m
https://dl.doubtnut.com/l/_gmAkKm7qNkGu


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2.22 × 10− 5

4.44 × 10− 5

2.22 × 10− 6

4.44 × 10− 2

78. The addition of HCl will not suppress the ionisation of

A. Acetic acid

B. benzoic acid

C. 

D. Sulphuric acid

H2S

https://dl.doubtnut.com/l/_gmAkKm7qNkGu
https://dl.doubtnut.com/l/_K0biX4Sd4PLu


Answer: D

Watch Video Solution

79. Solubility product is

A. The ionic product of an electrolyte in its saturated solution

B. The product of the solubilities of the ions of the electrolyte

C. The product of solubilities of the salts

D. The product of the concentration of the ions

Answer: A

Watch Video Solution

80. Which of the folowing represents hydrolysis ? .

https://dl.doubtnut.com/l/_K0biX4Sd4PLu
https://dl.doubtnut.com/l/_XUEGCguFmXCw
https://dl.doubtnut.com/l/_077vG49ST9wR


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HCO−
3 + H2O ⇔ CO2 −

3 + H3O
+

HCO−
3 + H2O ⇔ H2CO3 + OH −

H3BO3 + H2O ⇔ H2BO
−
3 + H3O

+

H2PO
−
4 + H2O ⇔ HPO

2 −
4 + H3O

+

81. Hydrolysis of the salt of a strong acid and weak base will

A. Increase with increase in temperature

B. Decrease with increase in temperature

C. Remains unaffected with change in temperature

D. Remains uneffected with change in concentration of the

salt

https://dl.doubtnut.com/l/_077vG49ST9wR
https://dl.doubtnut.com/l/_3WhyzXIyEQeJ


Answer: A

Watch Video Solution

82. The solubility of AgCl in 0.2 M NaCl solution (  for 

) is

A. 0.2 M

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ksp

AgCl = 1.20 × 10− 10

1.2 × 10− 10M

0.2 × 10− 10M

6.0 × 10− 10M

https://dl.doubtnut.com/l/_3WhyzXIyEQeJ
https://dl.doubtnut.com/l/_EL6IFb3fqSSp


83. Select correct sequence of solubility product values among

the following

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

CoS > CuS

NiS > PbS

Fe(OH)3 > Fe(OH)2

Ni(OH)2 > Cr(OH)3

84. The correct relation between hydrolysis constant  and

degree of hydrolysis  for the following equilibrium is

A. 

(Kb)

(α)

α = √
Kw. C

Ka

https://dl.doubtnut.com/l/_EaZSoG8E9BUU
https://dl.doubtnut.com/l/_aRGLAIQs3rPi


B. 

C. 

D. 

Answer: B

Watch Video Solution

α = √
Kw

Ka. C

α = √
Ka. C

Kw

α = √
Ka

Kw. C

85. The correct representation for solubility product of  is

A. 

B. 

C. 

D. 

Answer: A

SnS2

[Sn4 + ][S2 − ]
2

[Sn2 + ][S2 − ]
2

[Sn2 + ][2S2 − ]

[Sn4 + ][2S2 − ]
2

https://dl.doubtnut.com/l/_aRGLAIQs3rPi
https://dl.doubtnut.com/l/_fU6j8luapCqd


Watch Video Solution

86. Solubility product of a salt AB is  in a solution in

which concentration of A is . The salt will precipitate when

the concentration of B becomes more than

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 × 10− 8

10− 3M

10− 4M

10− 7M

10− 6M

10− 5M

https://dl.doubtnut.com/l/_fU6j8luapCqd
https://dl.doubtnut.com/l/_uMOf3ZJFQb31


87. How many grams of  (molecular weight = 128) on

dissolving water will give a saturated solution

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CaC2O4

[Ksp(CaC2O4) = 2.5 × 10− 9mol2I − 2]

0.0064g

0.1280g

0.0128g

1.2800g

88. The solubility product of  is . The solubility

of this salt in pure water will be

BaSO4 1.3 × 10− 9

https://dl.doubtnut.com/l/_6s0wk7iurlFD
https://dl.doubtnut.com/l/_CX6hRVXIcNjx


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.69 × 10− 9mol litre− 1

1.69 × 10− 18mol litre− 1

3.6 × 10− 18mol litre− 1

3.6 × 10− 5mol litre− 1

89. Relation between hydrolysis constant and dissociation

constant are given. Which is the correct formula for .

A. 

B. 

C. 

D. 

MgCl2

Kh =
Kw

Ka

Kh =
Kw

Kb

Kh =
Kw

Ka × Kb

Kw =
Kh

Kb

https://dl.doubtnut.com/l/_CX6hRVXIcNjx
https://dl.doubtnut.com/l/_fe2bYZD29kju


Answer: B

Watch Video Solution

90. Solubility of  will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Al(OH)3 = S, Ksp

108S3

27S3

4S2

27S4

91. Which of salt will give basic solution on hydrolysis?

https://dl.doubtnut.com/l/_fe2bYZD29kju
https://dl.doubtnut.com/l/_Se9dAYHP6EfK
https://dl.doubtnut.com/l/_pm7jqwJ1NuiS


A. KCN

B. KCl

C. 

D. 

Answer: A

Watch Video Solution

NH4Cl

CH3COONH4

92. The concentration of which ion is to be decreased, when 

solution is added

A. 

B. 

C. 

D. 

NH3

OH −

NH
+

4

H3O
+

O−
2

https://dl.doubtnut.com/l/_pm7jqwJ1NuiS
https://dl.doubtnut.com/l/_2Dq9WpGWKTEp


Answer: C

Watch Video Solution

93. If the solubility product  of a sparingly soluble salt 

 , then the solubility of the salt

in mole  at this temperature will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ksp

MX2  at 25∘C  is 1.0 × 10− 11

litre− 1

2.46 × 1014

1.36 × 10− 4

2.60 × 10− 7

1.20 × 10− 10

https://dl.doubtnut.com/l/_2Dq9WpGWKTEp
https://dl.doubtnut.com/l/_WLntAaZrhnPj
https://dl.doubtnut.com/l/_chOJDGdVOGAI


94. Baking soda is

A. Basic salt

B. Acidic salt

C. Complex salt

D. Double salt

Answer: B

Watch Video Solution

95. At 298 K, the solubility of  is  mol/lit, then 

A. 

B. 

PbCl2 2 × 10− 2

Ksp =

1 × 10− 7

3.2 × 10− 7

https://dl.doubtnut.com/l/_chOJDGdVOGAI
https://dl.doubtnut.com/l/_wN6GWkLnGw2d


C. 

D. 

Answer: D

Watch Video Solution

1 × 10− 5

3.2 × 10− 5

96. The solubility product of silver chromate is . The

molar solubility of the salt is

A.  gm mol/litre

B.  gm mol/litre

C.  gm mol/litre

D.  gm mol/litre

Answer: C

W t h Vid S l ti

4 × 10− 12

1 × 10− 3

1 × 10− 5

1 × 10− 4

1 × 10− 2

https://dl.doubtnut.com/l/_wN6GWkLnGw2d
https://dl.doubtnut.com/l/_z7rGRw8alySE


Watch Video Solution

97. Let the solubility of an aqueous solution of  be x

then its  is

A. 

B. 

C. 

D. 9x

Answer: A

Watch Video Solution

Mg(OH)2

Ksp

4x3

108x5

27x4

98. The solubility of a springly soluble salt  in water is 

. Its solubility product is:

AB2

1.0 × 10− 5molL− 1

https://dl.doubtnut.com/l/_z7rGRw8alySE
https://dl.doubtnut.com/l/_Sxua5ES6SU8e
https://dl.doubtnut.com/l/_ZSgQBiZR2URL


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4 × 10− 15

4 × 10− 10

1 × 10− 15

1 × 10− 10

99. The solubility product of a salt having general formula 

in water is . The concentration of  in the

aqueous solution of the salt is:

A. 

B. 

C. 

MX2

4 × 10− 12 M 2 + ions

2.0 × 10− 6M

1.0 × 10− 4M

1.6 × 10− 4M

https://dl.doubtnut.com/l/_ZSgQBiZR2URL
https://dl.doubtnut.com/l/_EkKCURZzOaPs


D. 

Answer: B

Watch Video Solution

4.0 × 10− 10M

100. Given the data at 


, 

 What is the value of log K-sp

For AgI ? 

A. 

B. 

C. 

D. 

Answer: D

25∘C,

Ag + I − → AgI + e− , E ∘ = 0.152V

A > oAg+ + e− , E ∘ = − 0.800V

((2.303 = 0.059V))
RT

F

−8.12

+8.612

−37.83

−16.13

https://dl.doubtnut.com/l/_EkKCURZzOaPs
https://dl.doubtnut.com/l/_FPegVYKiXQwr


Watch Video Solution

101. In a saturated solution of the sparingly soluble strong

electrolyte  (Molecular mass = 283) the equilibrium which

sets in is 

 


If the solubility product constant  of  at a given

temperature is , what is the mass of  contained

in 100 ml of its saturated solution

A. 

B. 

C. 

D. 

Answer: B

AgIO3

AgIO3s ⇔ Ag−
( aq ) + IO−

3aq

Ksp AgIO3

1.0 × 10− 8 AgIO3

28.3 × 10− 2g

2.83 × 10− 3g

1.0 × 10− 7g

1.0 × 10− 4g

https://dl.doubtnut.com/l/_FPegVYKiXQwr
https://dl.doubtnut.com/l/_D6PeXSltm5PQ


Watch Video Solution

102. The first and second dissociation constants of an acid 

are  and  respectively. The overall dissociation

constant of the acid will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2A

1 × 10− 5 5 × 10− 10

5.0 × 10− 5

5.0 × 1015

5.0 × 10− 15

0.0 × 10− 5

https://dl.doubtnut.com/l/_D6PeXSltm5PQ
https://dl.doubtnut.com/l/_1ki1lRGk362k


103. Solid  is gradually dissolven in  M 

 solution. At what concentration of  will a

precipitate begin to form? 

(  for )

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ba(NO3)2 1.0 × 10− 4

Na2CO3 Ba2 +

Ksp BaCO3 = 5.1 × 10− 9

4.1 × 10− 5M

5.1 × 10− 5M

8.1 × 10− 8M

8.1 × 10− 7M

104. Solubility product of silver bromide is . The

quantity of potassium bromide (molar mass taken as )

5.0 × 10− 13

120gmol− 1

https://dl.doubtnut.com/l/_yttksQasP1Na
https://dl.doubtnut.com/l/_YNTQhHGEdcQP


to be added to  of  solution of silver nitrate to start the

precipitation of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1L 0.05M

AgBr

5.0 × 10− 8g

1.2 × 10− 10g

1.2 × 10− 9g

6.2 × 10− 5g

105. At , the solubility product of  is .

At which , will  ions start precipitating in the form of 

 from a solution of  ions ?

A. 8

25∘C Mg(OH)2 1.0 × 10− 11

pH Mg2 +

Mg(OH)2 0.001MMg2 +

https://dl.doubtnut.com/l/_YNTQhHGEdcQP
https://dl.doubtnut.com/l/_zjSBceEo6PXk


B. 9

C. 10

D. 11

Answer: C

Watch Video Solution

106. Some salts although containing two different metallic

elements give test for one of them in solution. Such salts are:

A. Double salts

B. Normal salts

C. Complex salt

D. Basic salts

https://dl.doubtnut.com/l/_zjSBceEo6PXk
https://dl.doubtnut.com/l/_cPXNRpzDjjQs


Answer: C

Watch Video Solution

107. Mohr's salt is a

A. Normal salt

B. Acid salt

C. Basic salt

D. Double salt

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cPXNRpzDjjQs
https://dl.doubtnut.com/l/_UPiFXTTd1YJn


108. A white salt is readily soluble in water and gives a colourless

solution with a  of about . The salt would be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

pH 9

NH4NO3

CH3COONa

CH3COONH4

CaCO3

109. The solubility product constant  of  is 

. If a solution is 0.010 M with respect to  ion,

what is the maximum hydroxide ion concentration which could be

present without causing the precipitation of 

Ksp Mg(OH)2

9.0 × 10− 12 Mg2 +

Mg(OH)2

https://dl.doubtnut.com/l/_9FwnlrFgZMNv
https://dl.doubtnut.com/l/_TAacfHuyt4Rf


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.5 × 10− 7M

3.0 × 10− 7M

1.5 × 10− 5M

3.0 × 10− 5M

110. The solubility of silver chromate in

 mol/1. The solubility product of

silver chromate will be

A. 

B. 

C. 

0.01MK2CrO4  is 2 × 10− 8

8 × 10− 24

16 × 10− 24

1.6 × 10− 18

https://dl.doubtnut.com/l/_TAacfHuyt4Rf
https://dl.doubtnut.com/l/_wNFVUg5l95D1


D. 

Answer: D

Watch Video Solution

16 × 10− 18

111. If solubility of calcium hydroxide is , then its solubility

product will be

A. 27

B. 3

C. 9

D. 

Answer: D

Watch Video Solution

√3

12√3

https://dl.doubtnut.com/l/_wNFVUg5l95D1
https://dl.doubtnut.com/l/_VIl9ChT2gLqY


112.  ammonium benzoate is hydrolysed to  precent,

hence its hydrolysis constant is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.5M 0.25

2.5 × 10− 5

1.5 × 10− 4

3.125 × 10− 6

6.25 × 10− 14

113. The solubility product of a sparingly soluble metal hydroxide

 is  at 298 K. Find the pH of its

saturated aqueous solution.

[M(OH)2] 5 × 10− 16mol3dm− 9

https://dl.doubtnut.com/l/_cU0E84CJCsIG
https://dl.doubtnut.com/l/_NwxOFNhQVEeq


A. 5

B. 9

C. 

D. 

Answer: B

Watch Video Solution

11.5

2.5

114. The solublity product of iron (III) hydroxide is . If

X is the solublity of iron (III) hydroxide, then which one of the

following expressions can be used to calculate X

A. 

B. 

C. 

1.6 × 10− 39

Ksp = X4

Ksp = 9X4

Ksp = 27X3

https://dl.doubtnut.com/l/_NwxOFNhQVEeq
https://dl.doubtnut.com/l/_sLKUY4TutHKK


D. 

Answer: D

Watch Video Solution

Ksp = 27X4

115. The solublity of AgCl is formed when equal volumes of the

following are mixed. [  for ]

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Ksp AgCl = 10− 10

2.0 × 10− 5M

1.0 × 10− 4M

5.0 × 10− 9M

2.2 × 10− 4M

https://dl.doubtnut.com/l/_sLKUY4TutHKK
https://dl.doubtnut.com/l/_NEsgPDzuHH08


116. A precipitate of AgCl is formed when equal volumes of the

following are mixed. [  for ]

A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

Ksp AgCl = 10− 10

10− 4MAgNO3 10− 7MHCl

10− 5MAgNO3 10− 6MHCl

10− 5MAgNO3 10− 4MHCl

10− 6MAgNO3 10− 6MHCl

117.  can be separated from  by the addition of

A. NaCl solution

B. Dil. HCl solution

Fe(OH)3 Al(OH)3

https://dl.doubtnut.com/l/_29wLMHNMgFxJ
https://dl.doubtnut.com/l/_RduW1AH9gFwO


C. NaOH solution

D.  and 

Answer: D

Watch Video Solution

NH4Cl NH4OH

118. Which is least soluble in water?

A. AgCl

B. AgF

C. AgI

D. 

Answer: D

Watch Video Solution

Ag2S

https://dl.doubtnut.com/l/_RduW1AH9gFwO
https://dl.doubtnut.com/l/_1XfTLrOR0UAT


119. The dissociation constant of water is

. What is the pH of 0.001 M KOH soluiton

?

A. 

B. 

C. 3

D. 11

Answer: D

Watch Video Solution

1 × 10− 14mol− 2litre− 2

10− 11

10− 3

120. A solution of weak acid HA containing 0.01 moles of acid per

litre of solutions has pH = 4. The percentage degree of ionisation

of the acid and the ionisation constant of acid are respectively

https://dl.doubtnut.com/l/_LG16R5gknBfj
https://dl.doubtnut.com/l/_50nIMHoY2WMl


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 % , 10− 6

0.01 % , 10− 4

1 % , 10− 4

0.01 % , 10− 6

121. The units of ionic product of water  are

A. 

B. 

C. 

D. 

(Kw)

Mol− 1L− 1

Mol− 2L− 2

Mol− 2L− 1

Mol2L− 2

https://dl.doubtnut.com/l/_50nIMHoY2WMl
https://dl.doubtnut.com/l/_GWii9SS6MeWm


Answer: D

Watch Video Solution

122. The solubility of  in  solutions is less than that in

pure water because:

A. AgI fors complex with NaI

B. Of common ion effect

C. Solubility product of AgI is less than that of NaI

D. The temperature of the solution decreases

Answer: B

Watch Video Solution

AgI NaI

https://dl.doubtnut.com/l/_GWii9SS6MeWm
https://dl.doubtnut.com/l/_6Vtk0Ttjct4J


123. Which of the following will occur if a 0.1 M solution of a weak

acid is diluted to 0.01 M at constant temperature

A.  will decrease to 0.01 M

B. pH will decrease

C. Percentage ionization will increase

D.  will increase

Answer: B::C

Watch Video Solution

[H + ]

Ka

124. The degree of hydrolysis in hydrolic equilibrium

 at salt concentration of 0.001 M is A− + H2O ⇔ HA + OH −

(K1 = 1 × 10− 5)

https://dl.doubtnut.com/l/_JxjmQdtyHH3A
https://dl.doubtnut.com/l/_RPQhT8STNqB0


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 × 10− 3

1 × 10− 4

5 × 10− 4

1 × 10− 6

125. A litre of solution is saturated with AgCl. To this solution if

 mole of solid NaCl is added, what will be the ,

assuming no volume change

A. More

B. Less

C. Equal

1.0 × 10− 4 [Ag+ ]

https://dl.doubtnut.com/l/_RPQhT8STNqB0
https://dl.doubtnut.com/l/_vx5U15k2tktN


D. Zero

Answer: B

Watch Video Solution

126. Solubility of  is . Then, the solubility product of 

 is

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

PbI2 0.005M

PbI2

6.8 × 10− 6

6.8 × 106

2.2 × 10− 9

https://dl.doubtnut.com/l/_vx5U15k2tktN
https://dl.doubtnut.com/l/_JKKViNoSug9a


127. Which is the correct representation for the solubility product

constant of ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ag2CrO4

[Ag+ ]
2
[CrO− 2

4 ]

[Ag+ ][CrO− 2
4 ]

[2Ag+ ][CrO− 2
4 ]

[2Ag+ ]
2
[CrO− 2

4 ]

128. Solubility product of a sulphide MS is  and that of

another sulphide NS is . In ammoniacal solution

A. Only NS gets precipitated

3 × 10− 25

4 × 10− 40

https://dl.doubtnut.com/l/_FfH1Gup34VeS
https://dl.doubtnut.com/l/_UGehNztQlBpI


B. Only MS gets precipitated

C. No sulphide precipitates

D. Both sulphides precipitate

Answer: D

Watch Video Solution

129. On passing  gas through a highly acidic solution

containing  ions, CdS is not precipitated because

A. Of common ion effect

B. The solubility of CdS is low

C.  ions do not form complex with 

D. The solubility product of CdS is low

H2S

Cd2 +

Cd2 + H2S

https://dl.doubtnut.com/l/_UGehNztQlBpI
https://dl.doubtnut.com/l/_C6UlXVucV1NO


Answer: A

Watch Video Solution

130. The following equilibrium exists in an aqueous solution of

hydrogen sulphide  


If dilute HCl is added to an aqueous solution of  without any

change in temperature

A. The equilibrium constant will change

B. The concentration of  will increase

C. The concentration of undissociated  will decrease

D. The concentration of  will decrease

Answer: D

Watch Video Solution

H2S ⇔ H + + HS −

H2S

HS −

H2S

HS −

https://dl.doubtnut.com/l/_C6UlXVucV1NO
https://dl.doubtnut.com/l/_onWDRmvuAUf3


131. Assertion : A ionic product is used for any types of

electrolytes whereas solubility product is applicable only to

sparingly soluble salts. 

Reason : ionic product is defined at any stage of the reaction

whereas solubility product is only applicable to the saturation

stage

A. If both assertion and reason are true and reason is the

correct explanation of the assertion

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: B

https://dl.doubtnut.com/l/_onWDRmvuAUf3
https://dl.doubtnut.com/l/_y6kesoRFdkUm


Watch Video Solution

132. Assertion: Addition of silver ions to a mixture of aqueous

sodium chloride and sodium bromide solution will first

precipitate  rather than . 


Reason :  of  of .

A. If both assertion and reason are true and reason is the

correct explanation of the assertion

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: C

Watch Video Solution

AgBr AgCl

Ksp AgCl < Ksp AgBr

https://dl.doubtnut.com/l/_y6kesoRFdkUm
https://dl.doubtnut.com/l/_zKhBRLLM9XG9


133. Assertion : Sb (III) is not precipitated as sulphide when in its

alkaline solution  is passed. 


Reason : The concentration of  ion in alkaline medium is

inadequate for precipitation.

A. If both assertion and reason are true and reason is the

correct explanation of the assertion

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

Watch Video Solution

H2S

S2 −

https://dl.doubtnut.com/l/_zKhBRLLM9XG9
https://dl.doubtnut.com/l/_ZNwY3mmqcwMe


134. Assertion : On mixing 500 ml of  ion and 500 ml

of  ion, the precipitate of  will be obtained. 

 


Reason : If  is greater than ionic product, a precipitate will

develop.

A. If both assertion and reason are true and reason is the

correct explanation of the assertion

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: D

Watch Video Solution

10− 6MCa2 +

30 × 10− 6MF − CaF2

Ksp(CaF2 = 10− 18)

Ksp

https://dl.doubtnut.com/l/_TCnltUvqQ1Yk


135. Assertion: A solution of  in water produces brown

precipitate on standing. 

Reason: Hydrolysis of  takes place in water.

A. If both assertion and reason are true and reason is the

correct explanation of the assertion

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

Watch Video Solution

FeCl3

FeCl3

https://dl.doubtnut.com/l/_25QSDpCQAne6


136. Concentration of the  ions in a saturated solution of 

 is  Solubility product of 

is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ag+

Ag2CO2O4 2.2 × 10− 4molL− 1 Ag2C2O4

2.66 × 10− 12

4.5 × 10− 11

5.3 × 10− 12

2.42 × 10− 8

137. The solubility of  in water  at 298 K.

The value of solubility product  will be (Given molar mass of 

)

BaSO4 2.42 × 10− 3gL− 1

(Ksp)

BASO4 = 233gmol− 1

https://dl.doubtnut.com/l/_2tskrOIHWCPU
https://dl.doubtnut.com/l/_eR9ylwpsUUz6


Ordinary Thinking (Hydrogen ion concentration- pH scale and buffer

solution )

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1.08 × 10− 10Mol2L− 2

1.08 × 10− 12mol2L− 2

1.08 × 10− 14mol2L− 2

1.08 × 1014mol2L− 2

1. A buffer solution has equal volume of 0.20 M  and 0.02

 The  of the base is 5. The pH is

A. 10

NH4OH

MNH4Cl : pKb

https://dl.doubtnut.com/l/_eR9ylwpsUUz6
https://dl.doubtnut.com/l/_O5NOLwkEN4es


B. 9

C. 4

D. 7

Answer: A

Watch Video Solution

2. The pH of water at  is nearly

A. 2

B. 7

C. 10

D. 12

Answer: B

25∘C

https://dl.doubtnut.com/l/_O5NOLwkEN4es
https://dl.doubtnut.com/l/_dgSSYAEYoCY2


Watch Video Solution

3. The pH of 0.01 molar solution of HCl will be

A. 

B. 3

C. 2

D. 6

Answer: C

Watch Video Solution

0.001

4. At  distilled water has  concentration equal 

. The value of  at this

temperature will be

80∘C [H3O
+ ]

[OH − ]1 × 10− 6mole/litre Kw

https://dl.doubtnut.com/l/_dgSSYAEYoCY2
https://dl.doubtnut.com/l/_Nj1kr2DY4VI1
https://dl.doubtnut.com/l/_W4ENioAzbaY5


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 × 10− 6

1 × 10− 9

1 × 10− 12

1 × 10− 15

5. The pH of the blood does not appreaciably change by small

addition of an acid or a base because blood

A. Contains serum protein which acts as buffer

B. Contains iron as a part of the molecule

C. Can be easily coagulated

D. It is body fluid

https://dl.doubtnut.com/l/_W4ENioAzbaY5
https://dl.doubtnut.com/l/_fWusrH5ZhMn4


Answer: A

Watch Video Solution

6. A physician wishes to prepare a buffer solution at pH = 3.58 that

efficiently resist changes in pH yet contains only small

concentration of the buffering agents. Which one of the following

weak acid together with its sodium salt would be best to use ?

A. m - chlorobenzoic acid 

B. p - chlorocinnamic acid 

C. 2, 5-dihydroxy benzoic acid 

D. Acetoacetic acid 

Answer: D

Watch Video Solution

(pKa = 3.98)

(pKa = 4.41)

(pKa = 2.97)

(pKa = 3.58)

https://dl.doubtnut.com/l/_fWusrH5ZhMn4
https://dl.doubtnut.com/l/_H1SiymuLlYK6


7. To pH value of decinormal solution of  which is 20%

ionised is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH4OH

13.30

14.70

12.30

12.95

8. The aqueous solution of which of the following salt will have

the lowest pH ?

A. NaClO

https://dl.doubtnut.com/l/_H1SiymuLlYK6
https://dl.doubtnut.com/l/_1ydhTOUbZSqr
https://dl.doubtnut.com/l/_UwSYvLGWWlI2


B. 

C. 

D. 

Answer: D

Watch Video Solution

NaClO2

NaClO3

NaClO4

9. The rapid change of pH near the stoichiometric point of an

acid-base titration is the basis of indicator detection. pH of the

solution is related to ratio of the concentration of the conjugate

acid (Hin) and base 

forms of the indicator by the expression

A. 

B. 

[H + ] = 10− 7 + 10− 8 = 10− 7[1 + 0.1]

log. = pH − pKIn

[HIn]

[In− ]

log. = pH − pKIn

[In− ]

[HIn]

https://dl.doubtnut.com/l/_UwSYvLGWWlI2
https://dl.doubtnut.com/l/_vdKiwre9uN2g


C. 

D. 

Answer: B

Watch Video Solution

log. = pKIn − pH
[In− ]

[HIn]

log. = pKIn − pH
[HIn]

[In− ]

10. At , the dissociation constant of a base. BOH is 

. The concentration of hydroxyl ions in M

aqueous solution of the base would be

A. 

B. 

C. 

D. 

Answer: D

25∘C

1.0 × 10− 12 0.01

2.0 × 10− 6molL− 1

1.0 × 10− 5molL− 1

1.0 × 10− 6molL− 1

1.0 × 10− 7molL− 1

https://dl.doubtnut.com/l/_vdKiwre9uN2g
https://dl.doubtnut.com/l/_BlDqw1xgPMp3


Watch Video Solution

11. What is the correct relationship between the pH of isomolar

solutions of sodium oxide , sodium sulphide , sodium

selenide  , and sodium telluride  ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(pH1) (pH2)

(pH3) (pH4)

pH1 > pH2 = pH3 > pH4

pH1 < pH2 < pH3 < pH4

pH1 < pH2 < pH3 = pH4

pH1 > pH2 > pH3 > pH4

https://dl.doubtnut.com/l/_BlDqw1xgPMp3
https://dl.doubtnut.com/l/_71l1TScCakvO


12. The hydrogen ion concentration of a  aqueous

soultion at  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

10− 8MHCl

298K(Kw = 10− 14)

9.525 × 10− 8M

1.0 × 10− 8M

1.0 × 10− 6M

1.0525 × 10− 7M

13. Which of the following pairs constitutes a buffer

A.  and 

B. HCl and KCl

NHO3 NH4NO3

https://dl.doubtnut.com/l/_rCTfYHz7rbTI
https://dl.doubtnut.com/l/_TMeHbuFy839D


C.  and 

D. NaOH and NaCl

Answer: A

Watch Video Solution

NHO2 NaNO2

14. Calculate the  of solution at  that contains 

 of hydronium ions, i.e., 

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

pOH 25∘C

1 × 10− 10M H3O
+

7.000

4.000

9.000

1.000

https://dl.doubtnut.com/l/_TMeHbuFy839D
https://dl.doubtnut.com/l/_ljwWoelraRaR


Watch Video Solution

15. Equal volumes of three acid solutions of  and  are

mixed in a vessel. What will be the  ion concentration in the

mixture?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

pH3, 4 5

H +

3.7 × 10− 3M

1.11 × 10− 3M

1.11 × 10− 4M

3.7 × 10− 4M

16. Equimolar solutions of the following were prepared in water

separately. Which one of the solutions will record the highest pH

https://dl.doubtnut.com/l/_ljwWoelraRaR
https://dl.doubtnut.com/l/_gnmf6goIZBL6
https://dl.doubtnut.com/l/_ruEIVM10QohY


?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

MgCl2

CaCl2

SrCl2

BaCl2

17. What is the  in the final solution prepared by mixing 

 of  with  of ?

A. 0.10 M

B. 0.40 M

C. 0.0050 M

[OH − ]

20.0mL 0.050MHCl 30.0mL 0.10MBa(OH)2

https://dl.doubtnut.com/l/_ruEIVM10QohY
https://dl.doubtnut.com/l/_sI6bohONeJ4j


D. 0.12 M

Answer: A

Watch Video Solution

18. A buffer solution is prepared in which the concentration of

 is  and the concentration of  is . If the

equilibrium constant,  for  equals , what is the 

 of this solution? ( )

A. 8.73

B. 9.08

C. 9.43

D. 11.72

Answer: C

NH3 0.30M NH
+

4 0.20M

Kb NH3 1.8 × 10− 5

pH log 2.7 = 0.43

https://dl.doubtnut.com/l/_sI6bohONeJ4j
https://dl.doubtnut.com/l/_I5qiajIAPnGG


Watch Video Solution

19. Buffer solutions have constant acidity and alkalinity because

A. These give unionized acid or base on reaction with added

acid or alkali

B. Acids and alkalies in these solutions are shielded from

attack by other ions

C. They have large excess of  or  ions

D. They have fixed value of pH

Answer: A

Watch Video Solution

H + OH −

https://dl.doubtnut.com/l/_I5qiajIAPnGG
https://dl.doubtnut.com/l/_KiyWTehcXIsZ


20. Which one of the following pairs of solution is not an acidic

buffer?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

HClO4 NaClO4

CH3COOH CH3COONa

H2CO3 Na2CO3

H3PO4 Na3PO4

21. What is the  of the resulting solution when equal volumes

of  and  are mixed?

A. 12.65

pH

0.1MNaOH 0.01MHCl

https://dl.doubtnut.com/l/_gEm900I303WX
https://dl.doubtnut.com/l/_th4uSMIvc1O3


B. 2

C. 7

D. 1.04

Answer: A

Watch Video Solution

22. The percentage of pyridine  that forms pyridinium

ion  in a 0.10 M aqueous pyridine solution (  for 

) is

A. 

B. 

C. 

D. 

(C5H5N)

(C5H5N
+H) Kb

C5H5N = 1.7 × 10− 9

1.6 %

0.0060 %

0.013 %

0.77 %

https://dl.doubtnut.com/l/_th4uSMIvc1O3
https://dl.doubtnut.com/l/_NYozs5ZaT4SA


Answer: C

Watch Video Solution

23. Which is a buffer solution?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3COOH + CH3COONa

CH3COOH + CH3COONH4

CH3COOH + NH4Cl

NaOH + NaCl

https://dl.doubtnut.com/l/_NYozs5ZaT4SA
https://dl.doubtnut.com/l/_KD7UYYjWBphC


24. One weak acid (like ) and its strong base together

with salt (like ) is a buffer solution. In which pair

this type of characteristic is found.

A. HCl and NaCl

B. NaOH and 

C. KOH and KCl

D.  and 

Answer: D

Watch Video Solution

CH3COOH

CH3COONa

NaNO3

NH4OH NH4Cl

25. The  of solution having  is

A. 7

pH [OH − ] = 10− 7

https://dl.doubtnut.com/l/_FS9j35lNYKHH
https://dl.doubtnut.com/l/_IOLybhZvfhut


B. 14

C. Zero

D. 

Answer: A

Watch Video Solution

−7

26.  value of a solution , whose hydronium ion concentration is

a  is

A. 6.21

B. 7.21

C. 7.75

D. 8.21

pH

6.2 × 10− 9mol/l

https://dl.doubtnut.com/l/_IOLybhZvfhut
https://dl.doubtnut.com/l/_0Jicpn4czE3H


Answer: D

Watch Video Solution

27. When  of  acetic acid  is titrated

against  of  ammonia solution , the

equivalence point occurs at 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10ml 0.1M (pKa = 5.0)

10ml 0.1M (pKb = 5.0)

pH

5.0

6.0

7.0

9.0

https://dl.doubtnut.com/l/_0Jicpn4czE3H
https://dl.doubtnut.com/l/_GFHjx4qkBtAZ
https://dl.doubtnut.com/l/_7nKQOYSR46Za


28. 40 ml of  M ammonia is mixed with 20 ml of .

What is the pH of the mixture ? (  of ammonia solution is 

)

A. 4.74

B. 2.26

C. 9.26

D. 5

Answer: C

Watch Video Solution

0.1 0.1MHCI

pKb

4.74.

29. What is the pH value of 

A. 0

B. 

1MH2SO4

−0.213

https://dl.doubtnut.com/l/_7nKQOYSR46Za
https://dl.doubtnut.com/l/_TyNnDtVhx4dl


C. 

D. 

Answer: D

Watch Video Solution

−2

−0.3010

30. A solution which is resistant to change of pH upon the

addition of an acid or a base is known as

A. A colloid

B. A crystalloid

C. A buffer

D. An indicator

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_TyNnDtVhx4dl
https://dl.doubtnut.com/l/_T75HPQWZkXd0


Watch Video Solution

31. If 0.4 gm NaOH is present in 1 litre solution, then its pH will be

A. 2

B. 10

C. 11

D. 12

Answer: D

Watch Video Solution

32. The most important buffer in the blood consist of :

A. HCl and 

B.  and 

Cl⊕

H2CO3 HCOΘ
3

https://dl.doubtnut.com/l/_T75HPQWZkXd0
https://dl.doubtnut.com/l/_dbdeYe235QLO
https://dl.doubtnut.com/l/_cE32YViXfK8v


C.  and 

D. HCl and 

Answer: B

Watch Video Solution

H2CO3 ClΘ

HCOΘ
3

33. The pH of an aqueous solution containing

 is

A. 2.471

B. 2.523

C. 3

D. 

Answer: B

W t h Vid S l ti

[H + ] = 3 × 10− 3M

−3

https://dl.doubtnut.com/l/_cE32YViXfK8v
https://dl.doubtnut.com/l/_1l5AtLEYiEHo


Watch Video Solution

34. The pH of an acetic acid  sodium acetate buffer is given by 

 of acetic acid 

 


If [Salt] = [Acid]  M, then the pH of the solution would be

about

A. 7

B. 4.7

C. 5.3

D. 1.4

Answer: B

Watch Video Solution

+

pH = pKa + log.  where Ka

[Salt]

[Acid]

= 1.8 × 10− 5

= 0.1

https://dl.doubtnut.com/l/_1l5AtLEYiEHo
https://dl.doubtnut.com/l/_P9CiOTFh7Lhe
https://dl.doubtnut.com/l/_dXH6MIgKKzHx


35. Which of the following is a buffer

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NAOH + CH3COONa

NaOH + Na2SO2

K2SO4 + H2SO4

NH4OH + CH3COONH4

36. The pH of 0.0001 N solution of KOH will be

A. 4

B. 6

C. 10

https://dl.doubtnut.com/l/_dXH6MIgKKzHx
https://dl.doubtnut.com/l/_l1ud0XFVvceT


D. 12

Answer: C

Watch Video Solution

37. A sample of  weighing  g is added to 10 ml

of  solution . The resulting solution will be

A. Acidic

B. Neutral

C. Basic

D. None of these

Answer: C

Watch Video Solution

Na2CO3. H2O 0.62

0.1NH2SO4

https://dl.doubtnut.com/l/_l1ud0XFVvceT
https://dl.doubtnut.com/l/_ki4iK4w6XKFN


38. On adding sold potassium cyanide to water

A. pH will increase

B. pH will decrease

C. pH will not change

D. Electrical conducting will not change

Answer: A

Watch Video Solution

39.  and  concentration of each is 

 M. Their pH will be respectively

A. 10, 6, 2

B. 11, 3, 7

NaOH ( aq ) , HCl ( aq ) NaCl ( aq )

10− 3

https://dl.doubtnut.com/l/_SRCfm93LghxG
https://dl.doubtnut.com/l/_e72WhogtSJ54


C. 10, 2, 6

D. 3, 4, 7

Answer: B

Watch Video Solution

40. Given pH of a solution A is 3 and it is mixed with another

solution B having pH 2. If both mixed then resultant pH of the

solution will be

A. 3.2

B. 1.9

C. 3.4

D. 3.5

Answer: B

https://dl.doubtnut.com/l/_e72WhogtSJ54
https://dl.doubtnut.com/l/_2gyYQLGXxFWh


Watch Video Solution

41. Consider the following solutions of equal concentrations 

 


A buffer solution can be obtained by mixing equal volumes of

A. C and D

B. A and B

C. A and C

D. C and D

Answer: C

Watch Video Solution

A = NH4Cl B = CH3COONa

C = NH4OH D = CH3COOH

https://dl.doubtnut.com/l/_2gyYQLGXxFWh
https://dl.doubtnut.com/l/_7AYbRms4k9OK


42. By adding 20 ml of 0.1 N HCl to 20 ml 0.1 N KOH, the pH of the

obtained solution will be

A. 0

B. 7

C. 2

D. 9

Answer: B

Watch Video Solution

43. Which of the following salt is acidic

A. 

B. 

(NH4)2SO4

NaHSO3

https://dl.doubtnut.com/l/_pWHmfGKbfqZJ
https://dl.doubtnut.com/l/_qXseSpE689Aj


C. 

D. 

Answer: B

Watch Video Solution

Na2SO3

Na2S

44. Which is incorrect for buffer solution

A. It contains weak acid and its conjugate base

B. It contains weak weak base and its conjugate acid

C. In this there is very less change is pH value when very less

amount of acid and base is mixed

D. None of the above

Answer: D

https://dl.doubtnut.com/l/_qXseSpE689Aj
https://dl.doubtnut.com/l/_Hoq6Ts7izh8I


Watch Video Solution

45. When a buffer solution of sodium acetate and acetic acid is

diluted with water

A. Acetate ion concentration increases

B.  ion concentration increases

C.  ion concentration increases

D.  ion concentration remain unaltered

Answer: D

Watch Video Solution

H +

OH −

H +

46. The pH of a buffer solution containing 25 ml of

 and 25 ml of  will be1MCH3COONa 1MCH3COOH

https://dl.doubtnut.com/l/_Hoq6Ts7izh8I
https://dl.doubtnut.com/l/_np6EVSF1mvc3
https://dl.doubtnut.com/l/_pHIdGRFuGzwJ


appreciably affected by 5 ml of

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1MCH3COOH

5MCH3COOH

5MHCl

1MNH4OH

47. The pH of the solution containing 10 ml of 0.1 N NaOH and 10

ml of 0.05  would be

A. 0

B. 1

C. 

NH2SO4

> 7

https://dl.doubtnut.com/l/_pHIdGRFuGzwJ
https://dl.doubtnut.com/l/_jWRXINIpKEpK


D. 7

Answer: C

Watch Video Solution

48. The pH of  is

A. 7

B. 

C. 

D. 0

Answer: A

Watch Video Solution

H2O

> 7

< 7

https://dl.doubtnut.com/l/_jWRXINIpKEpK
https://dl.doubtnut.com/l/_I9LIJNMIsuJR
https://dl.doubtnut.com/l/_HMbFM3BFaix2


49. In a solution of pH = 5, more acid is added in order to reduce

the pH = 2. The increase in hydrogen ions concentration is

A. 100 times

B. 1000 times

C. 3 times

D. 5 times

Answer: B

Watch Video Solution

50. Which is not a buffer solution

A. 

B. 

C. 

NH4Cl + NH4OH

CH3COOH + CH3COONa

CH3COONa

https://dl.doubtnut.com/l/_HMbFM3BFaix2
https://dl.doubtnut.com/l/_TRQ49I94v5Zz


D. Borax + Boric acid

Answer: C

Watch Video Solution

51. The concentration of NaOH solution is M . Find out the 

 concentration

A. 

B. Greater than 

C. 

D. Lies between  and 

Answer: A

Watch Video Solution

10− 8

(OH − )

10− 8

10− 6

10− 6

10− 6 10− 7

https://dl.doubtnut.com/l/_TRQ49I94v5Zz
https://dl.doubtnut.com/l/_Z09mYRvkXooz


52. The pH vaue of 0.1 M NaOH solution is (when there is a given

reaction 

A. 13

B. 12

C. 11

D. 2

Answer: A

Watch Video Solution

[H + ][OH − ] = 10− 14

53. Which oxychloride has maximum pH?

A. NaClO

B. NaClO3

https://dl.doubtnut.com/l/_EzJfX0S5bI0c
https://dl.doubtnut.com/l/_TKM0XAA8A0ix


C. 

D. 

Answer: A

Watch Video Solution

NaClO3

NaClO4

54. pH of  is

A. 12

B. 

C. 

D. 14

Answer: C

Watch Video Solution

HCl(10− 12M)

−12

≈ 7

https://dl.doubtnut.com/l/_TKM0XAA8A0ix
https://dl.doubtnut.com/l/_6Kz2pYWNVJR2


55. Which one is buffer solution

A. 

B. 

C. 

D. All of these

Answer: B

View Text Solution

[PO−
4 ][HPO

−
4 ]

[PO3 −
3 ][[H2PO

−
4 ]

[HPO
−
4 ][H2PO

−
4 ]

56. When an acid or alkali is mixed with buffer solution, then pH

of buffer solution

A. Not changes

B. Can Increase or Decrease

https://dl.doubtnut.com/l/_RWQvJIcSggiY
https://dl.doubtnut.com/l/_D1683psha8t6


C. Increases

D. Decreases

Answer: A

Watch Video Solution

57. pH of a solution can be expressed as

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−loge(H
+ )

−log10(H
+ )

loge(H
+ )

log10(H
+ )

https://dl.doubtnut.com/l/_D1683psha8t6
https://dl.doubtnut.com/l/_nTO4rFXVXpPx


58. The ionization constant of a certain weak acid is . What

should be the [salt] to [acid] ratio if we have to prepare a buffer

with  using this acid and one of the salts

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

10− 4

pH = 5

1: 10

10: 1

5: 4

4: 5

59. The pH of a buffer solution containing 0.2 mole per litre

 and 1.5 mole per litre  is (  for acetic

acid is )

CH3COONa CH3COOH Ka

1.8 × 10− 5

https://dl.doubtnut.com/l/_lOpX4ea5W244
https://dl.doubtnut.com/l/_Y03FhtrJEvsh


A. 4.87

B. 5.8

C. 2.4

D. 9.2

Answer: A

Watch Video Solution

60. The pH of 0.05 M Ba  solution is

A. 12

B. 13

C. 1

D. 12.96

(OH)2

https://dl.doubtnut.com/l/_Y03FhtrJEvsh
https://dl.doubtnut.com/l/_rSMfSiglq2Wg


Answer: B

Watch Video Solution

61. The hydrogen ion concentration of  solution is

A.  mole/litre

B.  mole/litre

C.  mole/litre

D.  mole/litre

Answer: B

Watch Video Solution

0.001MNaOH

1 × 10− 2

1 × 10− 11

1 × 10− 14

1 × 10− 12

https://dl.doubtnut.com/l/_rSMfSiglq2Wg
https://dl.doubtnut.com/l/_ANqety6nCn4k


62. If  of , ,  and  are , ,  and  respectively,

then strongest acid is

A. A

B. C

C. D

D. B

Answer: D

Watch Video Solution

pH A BC D 9.5 2.5 3.5 5.5

63. A base dissolved in water yields a solution with a hydroxide

ion concentration of . The solution is

A. Basic

0.05mollitre− 1

https://dl.doubtnut.com/l/_HXo0tuxilYzz
https://dl.doubtnut.com/l/_KvivKuuHBSii


B. Acid

C. Neutral

D. Both (a) and (b)

Answer: A

Watch Video Solution

64. At  the pH value of a solution is 6. The solution is

A. Basic

B. Acidic

C. Neutral

D. Both (b) and (c)

Answer: B

25∘C

https://dl.doubtnut.com/l/_KvivKuuHBSii
https://dl.doubtnut.com/l/_9MapkEr4eiPa


Watch Video Solution

65. A solution has , it is diluted  times, then it will

become

A. Neutral

B. Basic

C. Unaffected

D. More acidic

Answer: A

Watch Video Solution

pH = 5 100

66. 40 mg of pure sodium hydroxide is dissolved in 10 L of

distilled water. The pH of the solution is

https://dl.doubtnut.com/l/_9MapkEr4eiPa
https://dl.doubtnut.com/l/_7j05HbIHmDiq
https://dl.doubtnut.com/l/_3iWNPnOQlsOn


A. 

B. 10

C. 11

D. 12

Answer: B

Watch Video Solution

9.0

67. which one of the following electrolytes would dissolve in water

to give a 0.1 M solution with pH about 9

A. 

B. 

C. 

D. KOH

CH3COOH

CH3COONa

NH4Cl

https://dl.doubtnut.com/l/_3iWNPnOQlsOn
https://dl.doubtnut.com/l/_IK0nHw3K5ed4


Answer: B

View Text Solution

68. The number of  ions present in 250 ml of lemon juice of

pH=3 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H +

1.506 × 1022

1.506 × 1023

1.506 × 1020

3.012 × 1021

https://dl.doubtnut.com/l/_IK0nHw3K5ed4
https://dl.doubtnut.com/l/_sd8TXB2kYPYZ


69. A mono basic weak acid solution has a molarity of 0.005 and

pH of 5. What is its percentage ionisation in this solutino ?gt

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2.0

0.2

0.5

0.25

70. The pH of normal rain water is

A. 6.5

B. 7.5

https://dl.doubtnut.com/l/_1ETRMwx6uSbz
https://dl.doubtnut.com/l/_qTkerJ3Xdy07


C. 5.6

D. 3.5

Answer: A

Watch Video Solution

71. Which of the following will decrease the pH of a 50 ml solution

of  ?

A. Addition of 5 ml of 1 M HCL

B. Addition of 50 ml of 0.01 M HCl

C. Addition of 50 mL of 0.002 M HCl

D. Addition of Mg

Answer: A

W t h Vid S l ti

0.01MHCI

https://dl.doubtnut.com/l/_qTkerJ3Xdy07
https://dl.doubtnut.com/l/_a817jbevSkPG


Watch Video Solution

72. The  of a weak acid, , is . The  of a weak base, 

, is . The  of an aqueous solution of the

corresponding salt, , will be:

A. 4.79

B. 7.01

C. 9.22

D. 9.58

Answer: B

Watch Video Solution

pKa HA 4.80 pKb

BOH 4.78 pH

BA

73. The pH of a solution obtained by mixing 50 mL of 1N HCl and

30 mL of 1N NaOH is [log 2.5 = 0.3979]

https://dl.doubtnut.com/l/_a817jbevSkPG
https://dl.doubtnut.com/l/_mebsh3FzlI8d
https://dl.doubtnut.com/l/_0cj6JhpxqldM


A. 3.979

B. 0.6021

C. 12.042

D. 1.2042

Answer: B

Watch Video Solution

74. If  of acetic acid and  of ammonium hydroxide are 

each. Find the pH of ammonium acetate.

A. 7

B. Less than 7

C. More than 7

D. Zero

pKa pKb 4.76

https://dl.doubtnut.com/l/_0cj6JhpxqldM
https://dl.doubtnut.com/l/_dZG7uGrBMd7v


Answer: A

Watch Video Solution

75. The aqueous solution whose pH =0 is-

A. Alkaline

B. Acidic

C. Neutral

D. Amphoteric

Answer: B

Watch Video Solution

76. The pH of  HCl would be approximately
N

100

https://dl.doubtnut.com/l/_dZG7uGrBMd7v
https://dl.doubtnut.com/l/_BtYT3yFdRZpu
https://dl.doubtnut.com/l/_uy7FnDTSpDDs


A. 1

B. 1.5

C. 2

D. 2.5

Answer: C

Watch Video Solution

77. A compound whose aqueous solution will have the highest 

A. NaCl

B. 

C. 

D. 

pH

Na2CO3

NH4Cl

NaHCO3

https://dl.doubtnut.com/l/_uy7FnDTSpDDs
https://dl.doubtnut.com/l/_TgeqE2Vy37VQ


Answer: B

Watch Video Solution

78. By adding a strong acid to the buffer solution, the pH of the

buffer solution

A. Remains constant

B. Increases

C. Decreases

D. Becomes zero

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_TgeqE2Vy37VQ
https://dl.doubtnut.com/l/_m7DIi71xhRY6


79. A buffer solution contains 0.1 M of acetic acid and 0.1 M of

sodium acetate. What will be its pH, it  of acetic acid is 4.75

A. 

B. 4.75

C. 

D. 5.25

Answer: B

Watch Video Solution

pKa

4.00

5.00

80. Pure water is kep in a vessel and it remains exposed to

atmospheric  which is absorbed, then its pH will be

A. Greater than 7

CO2

https://dl.doubtnut.com/l/_IuXeB4BU66kp
https://dl.doubtnut.com/l/_hLWaECZUqQOk


B. Less than 7

C. 7

D. Depends on ionic product of water

Answer: B

Watch Video Solution

81. The  of  is .  will

precipitate at the limiting 

A. 3

B. 9

C. 5

D. 8

Ksp Mg(OH)2 1 × 10− 12 0.01MMg(OH)2

pH

https://dl.doubtnut.com/l/_hLWaECZUqQOk
https://dl.doubtnut.com/l/_CjqYDHq7ZmFU


Answer: B

Watch Video Solution

82. The concentration of hydrogen ion  in 0.01 M HCl is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[H + ]

1012

10− 2

10− 1

10− 12

https://dl.doubtnut.com/l/_CjqYDHq7ZmFU
https://dl.doubtnut.com/l/_0RFARg7RTSsG


83. The pH of the aqueous solution containing 0.49 gm of 

in one litre is

A. 2

B. 1

C. 1.7

D. 0.3

Answer: A

Watch Video Solution

H2SO4

84. The  of a solution increased from  to . Its  will be

A. Reduced to half

B. Doubled

pH 3 6 [H ⊕ ]

https://dl.doubtnut.com/l/_XHtYwfJtdl0o
https://dl.doubtnut.com/l/_dNre4qEaSWYC


C. Reduced by 1000 times

D. increased by 1000 times

Answer: C

Watch Video Solution

85. Which of the following solution cannot act as buffer?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaH2PO4 + H3PO4

CH3COOH + CH3COONa

HCl + NH4Cl

H3PO4 + Na2HPO4

https://dl.doubtnut.com/l/_dNre4qEaSWYC
https://dl.doubtnut.com/l/_TpBmP8UgpMQU


86. pH of a buffer solution decreases by 0.02 units when 0.12g of

acetic acid is added to 250 mL of a buffer solution of acetic acid

and potassium acetate at . The buffer capacity of the

solution is

A. 

B. 10

C. 1

D. 

Answer: D

View Text Solution

27∘C

0.1

0.4

87. 20 ml of 0.1 M acetic acid is mixed with 50 ml of potassium

acetate.  of acetic acid  at . CalculateKa = 1.8 × 10− 5 27∘C

https://dl.doubtnut.com/l/_3dPpm7NNOBYX
https://dl.doubtnut.com/l/_wvzZhyYPlXsI


concentration of potassium acetate if pH of the mixture is 4.8

A. 0.1 M

B. 0.04 M

C. 0.4 M

D. 0.02 M

Answer: B

Watch Video Solution

88. If the hydrogen ion concentration of a given solution is

, the pH of the solution will be

A. 2.26

B. 3.4

C. 3.75

5.5 × 10− 3  mol litre− 1

https://dl.doubtnut.com/l/_wvzZhyYPlXsI
https://dl.doubtnut.com/l/_1BR0mRurLs5n


D. 2.76

Answer: A

Watch Video Solution

89. The solution of sodium carbonate has pH

A. Greater than 7

B. Less than 7

C. Equal to 7

D. Equal to zero

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1BR0mRurLs5n
https://dl.doubtnut.com/l/_ESaK5t3E5ztt
https://dl.doubtnut.com/l/_D1S20OymH7yB


90. The pH of a solution obtained by mixing equal volumes of

 and 

A. 13.4

B. 12.4

C. 7.6

D. 1.6

Answer: D

Watch Video Solution

NaOH
N

10
HCl

N

20

91. The pH of the solution produced by mixing equal volume of

 and  is

A. 2.7

B. 2.3

2.0 × 10− 3MHClO4 1.0 × 10− 2MKClO4

https://dl.doubtnut.com/l/_D1S20OymH7yB
https://dl.doubtnut.com/l/_f8oVLuHeXR4l


C. 3

D. 1

Answer: A

Watch Video Solution

92. How many moles of  must be dissolved to produce

250 mL of an aqueous solution of pH , assuming completer

dissociation ?

A. 

B. 

C. 

D. 

Answer: A

Ca(OH)2

10.65

5.6 × 10− 5

6.5 × 10− 5

4.5 × 10− 5

5.4 × 10− 5

https://dl.doubtnut.com/l/_f8oVLuHeXR4l
https://dl.doubtnut.com/l/_1QAQGPe3E586


Watch Video Solution

93. If  ion concentration of a solution is increased by 10 times

its pH will be

A. Increase by one

B. Remains unchanged

C. Decrease by one

D. Increase by 10

Answer: C

Watch Video Solution

H +

94. Buffer solution is prepared by mixing

https://dl.doubtnut.com/l/_1QAQGPe3E586
https://dl.doubtnut.com/l/_webKHBCuLm8b
https://dl.doubtnut.com/l/_Ym4ts6MpExR7


A. Strong acid + its salt of strong base

B. Weak acid + its salt of weak base

C. Strong acid + its salt of weak base

D. Weak acid + its salt of strong base

Answer: D

Watch Video Solution

95. If pOH of a solution is 6.0, then its pH will be

A. 6

B. 10

C. 8

D. 14

https://dl.doubtnut.com/l/_Ym4ts6MpExR7
https://dl.doubtnut.com/l/_P7p5ZnY59Vpu


Answer: C

Watch Video Solution

96. If the pH of a solution is 4.0 a , its pOH would be 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25∘C

(Kw = 10− 14)

4.0

6.0

8.0

10.0

https://dl.doubtnut.com/l/_P7p5ZnY59Vpu
https://dl.doubtnut.com/l/_PwwjD38pRhKz


97. The pH value of 0.1 M HCl is approximately 1. What will be the

approximately pH value of 0.05 

A. 0.05

B. 0.5

C. 1

D. 2

Answer: C

Watch Video Solution

MH2SO4

98. The  of an aqueous solution is  . The pH of

the solution is :

A. 5

[OH − ] 1 × 10− 5

https://dl.doubtnut.com/l/_K7HPxZwtbKzJ
https://dl.doubtnut.com/l/_UmwZEW6CHN9e


B. 9

C. 4.5

D. 11

Answer: B

Watch Video Solution

99. The pH of a 0.02 M solution of hydrochloric acid is

A. 

B. 

C. 

D. 

Answer: B

2.0

1.7

0.3

2.2

https://dl.doubtnut.com/l/_UmwZEW6CHN9e
https://dl.doubtnut.com/l/_GrzXoGs5ViQv


Watch Video Solution

100. The pOH of beer is 10.0. The hydrogen ion concentration will

be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

10− 2

10− 10

10− 8

10− 4

101. The pH of a  M NaOH solution will be

A. 3

0.001

https://dl.doubtnut.com/l/_GrzXoGs5ViQv
https://dl.doubtnut.com/l/_BDRZTxEQJddQ
https://dl.doubtnut.com/l/_siLxEma6Vl8s


B. 2

C. 11

D. 12

Answer: C

Watch Video Solution

102. The sum of pH and pOH in aqueous solution is equal to

A. 7

B. 

C. Zero

D. 1

Answer: B

pkw

https://dl.doubtnut.com/l/_siLxEma6Vl8s
https://dl.doubtnut.com/l/_qr0pS3GpwBXA


Watch Video Solution

103. The dissociation constant of water is

. What is the pH of 0.001 M KOH soluiton

?

A. 

B. 3

C. 14

D. 11

Answer: D

Watch Video Solution

1 × 10− 14mol− 2litre− 2

10− 11

https://dl.doubtnut.com/l/_qr0pS3GpwBXA
https://dl.doubtnut.com/l/_jsk3KpFQb5e5


104. pH values of HCl and NaOH solutions each of strength 

will be respectively

A. 2 and 3

B. 2 and 12

C. 12 and 2

D. 2 and 10

Answer: B

Watch Video Solution

N

100

105. Amongst the following solutions, the buffer solution is 

Or 

A basic buffer is made by mixing the solution

https://dl.doubtnut.com/l/_8Qdh6Ljf6dkW
https://dl.doubtnut.com/l/_MHQmNxb9upuf


A.  solution

B.  solution

C.  solution

D.  solution

Answer: a

Watch Video Solution

NH4Cl + NH4OH

NH4Cl + NaOH

NH4OH + HCl

NaOH + HCl

106. 50 ml water is added to a 50 ml solution of  of

strength 0.01 M. The pH value of the resulting solution will be

A. 8

B. 10

C. 12

D. 6

Ba(OH)2

https://dl.doubtnut.com/l/_MHQmNxb9upuf
https://dl.doubtnut.com/l/_gNZuTDVKMM6L


Answer: C

Watch Video Solution

107. The pH of  NaOH is

A. 7.01

B. Between 7 and 8

C. Between 9 and 10

D. Greater than 10

Answer: B

Watch Video Solution

10− 7M

108. A solution of  in water has pHMgCl2

https://dl.doubtnut.com/l/_gNZuTDVKMM6L
https://dl.doubtnut.com/l/_iLGviRLD5HSM
https://dl.doubtnut.com/l/_iwEfXLzUoxXS


A. 

B. 

C. 7

D. 14.2

Answer: A

Watch Video Solution

< 7

> 7

109.  of a solution of .  sodium acetate and 

acetic acid  is approximately

A. 4

B. 5

C. 6

D. 7

pH 10ml 1N 50ml2N

(Ka = 1.8 × 10− 5)

https://dl.doubtnut.com/l/_iwEfXLzUoxXS
https://dl.doubtnut.com/l/_x7S9Z1C9oVFb


Answer: A

Watch Video Solution

110. If the pH value is 4.5 for a solution then what is the value of

 concentration?

A.  mol/L

B.  mol/L

C.  mol/L

D.  mol/L

Answer: A

Watch Video Solution

H +

3.162 × 10− 5

31.62 × 10− 5

0.3162 × 10− 5

3.162 × 10− 8

https://dl.doubtnut.com/l/_x7S9Z1C9oVFb
https://dl.doubtnut.com/l/_cbwIC81oyw1z


111. pH of a solution having 0.00001 gm ions of ions of hydrogen

per litre is

A. 5

B. 4

C. 

D. 

Answer: A

Watch Video Solution

10− 5

10− 4

112. Whether a negative value of pH is possible

A. Yes

B. No

https://dl.doubtnut.com/l/_1Ify4najk5qv
https://dl.doubtnut.com/l/_3S2fP1Kod1Hj


C. Some times

D. None of these

Answer: B

Watch Video Solution

113. The pH of the solution is 4. The hydrogen ion concentration

of the solution in mol/litre is

A. 9.5

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

10− 4

104

10− 2

https://dl.doubtnut.com/l/_3S2fP1Kod1Hj
https://dl.doubtnut.com/l/_rFYm4e3UAH0u


Watch Video Solution

114. The aqueous solution of sodium acetate with minimum pH is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.01M

0.001M

0.0001M

0.1M

115. The concentration of hydrogen ion in water is

A. 8

B. 1 × 10− 7

https://dl.doubtnut.com/l/_rFYm4e3UAH0u
https://dl.doubtnut.com/l/_AKe7A8Ivgdx1
https://dl.doubtnut.com/l/_VzouOcKPEh1u


C. 7

D. 43472

Answer: B

Watch Video Solution

116. The pH of normal KOH is

A. 1

B. 0

C. 14

D. 7

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_VzouOcKPEh1u
https://dl.doubtnut.com/l/_os96GyMPqXPs


117. The pH of z solution at  is . If its pH is to be changed to

4, conc. of  of the original has to be

A. Doubled

B. Halved

C. Increased hundred times

D. Decreased hundred times

Answer: D

Watch Video Solution

250C 2

H +

118. For preparing a buffer solution of  by mixing sodium

accetate and acetic, the ratio of the concentration of salt and acid

should be 

pH6

(Ka = 10− 5)

https://dl.doubtnut.com/l/_bNGq1ijWssWM
https://dl.doubtnut.com/l/_HHNdvaX0uSRl


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 10

10: 1

100: 1

1: 100

119. If the pH of a solution is 2, its normality will be

A. 2N

B. 

C. 0.01 N

D. None of these

N
1

2

https://dl.doubtnut.com/l/_HHNdvaX0uSRl
https://dl.doubtnut.com/l/_fYoxA9KCDPOo


Answer: C

Watch Video Solution

120. Which buffer solution out of the following will have ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

pH > 7

CH3COOH + CH3COONa

HCOOH + HCOOK

CH3COONH4

NH4OH + NH4Cl

https://dl.doubtnut.com/l/_fYoxA9KCDPOo
https://dl.doubtnut.com/l/_FoeaW5XooB1i


121. Which one of the following is the buffer solution of strong

acidic nature ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HCOOH + HCOO−

CH3COOH + CH3COO
−

H2C2O4 + C2O
2 −
4

H3BO3 + BO3 −
3

122. Upto what pH must a solution containing a precipitate of

 be adjusted so that all of precipitate dissolves

A. Upto 4.4

Cr(OH)3

https://dl.doubtnut.com/l/_k41YbnJd6053
https://dl.doubtnut.com/l/_q2NwDC8SDQNS


B. Upto 4.1

C. Upto 4.2

D. Upto 4.0

Answer: D

View Text Solution

123. The  of a weak acid is  . What should be the ratio of

[Acid]/[Salt] of a buffer if  is required

A. 10

B. 0.1

C. 1

D. 2

pKa 4.8

pH = 5.8

https://dl.doubtnut.com/l/_q2NwDC8SDQNS
https://dl.doubtnut.com/l/_n7TR2RL6ZV31


Answer: B

Watch Video Solution

124. 100 mL of 0.01 M solution of NaOH is diluted to 1 litre. The pH

of resultant solution will be

A. 12

B. 11

C. 2

D. 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_n7TR2RL6ZV31
https://dl.doubtnut.com/l/_SNe8weoJ57IS


125. Calculate pOH of 0.001 . When it is 1% dissociated

in the solution

A. 5

B. 2.96

C. 9.04

D. 11.04

Answer: A

Watch Video Solution

MNH4OH

126. pH of water is 7.0 at . If water is heated to 

A. pH will increase

B. pH will decrease

25∘C 80∘C

https://dl.doubtnut.com/l/_A3eTUN06kSsp
https://dl.doubtnut.com/l/_HGio6WK1OPjk


C. pH remains 7.0

D.  ion concentration will increase but  ion

concentration will decrease

Answer: B

Watch Video Solution

H + OH −

127. The following reaction is known to occur in the body

. If  escapes from

the system

A. pH will decrease

B. Hydrogen ion concentration will decrease

C.  concentration will be unaltered

D. The forward reaction will be promoted

CO2 + H2O ⇔ H2CO3 ⇔ H + + HCO−
3 CO2

H2CO3

https://dl.doubtnut.com/l/_HGio6WK1OPjk
https://dl.doubtnut.com/l/_OGoXffwlT0dt


Answer: B

Watch Video Solution

128. When 100 ml of M/10 NaOH solution and 50 ml of M/5 HCI

solution are mixed, the pH of resulting solution would be

A. 0

B. 7

C. Less than 7

D. More than 7

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OGoXffwlT0dt
https://dl.doubtnut.com/l/_PLY2duIcSoWM


129. Aqueous solution of HCl has pH = 4 . Its molarity would be

A. 4 M

B. 0.4 M

C. 0.0001 M

D. 10 M

Answer: C

Watch Video Solution

130. The condition for minimum change in pH for a buffer

solution is

A. Isoelectronic species are added

B. Conjugate acid or base is added

https://dl.doubtnut.com/l/_PY9a0iP55ABC
https://dl.doubtnut.com/l/_pX8kBAKLNqQt


C. 

D. None of these

Answer: C

Watch Video Solution

pH = pKa

131. Henderson's equation is . If the acid

gets half neutralized the value of pH will be : 

A. 4.3

B. 2.15

C. 8.6

D. 7

Answer: A

h id l i

pH = pKa + log.
[salt]

[acid]

[pKa = 4.30]

https://dl.doubtnut.com/l/_pX8kBAKLNqQt
https://dl.doubtnut.com/l/_RurRBCmMwN5G


Watch Video Solution

132. An alcoholic drink substance pH = 4.7 then OH ion

concentration of this solution is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(Kw = 10− 14mol2 /l2)

3 × 10− 10

5 × 10− 10

1 × 10− 10

5 × 10− 8

133. pH of human blood is 7.4. Then  concentration will be

A. 

H +

4 × 10− 8

https://dl.doubtnut.com/l/_RurRBCmMwN5G
https://dl.doubtnut.com/l/_S3JTrpt0aYDz
https://dl.doubtnut.com/l/_X3Zv5oV6f2mH


B. 

C. 

D. 

Answer: A

Watch Video Solution

2 × 10− 8

4 × 10− 4

2 × 10− 4

134. The pH of a 0.1M  solution  is

A. 11.13

B. 12.5

C. 13.42

D. 11.55

Answer: A

NH3 (Kb = 1.8 × 10− 5)

https://dl.doubtnut.com/l/_X3Zv5oV6f2mH
https://dl.doubtnut.com/l/_3mWWCiF3oQqz


Watch Video Solution

135. Components of buffer solution are 0.1 M HCN and 0.2 M

NaCN. What is the pH of the solution

A. 9.61

B. 6.15

C. 2

D. 4.2

Answer: A

Watch Video Solution

136. The pH of a  solution is

A. 3

0.005MH2SO4

https://dl.doubtnut.com/l/_3mWWCiF3oQqz
https://dl.doubtnut.com/l/_X0IKfgPf6aZm
https://dl.doubtnut.com/l/_hktTGwMTDiM6


B. 4

C. 2

D. 5

Answer: C

Watch Video Solution

137.  and  are present in an aqueous solution.

The solution is

A. Not a buffer solution with 

B. Not a buffer solution with 

C. A buffer solution with 

D. A buffer solution with 

1MNaCl 1MHCl

pH < 7

pH > 7

pH < 7

pH > 7

https://dl.doubtnut.com/l/_hktTGwMTDiM6
https://dl.doubtnut.com/l/_Y71AG4PqAsax


Answer: A

Watch Video Solution

138. Which one of the following statements is not true

A. The conjugate base of  is 

B.  for all aqueous solutions

C. The pH of  M HCl is 8

D. 96, 500 coulombs of electricity when passed througha

 solution deposits 1 gram equivalent of copper at

the cathode

Answer: C

Watch Video Solution

H2PO
−
4 HPO

2 −
4

pH + pOH = 14

1 × 10− 8

CuSO4

https://dl.doubtnut.com/l/_Y71AG4PqAsax
https://dl.doubtnut.com/l/_YJhCO7Yk5uTH


139. When rain is accompanied by a thunderstorm, the collected

rain water will have a pH value

A. Slightly lower than that of rain water without thunderstorm

B. Slightly higher than that when the thunderstorm is not

there

C. Uninfluenced by occurrence of thunderstorm

D. Which depends on the amount of dust in air

Answer: A

Watch Video Solution

140. Hydrogen ion concentration in  in a solution of 

 will be:

mol/L

pH = 5.4

https://dl.doubtnut.com/l/_jV9PBhaPMHUt
https://dl.doubtnut.com/l/_9LPYC1qMv7Sy


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3.98 × 108

3.88 × 106

3.68 × 10− 6

3.98 × 10− 6

141. The  of a weak acid  is . The  of an aqueous

buffered solution of  in which  of the acid is ionized is:

A. 4.5

B. 2.5

C. 9.5

D. 

pKa (HA) 4.5 pOH

HA 50 %

7.0

https://dl.doubtnut.com/l/_9LPYC1qMv7Sy
https://dl.doubtnut.com/l/_Qp7JGmktB1Sg


Answer: C

Watch Video Solution

142. What is the pH value of  KOH solution

A. 

B. 3

C. 2

D. 11

Answer: D

Watch Video Solution

N

100

10− 11

https://dl.doubtnut.com/l/_Qp7JGmktB1Sg
https://dl.doubtnut.com/l/_2IY2ovDZCkN1


143. Given a 0.1 M solution of each of the following. Which

solution has the lowest pH

A. 

B. 

C. HCl

D. 

Answer: C

Watch Video Solution

NaHSO4

NH4Cl

NH3

144. A weak monoprotic acid of 0.1 M, ionizes to 1% in solution.

What will be the pH of solution

A. 1

https://dl.doubtnut.com/l/_qK9kl2kJaNKr
https://dl.doubtnut.com/l/_1UN842K3Hgm1


B. 2

C. 3

D. 11

Answer: C

Watch Video Solution

145. How many millilitree of  M hydrochloric acid should be

used to prepare 150 ml of 0.30 M HCl solution ?

A. 

B. 7.5

C. 9.3

D. 30

6.0

3.0

https://dl.doubtnut.com/l/_1UN842K3Hgm1
https://dl.doubtnut.com/l/_yKR3WB3QqpPA


Answer: B

Watch Video Solution

146. 0.02 M monobasic acid dissociates 2% hence, pH of the

solution is

A. 0.3979

B. 1.3979

C. 1.699

D. 3.3979

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yKR3WB3QqpPA
https://dl.doubtnut.com/l/_O7wpQX7ZAnBa


147. pH of a solution is 9.5. The solution is

A. Neutral

B. Acidic

C. Basic

D. Amphoteric

Answer: C

Watch Video Solution

148. Which on reaction with water will have pH less than 7

A. BaO

B. CaO

C. Na2O

https://dl.doubtnut.com/l/_WGgXgZiByDMm
https://dl.doubtnut.com/l/_qVNewvpokUYA


D. 

Answer: D

Watch Video Solution

P2O5

149. Which of the following would decrease the pH of 25 cm  of a

0.01 M solution of HCl?

A. The addition of  0.005 M hydrochloric acid

B. The addition of  of 0.02 M hydrochloric acid

C. The addition of magnesium metal

D. None of these

Answer: B

Watch Video Solution

2

25cm3

25cm3

https://dl.doubtnut.com/l/_qVNewvpokUYA
https://dl.doubtnut.com/l/_0Nqej0t8jx34


150. The pH of 0.05 M solution of dibasic acid is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+1

−1

+2

−2

151. pH of blood is maintained constant by mechanisms of

A. Common ion effect

B. Buffer

C. Solubility

https://dl.doubtnut.com/l/_ZzB2ag83XP6I
https://dl.doubtnut.com/l/_jXCYmkR1Ty54


D. All of these

Answer: B

Watch Video Solution

152. The pH of millimolar HCl is

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jXCYmkR1Ty54
https://dl.doubtnut.com/l/_ITnzBDHcZeYL
https://dl.doubtnut.com/l/_KEm0gQjM3cXv


153. The pH of the solution: 5ml of , HCl + 10 ml of  NaOH is

A. 5

B. 3

C. 7

D. 8

Answer: C

Watch Video Solution

M

5

M

10

154. HA is a weak acid. The pH of 0.1 M HA solution is 2. What is the

degree of dissociation  of HA ?

A. 0.5

B. 0.2

C. 0.1

(α)

https://dl.doubtnut.com/l/_KEm0gQjM3cXv
https://dl.doubtnut.com/l/_C8qtz3pr9JX6


D. 0.301

Answer: C

Watch Video Solution

155. pH of 0.0002 M formic acid  approximatly is

A. 1.35

B. 0.5

C. 3.7

D. 1.85

Answer: C

Watch Video Solution

[Ka = 2 × 10− 4]

https://dl.doubtnut.com/l/_C8qtz3pr9JX6
https://dl.doubtnut.com/l/_E4aa8DxH8qDZ
https://dl.doubtnut.com/l/_Zzr1PMUf94V7


156. Highest pH (14) is shown by

A. 

B. 

C. 1N NaOH

D. 1N HCl

Answer: C

Watch Video Solution

0.1MH2SO4

0.1MNaOH

157. An aqueous solution of sodium carbonate has a  greater

than  because

A. It contains more carbonate ion than  molecules

B. Contains more hydroxide ions than carbonate ions

C.  ions react with water

pH

7

H2O

Na+

https://dl.doubtnut.com/l/_Zzr1PMUf94V7
https://dl.doubtnut.com/l/_gEkoPhRDLP8V


D. Carbonate ions react with 

Answer: B

Watch Video Solution

H2O

158.  of  is of the order of

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ka H2O2

10− 12

10− 14

10− 16

10− 10

https://dl.doubtnut.com/l/_gEkoPhRDLP8V
https://dl.doubtnut.com/l/_172WrGu5gZAc
https://dl.doubtnut.com/l/_dLnl9ebY1Neh


159. The pH at the equivalence point of a titration may differ from

 because of

A. The self ionisation of water

B. Hydrolysis of the salt formed

C. The indicator used

D. The concentration of the standard solution

Answer: B

Watch Video Solution

7.0

160. The pH of a solution obtained by mixing 50 ml of 0.4 M HCl

with 50 ml of 0.2 M NaOH is

A. 

B. 

−log 2

−log 2 × 10− 1

https://dl.doubtnut.com/l/_dLnl9ebY1Neh
https://dl.doubtnut.com/l/_SqOhJNsQUnbO


C. 

D. 

Answer: C

Watch Video Solution

7.0

2.0

161. In a mixture of weak acid and its salt, the ratio of

concentration of acid to salt is increased ten-fold. The pH of the

solution

A. Decreases by one

B. Increases by one-tenth

C. Increases by one

D. Increases ten-fold

Answer: A

https://dl.doubtnut.com/l/_SqOhJNsQUnbO
https://dl.doubtnut.com/l/_4TL8x9hx5Tfr


Watch Video Solution

162. How much sodium acetate should be added to a 0.1 M

solution of  to give a solution of pH = 5.5 (  of 

)

A. 0.1 M

B. 0.2 M

C. 

D. 

Answer: C

Watch Video Solution

CH3COOH pKa

CH3COOH = 4.5

1.0M

10.0M

https://dl.doubtnut.com/l/_4TL8x9hx5Tfr
https://dl.doubtnut.com/l/_lVdMzwGR3Suq


163. The pH of a solution obtaine by mixing  of 

and  of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

50mL 0.4NHCl

50mL 0.2NNaOH

−log 2

−log 0.2

1.0

2.0

164. Assuming complete ionisation, the pH of 0.1 M HCl is 1. The

molarity of  with the same pH is

A. 0.2

H2SO4

https://dl.doubtnut.com/l/_N9arnU4jRxke
https://dl.doubtnut.com/l/_hrnE1aSXO9DQ


B. 0.1

C. 

D. 0.05

Answer: D

Watch Video Solution

2.0

165. The dissociation constant of an acid is . The  of

its  solution will be approximately

A. Five

B. Four

C. Three

D. One

1 × 10− 5 pH

0.1M

https://dl.doubtnut.com/l/_hrnE1aSXO9DQ
https://dl.doubtnut.com/l/_8o4MOyzhIvsx


Answer: C

Watch Video Solution

166. By adding  to , the  of

the obtained solution will be

A. 2

B. 1.3

C. 0

D. 7

Answer: B

Watch Video Solution

20ml0.1NHCl 20ml0.001NKOH pH

https://dl.doubtnut.com/l/_8o4MOyzhIvsx
https://dl.doubtnut.com/l/_PEIdypBGAgm2


167. A' is an aqueous acid , 'B' is an aqueous base. If they are

diluted separately , then

A. pH of A increases and pH of B decreases

B. pH of A inceases and pH of B decreases till pH in each case

is 7

C. pH of A and B increase

D. pH of A and B decrease

Answer: A

Watch Video Solution

168. Select the  value of the strongest acid from the following

A. 

pKa

1.0

https://dl.doubtnut.com/l/_DhvtbKlXiBdN
https://dl.doubtnut.com/l/_zrmHNJH27Npa


B. 

C. 

D. 4.5

Answer: A

Watch Video Solution

3.0

2.0

169. In a mixing of acetic acid and sodium acetate the ratio of

concentration of the salts to the acid is increased ten times .

Then the pH of the solution

A. Increase by one

B. Decreases by one

C. Decrease ten fold

D. Increase ten fold

https://dl.doubtnut.com/l/_zrmHNJH27Npa
https://dl.doubtnut.com/l/_g2vYT9kt5jL0


Answer: A

Watch Video Solution

170. 20mL of 0.5 M HCl and 35 mL of 0.1 N NaOH are mixed. The

resulting solution will

A. Be neutral

B. Be basic

C. Turn phenolphthalein solution pink

D. Turn methyl orange red

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_g2vYT9kt5jL0
https://dl.doubtnut.com/l/_YaiTtkLMVtLK


171. 30 cc of  HCl, 20cc of   and 40 cc of 

solutions are mixed and the volume was made upto . The pH

of the resulting solution is :

A. 2

B. 1

C. 3

D. 8

Answer: A

Watch Video Solution

M

3

M

2
HNO3 NaOH

M

4

1dm3

172.  is diluted by  times. The  of diluted

base is

10− 6MNaOH 100 pH

https://dl.doubtnut.com/l/_2alI8UcFIa26
https://dl.doubtnut.com/l/_zLIIiMWhikub


A. Between 5 and 6

B. Between 6 and 7

C. Between 10 and 11

D. Between 7 and 8

Answer: D

Watch Video Solution

173. 0.023 g of sodium metal is reacted with 100  of water. The

pH of the resulting solution is

A. 10

B. 11

C. 9

D. 12

cm3

https://dl.doubtnut.com/l/_zLIIiMWhikub
https://dl.doubtnut.com/l/_52FPquXag7pI


Answer: D

Watch Video Solution

174. A buffer solution contains 0.1 mole of sodium acetate

dissolved in  of 0.1 M acetic acid. To the above buffer

solution, 0.1 mole of sodium acetate is further added and

dissolved. The pH of the resulting buffer is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1000cm3

pKa − log2

pKa

pKa + 2

pKa + log 2

https://dl.doubtnut.com/l/_52FPquXag7pI
https://dl.doubtnut.com/l/_uK89eAlzCZiW


175. pH value of which of the following is not equal to one

A. 

B. 0.05 M 

C. 

D.  of  of .2 NaOH

Answer: C

Watch Video Solution

0.1MHNO3

H2SO4

0.1MCH3COOH

50cm3 0.4MHCl + 50cm3

176. On adding which of the following the pH of 20 ml of 0.1 NaOH

will not alter

A. 1 mL of 1N HCl

B. 20 mL of distilled water

https://dl.doubtnut.com/l/_uK89eAlzCZiW
https://dl.doubtnut.com/l/_10ZwACfkmX0Y
https://dl.doubtnut.com/l/_cPNbYqKo7Mcx


C. 1 mL of 0.1 N NaOH

D. 500 mL of HCl of pH = 1

Answer: D

View Text Solution

177. Solubility product of Mg(OH)2 at ordinary temperature is

, pH of a saturated solution of  will be :

A. 10.5

B. 8.47

C. 6.94

D. 3.47

Answer: A

W t h Vid S l ti

1.96 × 10− 11 Mg(OH)2

https://dl.doubtnut.com/l/_cPNbYqKo7Mcx
https://dl.doubtnut.com/l/_U4f1d78KnLPe


Watch Video Solution

178. 0.1 M HCl and , each of volume 2 ml are mixed

and the volume is made up to 6 ml by adding 2ml of 0.01 N NaCl

solution. The pH of the resulting mixture is

A. 1.17

B. 

C. 0.3

D. log 2 - log 3

Answer: B

Watch Video Solution

0.1MH2SO4

1.0

179. A 100 mL 0.1m solution of ammonium nitrate is diluted by

adding 100 ml of water. The pH of the resulting solution will be (

https://dl.doubtnut.com/l/_U4f1d78KnLPe
https://dl.doubtnut.com/l/_u2LLZQ5rNU8z
https://dl.doubtnut.com/l/_QV4HGPsbkXHc


 of acetic acid is nearly equal of  )

A. 4.9

B. 

C. 

D. 

Answer: C

Watch Video Solution

pKa NH4OH

5.0

7.0

10.0

180. At , pH of a  aqueous KOH solution will be

A. 

B. 7.01

C. 8.02

25∘C 10− 8M

6.0

https://dl.doubtnut.com/l/_QV4HGPsbkXHc
https://dl.doubtnut.com/l/_QwhGSRrJbPCH


D. 9.02

Answer: B

Watch Video Solution

181. mole of HCl is added to a buffer solution made up of

0.01 M acetic acid and 0.01 M sodium acetate. The final pH of the

buffer will be (given,  of acetic acid is 4.75 at  C)

A. 

B. 4.66

C. 4.75

D. 4.8

Answer: B

Watch Video Solution

1 × 10− 3

pKa 25∘

4.60

https://dl.doubtnut.com/l/_QwhGSRrJbPCH
https://dl.doubtnut.com/l/_A35oMHAdLycl


182. Which of the following has the highest pH

A. 0.1 M NaOH

B. 0.01 M NaOH

C. 0.1 M HCl

D. 

Answer: A

Watch Video Solution

0.1MCH3COOH

183. A buffer solution is prepared by mixing equal concentration

of acid (ionisation constant ) and a salt. The pH of buffer is

A. 

Ka

pKa + 7

https://dl.doubtnut.com/l/_A35oMHAdLycl
https://dl.doubtnut.com/l/_nmW3P8R1o2f5
https://dl.doubtnut.com/l/_QHU2RTeOGwBF


B. 

C. 

D. 

Answer: C

Watch Video Solution

14 − pKa

pKa

pKa + 1

184. A strong acid is titrated with weak base. At equivalence point,

pH will be :

A. 7

B. 

C. 

D. 

> 7

< 7

≈ 7

https://dl.doubtnut.com/l/_QHU2RTeOGwBF
https://dl.doubtnut.com/l/_O0fW9IR5Ifyq


Answer: C

Watch Video Solution

185. The pH of  M  is

A. 12

B. 12.3

C. 11.3

D. 2

Answer: B

Watch Video Solution

10− 2 Ca(OH)2

186. pH of  is (nearly)10− 8MHNO3

https://dl.doubtnut.com/l/_O0fW9IR5Ifyq
https://dl.doubtnut.com/l/_4lZQtxWVjXjL
https://dl.doubtnut.com/l/_gjVUpoEBi16m


A. 7

B. 6.96

C. 7.2

D. 6

Answer: B

Watch Video Solution

187. A solution has  as . This solution is

A. Neutral

B. Basic

C. Acidic

D. Amphoteric

[H3O
+ ] 10− 4

https://dl.doubtnut.com/l/_gjVUpoEBi16m
https://dl.doubtnut.com/l/_KA4Zghs7J8TJ


Answer: C

Watch Video Solution

188. Determine the pH of the solution that results from the

addition of 20.00 mL of 0.01 M Ca  to 30.00 mL of 0.01 M

HCI

A. 11.3

B. 10.53

C. 

D. 8.35

Answer: A

Watch Video Solution

(OH)2

2.70

https://dl.doubtnut.com/l/_KA4Zghs7J8TJ
https://dl.doubtnut.com/l/_iUCvSeduXeEz
https://dl.doubtnut.com/l/_3PZQOTADfTvw


189. What will be hydrogen ion concentration in moles  of

a solution, whose pH is 4.58

A. 

B. 

C. 4.68

D. None of these

Answer: A

Watch Video Solution

litre− 1

2.63 × 10− 5

3.0 × 10− 5

190. As the temperature increases, the pH of a KOH solution

A. Will decreases

B. Will increases

https://dl.doubtnut.com/l/_3PZQOTADfTvw
https://dl.doubtnut.com/l/_D3xKL6gCR2oH


C. Remains constant

D. Depends upon concentration of KOH solution

Answer: A

Watch Video Solution

191. A certain buffer solution sontains equal concentration of 

and . The  for  is . The of the buffer is

A. 3

B. 8

C. 11

D. 14

Answer: B

W t h Vid S l ti

X −

HX Ka HX 10− 8

https://dl.doubtnut.com/l/_D3xKL6gCR2oH
https://dl.doubtnut.com/l/_EEZeDtihwIWm


Watch Video Solution

192. A buffer solution with  is to be prepared by mixing 

 mole of . What will be the number of

moles of salt that should be added to one litre 

A. 3.4

B. 2.6

C. 1.5

D. 1.8

Answer: D

Watch Video Solution

pH = 9

NH4Cl  in 1.8 NH4OH

(Kb = 10− 5)

193. 100 ml of 0.04 N HCl aqueous solution is mixed with 100 ml of

0.02 N NaOH solution. The pH of the resulting solution is

https://dl.doubtnut.com/l/_EEZeDtihwIWm
https://dl.doubtnut.com/l/_47QQWYVjdZLq
https://dl.doubtnut.com/l/_UhO1YrC0sHAW


A. 

B. 1.7

C. 

D. 2.3

Answer: C

Watch Video Solution

1.0

2.0

194. Equivalent weight of an acid

A. Depends on the reaction involved

B. Depends upon the number of oxygen atoms present

C. Is always same

D. None of the above

https://dl.doubtnut.com/l/_UhO1YrC0sHAW
https://dl.doubtnut.com/l/_fOQL3vNZDGqv


Answer: A

Watch Video Solution

195. pH scale was introduced by :

A. Arrhenius

B. Sorensen

C. Lewis

D. Lowry

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fOQL3vNZDGqv
https://dl.doubtnut.com/l/_qaSm8aHeEQCK


196. A solution of weak acids is diluted by adding an equal volume

of water. Which of the following will not change

A. Strength of the acid

B. The value of 

C. pH of the solution

D. The degree of dissociation of acid

Answer: B

View Text Solution

[H3O
+ ]

197. Which of the following solutions can act as buffer

A. 0.1 molar aq. NaCl

B. 0.1 molar aq.  molar NaOHCH3COOH + 0.1

https://dl.doubtnut.com/l/_lCysuEWLl21l
https://dl.doubtnut.com/l/_Vit6yZKNnGO5


C. 0.1 molar aq. Ammonium acetate

D. None of the above

Answer: C

Watch Video Solution

198. What is the pH for a neutral solutions at the normal

temperature of the human body

A. 7.2

B. 

C. 6.8

D. 

Answer: C

W t h Vid S l ti

14.0

6.0

https://dl.doubtnut.com/l/_Vit6yZKNnGO5
https://dl.doubtnut.com/l/_o4U0Am1NLkbO


Watch Video Solution

199. Which solutions has the highest pH value

A. 1M KOH

B. 

C. Chlorine water

D. Water containing carbon dioxide

Answer: A

Watch Video Solution

1MH2SO4

200. If the pH of a solution of an alkali metal hydroxide is 13.6, the

concentration of hydroxide is

A. Between 0.1 M and 1M

https://dl.doubtnut.com/l/_o4U0Am1NLkbO
https://dl.doubtnut.com/l/_kXnw7tnf42Ax
https://dl.doubtnut.com/l/_k5lkgGE9ecdy


B. More than 1 M

C. Less than 0.001 M

D. Between 0.01 M and 1 M

Answer: A

Watch Video Solution

201. The pH of a 0.01 M solutions of acetic acid having degree of

dissociation 12.5% is

A. 5.623

B. 2.903

C. 3.723

D. 4.509

https://dl.doubtnut.com/l/_k5lkgGE9ecdy
https://dl.doubtnut.com/l/_JARkvqCOUYrV


Answer: B

Watch Video Solution

202. Which may be added to one litre of water to act as a buffer

A. One mole of  and 0.5 mole of NaOH

B. One mole of  and one mole of HCl

C. One mole of  and one mole of NaOH

D. One mole of  and one mole of HCl

Answer: A

Watch Video Solution

HC2H3O2

NH4Cl

NH4OH

HC2H3O2

203. A solutio of sodium borate has a pH of approximately

https://dl.doubtnut.com/l/_JARkvqCOUYrV
https://dl.doubtnut.com/l/_AAHtwQd4bxqm
https://dl.doubtnut.com/l/_7bqRtNRsBpAv


A. 

B. 

C. 

D. Between 4 to 5

Answer: B

Watch Video Solution

< 7

> 7

= 7

204. The dissociation constant of HCN is . The pH of the

solution prepared by mixing  mole of HCN and  moles of

KCN in water and making up the total volume to  is

A. 7.302

B. 9.302

C. 8.302

5 × 10− 10

1.5 0.15

0.5dm3

https://dl.doubtnut.com/l/_7bqRtNRsBpAv
https://dl.doubtnut.com/l/_spsSrbLco0Af


D. 10.302

Answer: C

Watch Video Solution

205. The hydrogen ion concentration of 0.1 N solution of

, which is 30% dissociated, is

A. 0.03

B. 

C. 0.3

D. 

Answer: A

Watch Video Solution

CH3COOH

3.0

30.0

https://dl.doubtnut.com/l/_spsSrbLco0Af
https://dl.doubtnut.com/l/_dHKlTTpCWM06


206. At  the  of water is 55 times its value at  .

What will be the pH of neutral solution ? 

(log 55=1.74 )

A. 

B. 7.87

C. 5.13

D. 6.13

Answer: D

Watch Video Solution

100∘C Kw 25∘C

7.00

207. The concentration of hydronium  ion in water is

A. Zero

(H3O
+ )

https://dl.doubtnut.com/l/_Wd46HbJMGP6n
https://dl.doubtnut.com/l/_cboch6dlZOqH


B.  gm ion /litre

C.  gm ion/litre

D.  gm ion/litre

Answer: D

Watch Video Solution

1 × 10− 7

1 × 10− 14

1 × 10− 7

208. The pH of a solution is the negative logarithm to the base 10

of its hydrogen ion concentration in

A. Moles per litre

B. Millimoles per litre

C. Micromoles per litre

D. Nanomoles per litre

https://dl.doubtnut.com/l/_cboch6dlZOqH
https://dl.doubtnut.com/l/_UNJR7JgEdBmA


Answer: A

Watch Video Solution

209. What will be the  of a solution formed by mixing  of 

 with  of ?

A. 12

B. 10

C. 8

D. 6

Answer: A

Watch Video Solution

pH 40ml

0.10MHCl 10ml 0.45MNaOH

https://dl.doubtnut.com/l/_UNJR7JgEdBmA
https://dl.doubtnut.com/l/_fdOX4WW6GMok


210. pH of NaCl solution is

A. 7

B. Zero

C. 

D. 

Answer: A

Watch Video Solution

> 7

< 7

211. In a solution of acid  concentration is . The pH of

this solution will be

A. 8

B. 6

H + 10− 10M

https://dl.doubtnut.com/l/_10VfkpEHoyDy
https://dl.doubtnut.com/l/_BJQzte4WKq0u


C. Between 6 and 7

D. Between 3 and 6

Answer: C

Watch Video Solution

212. The pH of blood is

A. 5.2

B. 6.3

C. 7.4

D. 8.5

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BJQzte4WKq0u
https://dl.doubtnut.com/l/_SkejbhjIm4he


213. A solution of sodium chloride in contact with atmosphere has

a pH of about

A. 3.5

B. 5

C. 7

D. 1.4

Answer: C

Watch Video Solution

214. The gatric juice in our stomach contains enough  to

make the hydrogen ion concentration about . The 

of gastric juice is

HCI

0.01mol− 1 pH

https://dl.doubtnut.com/l/_2hI2jBWvsk6M
https://dl.doubtnut.com/l/_v7Tgf8z3USgb


A. 0.01

B. 1

C. 2

D. 14

Answer: C

Watch Video Solution

215. The one which has the highest value of pH is

A. Distilled water

B.  solution in water

C. 

D. Water saturated with 

NH3

NH3

Cl2

https://dl.doubtnut.com/l/_v7Tgf8z3USgb
https://dl.doubtnut.com/l/_rxywi38twLEm


Answer: B

Watch Video Solution

216. In its 0.2 M solution, acid ionies to an extent of 60%. Its

hydrogen ion concentration is

A. 0.6 M

B. 0.2 M

C. 0.12 M

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rxywi38twLEm
https://dl.doubtnut.com/l/_h7tgPZ2ZzXb4


217. the addition of solid sodium carbonate to pure water causes

A. An increase in hydronium ion concentration

B. An increase in alkalinity

C. No change in acidity

D. A decrease in hydroxide ion concentration

Answer: B

Watch Video Solution

218. The pH value of  solution is less than 8

because

A. HCl is completely ionised at this concentration

B. the ionization of water is negligible

1.0 × 10− 8MHCl

https://dl.doubtnut.com/l/_xdZPDUUYYeSG
https://dl.doubtnut.com/l/_fvQMSede33wO


C. The ionization of water cannot be assumed to be negligible

in comparison with this low concentration of HCl

D. The pH cannot be calculated at such a low concentraion of

HCl

Answer: C

Watch Video Solution

219. To obtain a buffer wich should be suitable for maintaining a

pH of about 4-5, we need to have in solution, a mixture of

A. A strong base + its salt with a weak acid

B. A weak base + its salt with a strong acid

C. A strong acid + its salt with a weak base

D. A weak acid + its salt with a strong base

https://dl.doubtnut.com/l/_fvQMSede33wO
https://dl.doubtnut.com/l/_5WjMAE4sm2Eh


Answer: D

Watch Video Solution

220. Which solution contains maximum number of  ion

A. 0.1 M HCl

B. 

C. 

D. 

Answer: A

Watch Video Solution

H +

0.1MNH4Cl

0.1MNaHCO3

0.1MCH3COOH

https://dl.doubtnut.com/l/_5WjMAE4sm2Eh
https://dl.doubtnut.com/l/_QCf0Pq2eJthn


221. Which of the following does not make any change in pH when

added to 10 mL dilute HCl

A. 5 ml pure water

B. 20 ml pure water

C. 10 ml HCl

D. Same 20 ml dilute HCl

Answer: D

Watch Video Solution

222. The pH of 0.1 M acetic acid is 3, the dissociation constant of

acid will be

A. 1.0 × 10− 4

https://dl.doubtnut.com/l/_qZzWWUZCgN3Q
https://dl.doubtnut.com/l/_WHEkMwe3ck6P


B. 

C. 

D. 

Answer: B

Watch Video Solution

1.0 × 10− 5

1.0 × 10− 3

1.0 × 10− 8

223. Assertion : pH of hydrochloric acid solution is less than that

of acetic acid solution of the same concentration . 

Reason : In equimolar solutions, the number of titrable protons

present in hydrochloric acid is less than that present in acetic

acid.

A. If both assertion and reason are true and reason is the

correct explanation of the assertion

https://dl.doubtnut.com/l/_WHEkMwe3ck6P
https://dl.doubtnut.com/l/_4b4Rt6NWAF9m


B. If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: C

Watch Video Solution

224. Assertion: The  of acetic acid is lower than that of

phenol. 

Reason : Phenoxide ion is more resonance sabilised.

A. If both assertion and reason are true and reason is the

correct explanation of the assertion

pKa

https://dl.doubtnut.com/l/_4b4Rt6NWAF9m
https://dl.doubtnut.com/l/_APp3H4sYLb0C


B. If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

Watch Video Solution

225. Assertion : NaCl is precipitated when HCl gas is passed in a

saturated solution of NaCl. 

Reason : HCl is strong acid.

A. If both assertion and reason are true and reason is the

correct explanation of the assertion

https://dl.doubtnut.com/l/_APp3H4sYLb0C
https://dl.doubtnut.com/l/_rMMs8EtqXaLD


Critical thinking (Objective question )

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: B

Watch Video Solution

1. For a weak acid HA with dissociation constant , POH of its

0.1 M solutions is

A. 9

B. 3

10− 9

https://dl.doubtnut.com/l/_rMMs8EtqXaLD
https://dl.doubtnut.com/l/_CsUFKCvjBON5


C. 11

D. 10

Answer: D

View Text Solution

2. Total number of moles for the reaction . If  is

degree of dissociation is , if intial mole of HI = 1.

A. 2

B. 

C. 1

D. 

Answer: A

W t h Vid S l ti

2Hl → H2 + I2 α

2 − α

1 − α

https://dl.doubtnut.com/l/_CsUFKCvjBON5
https://dl.doubtnut.com/l/_ee3uHAzYxK8S


Watch Video Solution

3. The concentration of  and concentration of  of a 

 aqueous solution of  ionised weak acid is [Ionic product

of water ]

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

[H + ] [OH − ]

0.1 2 %

= 1 × 10− 14

2 × 10− 3M 5 × 10− 12M

1 × 103 3 × 10− 11M

0.02 × 10− 3M 5 × 10− 11M

3 × 10− 2M 4 × 10− 13M

4. A base dissolved in water yields a solution with a hydroxide ion

concentration of . The solution is0.05mollitre− 1

https://dl.doubtnut.com/l/_ee3uHAzYxK8S
https://dl.doubtnut.com/l/_ZoZeMc9XcW3L
https://dl.doubtnut.com/l/_na3sHe1YgOWp


A. Basic

B. Acid

C. Neutral

D. Either (b) or (c)

Answer: A

Watch Video Solution

5. Solubility of  at  is . The

solubility product of  is

A. 

B. 

C. 

D. 

AgCl 20∘C 1.435 × 10− 3gperlitre

AgCl

1 × 10− 5

1 × 10− 10

1.435 × 10− 5

108 × 10− 3

https://dl.doubtnut.com/l/_na3sHe1YgOWp
https://dl.doubtnut.com/l/_WiRYy8zGCGNc


Answer: B

Watch Video Solution

6. Which one of the following compounds is not a protoric acid?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SO2(OH)2

B(OH)3

PO(OH)3

SO(OH)2

https://dl.doubtnut.com/l/_WiRYy8zGCGNc
https://dl.doubtnut.com/l/_LZVjznErCvq6


7. If pH of a saturated solution of  is 12, the value of its 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ba(OH)2

K (SP )

5.00 × 10− 7M − 3

4.00 × 10− 6M 3

4.00 × 10− 7M 3

5.00 × 10− 6M 3

8. In qualitative analysis, the metals of group I can be separated

from other ions by precipitating them as chloride salts. A solution

initially contains  at a concentration of 0.10M.

Aqueous HCl is added to this solution until be  concentration

Ag+  and Pb+

Cl−

https://dl.doubtnut.com/l/_wx9xEZnDYcch
https://dl.doubtnut.com/l/_C3q7jcClWHil


is 0.10M. What will be concentration of  be at

equilibrium ? 

(  


)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ag+  and Pb2 +

Ksp  for AgCl = 1.8 × 10− 10

Ksp  for PbCl2 = 1.7 × 10− 5

[Ag+ ] = 1.8 × 10− 9M, [Pb2 + ] = 1.7 × 10− 3M

[Ag+ ] = 1.8 × 10− 11M, [Pb2 + ] = 1.7 × 10− 4M

[Ag+ ] = 1.8 × 10− 7M, [Pb2 + ] = 1.7 × 10− 6M

[Ag+ ] = 1.8 × 10− 11M, [Pb2 + ] = 1.7 × 10− 5M

9. Acidity of diprotic acids in aqueous solutions increases in the

order

https://dl.doubtnut.com/l/_C3q7jcClWHil
https://dl.doubtnut.com/l/_DOezF7JAGIip


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2Te < H2S < H2Se

H2Se < H2Te < H2S

H2S < H2Se < H2Te

H2Se < H2S < H2Te

10. Which equilibrium can be described as an acid- base reaction

using the Lewis acid-base definition but not using the Bronsted-

Lowry definition

A. 

B. 

C. 

2NH3 + H2SO4 ⇔ 2NH
+

4 + SO
2 −
4

NH3 + CH3COOH ⇔ NH
+

4 + CH3COO
−

H2O + CH3COOH ⇔ H3O
+ + CH3COO

−

https://dl.doubtnut.com/l/_DOezF7JAGIip
https://dl.doubtnut.com/l/_mJTlUP9zfFun


D. 

Answer: D

Watch Video Solution

[Cu(H2O)4]
2 +

+ 4NH3 ⇔ [Cu(NH3)4]
2 −

+ 4H2O

11. Given 

 


Which of the following reaction is correct

A. 

B. 

C. 

D. 

Answer: C

HF + H2O
Ka

−−→ H3O
+ + F −

F − + H2O
Kb

−−→ HF + OH −

Kb = Kw

Kb =
1

Kw

Ka × Kb = Kw

= Kw

Ka

Kb

https://dl.doubtnut.com/l/_mJTlUP9zfFun
https://dl.doubtnut.com/l/_XIwDCw1ynthI


View Text Solution

12. The solubility of  is  at . The  value for

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CuBr 2 × 10− 4 25∘C Ksp

CuBr

4 × 10− 8mol2l− 2

4 × 10− 11mol2L− 1

4 × 10− 4mol2l− 2

4 × 10− 15mol2l− 2

13. The  of a solution at  containing  sodium

acetate and  acetic acid is (  for )

pH 25∘C 0.10M

0.03M pKa CH3COOH = 4.57

https://dl.doubtnut.com/l/_XIwDCw1ynthI
https://dl.doubtnut.com/l/_iMSfTOCxUTm1
https://dl.doubtnut.com/l/_5Ov759MqcbSL


A. 4.09

B. 5.09

C. 6.1

D. 7.09

Answer: B

Watch Video Solution

14. Which one of the following is not a buffer solution ?

A. 

B. 

C. 

D. 

0.8MH2S + 0.8MKHS

2MC6H5NH2 + 2MC6H5

+
NH3Br

3MH2CO3 + 3MKHCO3

0.05MKClO4 + 0.05MHClO4

https://dl.doubtnut.com/l/_5Ov759MqcbSL
https://dl.doubtnut.com/l/_Q9SSkIXX838Q


Answer: D

Watch Video Solution

15. What is the pH of 0.01 M glycine solution? For glycine

 and  at 298 K

A. 

B. 

C. 6.1

D. 7.2

Answer: C

Watch Video Solution

Ka1 = 4.5 × 10− 3 Ka2 = 1.7 × 10− 10

3.0

10.0

https://dl.doubtnut.com/l/_Q9SSkIXX838Q
https://dl.doubtnut.com/l/_7EOTJG4jHnPI


16. , Heat of neutralisation of  and

NaOH will be

A. Less than 2X

B. Less tha X

C. X

D. Between X and 2X

Answer: B

Watch Video Solution

ΔHf(H2O) = X CH3COOH

17.  of an electrolyte AB is , which

concentration of  will not give precipitate of AB

A. 

Ksp 1 × 10− 10. [A+ ] = 10− 5m

B−

5 × 10− 6

https://dl.doubtnut.com/l/_PHKrbZAHPNQN
https://dl.doubtnut.com/l/_Pq0bfpFX1Kb9


B. 

C. 

D. 

Answer: A

Watch Video Solution

1 × 10− 5

2 × 10− 5

5 × 10− 5

18. If solubility product of  is , then its

solubility is

A.  mole/litre

B.  mole/litre

C.  mole/litre

D.  mole/litre

HgSO4 6.4 × 10− 5

8 × 10− 3

6.4 × 10− 5

6.4 × 10− 3

2.8 × 10− 6

https://dl.doubtnut.com/l/_Pq0bfpFX1Kb9
https://dl.doubtnut.com/l/_N1bvLJXS6xxZ


Answer: A

Watch Video Solution

19. One litre of water contains  mole  ions. Degree of

ionisation of water is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

10− 7 H +

1.8 × 10− 7 %

0.8 × 10− 9 %

3.6 × 10− 7 %

3.6 × 10− 9 %

https://dl.doubtnut.com/l/_N1bvLJXS6xxZ
https://dl.doubtnut.com/l/_uakgM4WKLQsW


20. If the solubility product of lead iodide  is ,

then its solubility in moles/litre will be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(Pbl2) 3.2 × 10− 8

2 × 10− 3

4 × 10− 4

1.6 × 10− 5

1.8 × 10− 5

21. At 298 K, 0.1 M solution of acetic acid is  ionised . What

is the ionisation constant  for the acid ?

A. 

1.34 %

(Ka)

1.82 × 10− 5

https://dl.doubtnut.com/l/_pLzliATrzPLJ
https://dl.doubtnut.com/l/_hC6evwFIgPKI


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

18.2 × 10− 5

0.182 × 10− 5

22. Which of the following is Lewis acid

A. S

B. 

C. 

D. All of these

Answer: D

:CH2

(CH3)3B

https://dl.doubtnut.com/l/_hC6evwFIgPKI
https://dl.doubtnut.com/l/_CNr36991hliK


View Text Solution

23. The solubility product of  is . What is the

solubility of 

A.  mole/litre

B.  mole/litre

C.  mole/litre

D.  mole/litre

Answer: A

Watch Video Solution

As2S3 2.8 × 10− 72

As2S3

1.09 × 10− 15

1.72 × 10− 15

2.3 × 10− 16

1.65 × 10− 36

24. The solubility product  of the following compounds are

given at  


(Ksp)

25∘C

https://dl.doubtnut.com/l/_CNr36991hliK
https://dl.doubtnut.com/l/_pEPt8zjZWljv
https://dl.doubtnut.com/l/_RtWud96WjUz6


 


The most soluble and least soluble compound are respectively

A. AgCl and 

B. Agl and 

C. AgCl and 

D.  and Agl

Answer: D

Watch Video Solution

Compound Ksp

AgCl 1.1 × 10− 10

Agl 1.0 × 10− 16

PbCrO4 4.0 × 10− 14

Ag2CO3 8.0 × 10− 12

PbCrO4

Ag2CO3

Ag2CO3

Ag2CO3

25. Which is nucleophile

A. BF3

https://dl.doubtnut.com/l/_RtWud96WjUz6
https://dl.doubtnut.com/l/_HvVrvV79u98S


B. 

C. 

D. 

Answer: B

Watch Video Solution

NH3

BeCl2

H2O

26. What is the  of a  a solution  of acetic

acid ? 


A. 9.4

B. 4.8

C. 3.6

D. 2.4

pH 1MCH3COOH Ka

= 1.8 × 10− 5

K = 10− 14mol2litre− 2

https://dl.doubtnut.com/l/_HvVrvV79u98S
https://dl.doubtnut.com/l/_20yHkrxdj4Cc


Answer: A

Watch Video Solution

27. If a neutral solution has  at , then pH of the

solution is

A. 

B. 7.13

C. 

D. 6.63

Answer: D

Watch Video Solution

pKw = 13.36 50∘C

7.0

6.0

https://dl.doubtnut.com/l/_20yHkrxdj4Cc
https://dl.doubtnut.com/l/_jOl06MeaMJI9


28. The Bronsted acids in the reversible reaction are

A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

HCO−
3 (aq. ) + OH − (aq. )CO2 −

3 (aq. ) + H2O

OH − CO2 −
3

OH − H2O

HCO−
3 H2O

HCO−
3 CO2 −

3

29. If the solubility product of , and  are 

 and  respectively, the relationship between

the solubility of these salts can be correctly represented as

AgBrO3 AgSO4

5.5 × 10− 5 2 × 10− 5

https://dl.doubtnut.com/l/_l9Sa8XNTKsYu
https://dl.doubtnut.com/l/_RaRJYomNF3KW


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SAgBrO3
> SAg2SO4

SAgBrO3
< SAg2SO4

SAgBrO3
= SAg2SO4

SAgBrO3
≈ SAg2SO4

30. Which of the following is the strongest acid

A. 

B. 

C. 

D. 

SO(OH)2

SO2(OH)2

CIO3(OH)

PO(OH)3

https://dl.doubtnut.com/l/_RaRJYomNF3KW
https://dl.doubtnut.com/l/_F4aupnDzGZMu


Answer: C

Watch Video Solution

31. The degree of hydrolysis of a salt of weak acid and weak base

in its 0.1 M solution is 0.2 M, the precentage hydrolysis of the salt

should be

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

50 %

35 %

75 %

100 %

https://dl.doubtnut.com/l/_F4aupnDzGZMu
https://dl.doubtnut.com/l/_EDjDT7rsLiLB
https://dl.doubtnut.com/l/_L3ZotziQNxR7


32. In the equilibrium

. The degree of

hydrolysis of  solution of the salt is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A− + H2O ⇔ HA + OH − (Ka = 1.0 × 10− 5)

0.001M

10− 3

10− 4

10− 5

10− 6

33. The  of Agl is . On mixing equal volumes of

the following solutions, precipitation will occur only with

A.  and 

KSP 1.5 × 10− 16

10− 7MAg+ 10− 19MI −

https://dl.doubtnut.com/l/_L3ZotziQNxR7
https://dl.doubtnut.com/l/_7VHAjLyODPrH


B.  and 

C.  and 

D.  and 

Answer: B

View Text Solution

10− 8MAg+ 10− 8MI − 1

10− 16MAg+ 10− 16MI − 1

10− 9MAg+ 10− 9MI − 1

34. The charge balance equation of species in 0.100 M acetic

solution is given by

A. 

B. 

C. 

D. 

[H + ] = [OH − ]

[H + ] = [CH3COO
− ]

[H + ] = [OH − ] + [CH3COO
− ]

2[H + ] = [OH − ] + [CH3COO
− ]

https://dl.doubtnut.com/l/_7VHAjLyODPrH
https://dl.doubtnut.com/l/_lEngpa3F5BhW


Answer: D

Watch Video Solution

35. The pH of a solution prepared by mixing 2.0 mL of HCI solution

of pH 3.0 and 3.0 mL of NaOH of pH 10.0 is

A. 2.5

B. 3.5

C. 5.5

D. 6.5

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_lEngpa3F5BhW
https://dl.doubtnut.com/l/_rk3JT3qqqylE


36. Order of the base strength of the compounds 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

iv > iii > i > ii

iii > ii > iv > i

ii > iii > iv > i

ii > iii > i > iv

37. The relative basic character of the following is

https://dl.doubtnut.com/l/_9DXvgR6L6pTQ
https://dl.doubtnut.com/l/_bQCjp63xxG9O


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CIO− < CIO−
2 < CIO−

3 < CIO
−
4

CIO
−
4 < CIO−

3 < CIO−
2 < CIO−

CIO−
3 < CIO

−
4 < CIO−

2 < CIO−

CIO−
2 < CIO− < CIO−

3 < CIO
−
4

38. For a diprotic acid, which of the following is true for  and 

 ionization constants (  and )

A. 

B. 

C. 

D. 

1st

2nd Ka1 Ka2

Ka1 = Ka2

Ka1 > Ka2

Ka2 > Ka1

Ka2 ≥ Ka1

https://dl.doubtnut.com/l/_bQCjp63xxG9O
https://dl.doubtnut.com/l/_r9Y9DQUXZHeK


Answer: B

Watch Video Solution

39. At  the solubility of  would

be gretest in one litre of:

A. 

B. 

C. Pure water

D. 

Answer: C

Watch Video Solution

30∘C Ag2CO3(KSP = 8 × 10− 12)

0.05MNa2CO3

0.05MAgNO3

0.05MNH3

https://dl.doubtnut.com/l/_r9Y9DQUXZHeK
https://dl.doubtnut.com/l/_nAltrwftrSQ3


40. The dissocication constant of a weak acid is , the

equilibrium constant for the reaction with strong base is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.0 × 10− 5

1.0 × 10− 5

1.0 × 10− 9

1.0 × 109

1.0 × 1014

41. What is  in a solution that is 0.01 M in HCn and 0.02 M in

NaCN ? 

 for HCN 

[H + ]

(Ka 6.2 × 10− 10)

https://dl.doubtnut.com/l/_I7lS3hLAyb0U
https://dl.doubtnut.com/l/_67q6A8Lk4cXd


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3.1 × 1010

6.2 × 105

6.2 × 10− 10

3.1 × 10− 10

42. The pH of a soft drink is 3.82. Its hydrogen ion concentration

will be

A.  mol/l

B.  mol/l

C.  mol/l

D.  mol/l

1.96 × 10− 2

1.96 × 10− 3

1.5 × 10− 4

1.96 × 10− 1

https://dl.doubtnut.com/l/_67q6A8Lk4cXd
https://dl.doubtnut.com/l/_yNoOB4t2HP8u


Answer: C

Watch Video Solution

43. If the solubility products of AgCl and AgBr are 

and  respectively, then the relation between the

solubilities (denoted by the symbol'S') of these

A. S of AgBr is less than that of AgCl

B. S of AgBr is greater than that of AgCl

C. S of AgBr is equal to that of AgCl

D. S of AgBr is  times greater than that of AgCl

Answer: A

Watch Video Solution

1.2 × 10− 10

3.5 × 10− 13

106

https://dl.doubtnut.com/l/_yNoOB4t2HP8u
https://dl.doubtnut.com/l/_AAk3AzFnjmJq
https://dl.doubtnut.com/l/_QKhaGfitldhB


44. pH of a solution produced when an aqueous soution of

 is mixed with an equal volume of an aqueous solution of 

 is about 

A. 3.3

B. 4.3

C. 

D. 4.5

Answer: A

Watch Video Solution

pH = 6

pH = 3 :

4.0

45. In which of the reactions, the enthalpy is the least

A. 

B. 

CH3COOH + NaOH ⇒ CH3COONa + H2O

HCl + NH4OH ⇒ NH4Cl + H2O

https://dl.doubtnut.com/l/_QKhaGfitldhB
https://dl.doubtnut.com/l/_dm5H4793ytMe


C. 

D. 

Answer: C

View Text Solution

HCl + NaOH ⇒ NaCl + H2O

HCN + NH4OH → NH4CN + H2O

46. On increasing the temperature, the pKw

A. Increase

B. Decrease

C. Remains constant

D. May increase or decrease

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dm5H4793ytMe
https://dl.doubtnut.com/l/_t72lv6JADRnC


47. Determine the hydrogen ion concentration in  M solution

of HCN , if its dissociation constant is .

A.  mole/litre

B.  mole/litre

C.  mole/litre

D. None of these

Answer: B

Watch Video Solution

1.0

4.0 × 10− 10

4 × 10− 14

2 × 10− 5

2.5 × 10− 5

48. Which one is a Lewis acid

A. 

B. 

CIF3

H2O

https://dl.doubtnut.com/l/_n7yQi3vhUSTr
https://dl.doubtnut.com/l/_cef4Amoazb0Q


C. 

D. None of these

Answer: A

View Text Solution

NH3

49. An aqueous solution of ammonium acetate is

A. Faintly acidic

B. Faintly basic

C. Fairly acidic

D. Almost neutral

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cef4Amoazb0Q
https://dl.doubtnut.com/l/_qf4zeqemLgx5


50. Increasing order of acidic character would be

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

CH3COOH < H2SO4 < H2CO3

CH3COOH < H2CO3 < H2SO4

H2CO3 < CH3COOH < H2SO4

H2SO4 < H2CO3 < CH3COOH

51. Electrophiles are

A. Lewis acids

B. Lewis base

C. Bronsted acid

https://dl.doubtnut.com/l/_ew0rTu98xBKS
https://dl.doubtnut.com/l/_He7oaxyXRELT


D. Bronsted base

Answer: A

View Text Solution

52. The dissociation constant of two acids  are 

 respectively . The relative

strength of the acids will be approximately

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HA1  and HA2

3.14 × 10− 4  and 1.96 × 10− 5

1: 4

4: 1

1: 16

16: 1

https://dl.doubtnut.com/l/_He7oaxyXRELT
https://dl.doubtnut.com/l/_q0cxqRaEw1L0


53. The molar solubility ( in mol  of a sparingly soluble salt 

 is . The corresponding solubility product  is

given in terms of  by the relation

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

L− 1)

MX4 ' s' Ksp, ' s'

Ksp

s = (256Ksp)1 / 5

s = (128Ksp)1 / 4

s = (Ksp /128)1 / 4

s = ( )
1 / 5Ksp

256

54. In an aqueous solution the ionisation constants for carbonic

acid are . Select theK1 = 4.2 × 10− 7 and K2 = 4.8 × 10− 11

https://dl.doubtnut.com/l/_q0cxqRaEw1L0
https://dl.doubtnut.com/l/_phxVbsvF3WHA
https://dl.doubtnut.com/l/_O3LanSPmzx28


correct statement for a saturated 0.034 M solution of the

carbonic acid.

A. The concentration of  is double that of 

B. The concentration of  is 0.034 M

C. The concentration of  is greater than that of 

D. The concentration of  and  are approximately

equal

Answer: D

Watch Video Solution

H + CO2 −
3

CO2 −
3

CO2 −
3 HCO−

3

H + HCO−
3

55. A 0.1 N solution of an acid at room temperature has a degree

of ionisation 0.1. The concentration of  would be

A. 

OH −

10− 12M

https://dl.doubtnut.com/l/_O3LanSPmzx28
https://dl.doubtnut.com/l/_NDvUS1QmYE7z


B. 

C. 

D. 

Answer: A

Watch Video Solution

10− 11M

10− 9M

10− 2M

56. If 50 ml of 0.2 M KOH is added to 40 ml of 0.5 M HCOOH, the

pH of the resulting solution is 

A. 3.4

B. 7.5

C. 5.6

D. 3.75

(Ka = 1.8 × 10− 4)

https://dl.doubtnut.com/l/_NDvUS1QmYE7z
https://dl.doubtnut.com/l/_NGmO9kOrZTDo


Answer: A

View Text Solution

57. The correct order of decreasing acidic nature of

 and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O, ROH, HC ≡ CH NH3)

CH ≡ CH > H2OROH > NH3

H2O > ROH > CH ≡ CH > NH3

ROH > NH3 > CH ≡ CH > H2O

H2O > ROH > NH3 > CH ≡ CH

https://dl.doubtnut.com/l/_NGmO9kOrZTDo
https://dl.doubtnut.com/l/_TW0Fsx9gM83A


58.  values of two acids. A and B are 4 and 5. The strengths of

these two acids are related as

A. Acid A is 10 times stronger than acids B

B. Strength of acid A : strength of acid B = 4:5

C. The strengths of the two acids can not be compared

D. Acid B is 10 times stronger than acid A

Answer: A

Watch Video Solution

pKa

59. If for a binary weak electrolyte the solubility product is

 at 298K.Calculate its solubility is mol  at the

same temperature

4 × 10− 10 dm− 3

https://dl.doubtnut.com/l/_nxm4V0sBJO5N
https://dl.doubtnut.com/l/_xhNGoPSxqBqd


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4 × 10− 5

2 × 10− 5

8 × 10− 10

16 × 10− 20

60. Hydrogen ion concentration of an aqueous solution is

. The solution is diluted with equal volume of water.

Hydroxyl ion concentration of the resultant solution in terms of

mol  is

A. 

B. 

1 × 10− 4M

dm− 3

1 × 10− 8

1 × 10− 6

https://dl.doubtnut.com/l/_xhNGoPSxqBqd
https://dl.doubtnut.com/l/_nxNjyoVxdsDy


C. 

D. 

Answer: C

Watch Video Solution

2 × 10− 10

0.5 × 10− 10

61. Heat of neutralisation of weak acid and strong base is less

than the heat of neutralisation of strong acid and strong base

due to

A. Energy has to be spent for the total dissociation of weak

acid

B. Salt of weak acid and strong base is not stable

C. Incomplete dissociation of weak acid

D. Incomplete neutralisation of weak acid

https://dl.doubtnut.com/l/_nxNjyoVxdsDy
https://dl.doubtnut.com/l/_oYg6B5jpDYt1


Answer: A

Watch Video Solution

62. 1 dm3 solution containing  moles each of  ions and 

 ions is treated with  moles of silver nitrate. Which

one of the following observation is made?

A. Precipitation does not occur

B. Silver chromate gets precipitated first

C. Silver chloride gets precipitated first

D. Both silver chromate and silver chloride start precipitation

simultaneously

Answer: C

10− 5 Cl−

CrO
2 −
4 10− 4

[KspAg2CrO4 = 4 × 10− 12], [KspAgCl = 1 × 10− 10]

https://dl.doubtnut.com/l/_oYg6B5jpDYt1
https://dl.doubtnut.com/l/_HfPQzAbmJ6FT


Watch Video Solution

63. A weak acid of dissociation constant  is being titrated

with aqueous NaOH solution . The pH at the point of one third of

neutralization of the acid will be

A. 

B. 5 - log 2

C. 5 - log 3

D. 5 - log 6

Answer: B

Watch Video Solution

10− 5

5 + log 2 − log 3

https://dl.doubtnut.com/l/_HfPQzAbmJ6FT
https://dl.doubtnut.com/l/_MMLKj5GmFzDr


64.  for  is . What is its solubility in

moles/litre

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ksp Cr(OH)3 2.7 × 10− 31

1 × 10− 8

8 × 10− 8

1.1 × 10− 8

0.18 × 10− 8

65. In the given reaction, the oxide of sodium is ........

A. Acidic

[
4Na + O2 → 2Na2O

Na2O + H2O → 2NaOH
]

https://dl.doubtnut.com/l/_yOjA7aCKLAfU
https://dl.doubtnut.com/l/_oT1eIqfqyNT6


B. Basic

C. Amphoteric

D. Neutral

Answer: B

Watch Video Solution

66.  of  is 4.74 . The pH of 0.01 M  IS

A. 8.37

B. 4.37

C. 4.74

D. 0.474

Answer: A

pKa CH3COOH CH3COONa

https://dl.doubtnut.com/l/_oT1eIqfqyNT6
https://dl.doubtnut.com/l/_50Se7IHZYm3F


Watch Video Solution

67.  ionises in aqueous medium as

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

NH4HF2

NH4HF +F −

NH
+

4 HF −
2

NH3HF −H +

NH4F
−

2 H +

68. Calculate the hydrolysis constant of the salt containing .

Given the 

A. 

NO−
2

Ka  for HNO2 = 4.5 × 10− 10

2.22 × 10− 5

https://dl.doubtnut.com/l/_50Se7IHZYm3F
https://dl.doubtnut.com/l/_FG1HlPU1XOVv
https://dl.doubtnut.com/l/_rG0OgbCLw4C0


B. 

C. 

D. 

Answer: A

Watch Video Solution

2.02 × 105

4.33 × 10− 4

3.03 × 10− 5

69. Arrange the acids (I)  in the

decreasing order of acidity

A. 

B. 

C. 

D. 

H2SO3(II)H3PO3(III)HClO3

I > III > II

I > II > III

II > III > I

III > I > II

https://dl.doubtnut.com/l/_rG0OgbCLw4C0
https://dl.doubtnut.com/l/_o3dNCa6mTd2A


Answer: D

Watch Video Solution

70. Calculate the amount of  in grams which must be

added to 500 ml of 0.200 M  to yield a solution with pH =

9.35 (  for )

A. 10.56 gm

B. 15 gm

C. 12.74 gm

D. 16.25 gm

Answer: A

View Text Solution

(NH4)SO4

NH3

Kb NH3 = 1.78 × 10− 5

https://dl.doubtnut.com/l/_o3dNCa6mTd2A
https://dl.doubtnut.com/l/_JErVC4Q3TIgG
https://dl.doubtnut.com/l/_0kiXmCBC81zj


71. The correct order of increasing  in the following

aqueous solution is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[H3O
+ ]

0.01MH2S < 0.01MH2SO4 < 0.01MNaCl < 0.01MNaNO2

0.01MNaCl < 0.01MNaNO2 < 0.01MH2S < 0.01MH2SO4

0.01MNaNO2 < 0.01MNaCl < 0.01MH2S < 0.01MH2SO4

0.01MH2S < 0.01MNaNO2 < 0.01MNaCl < 0.01MH2SO4

https://dl.doubtnut.com/l/_0kiXmCBC81zj
https://dl.doubtnut.com/l/_3K4p2yeRSi1o


72. Self-ionisation of liquid ammonia occurs as,

. In this solvent, an acid

might be

A. 

B. 

C. Any species that will form 

D. All of these

Answer: A

View Text Solution

2NH3 → NH
+

4 + NH −
2 , K = 10− 10

NH
+

4

NH3

NH
+

4

73. The number of moles of hydroxide  ion in 0.3 litre of

0.005 M solution of  is

A. 0.005

(OH − )

Ba(OH)2

https://dl.doubtnut.com/l/_3K4p2yeRSi1o
https://dl.doubtnut.com/l/_jcijhZVPaJVZ


B. 0.003

C. 0.0015

D. 0.0075

Answer: B

Watch Video Solution

74. The ionization constant of a phenol is higher than that of

ethanol because

A. Phenoxide ion is bulkier than ehtoxide

B. Phenoxide ion is stronger base than ethoxide

C. Phenoxide ion is stabilised through delocalisation

D. Phenoxide ion is less stable than ethoxide

https://dl.doubtnut.com/l/_jcijhZVPaJVZ
https://dl.doubtnut.com/l/_gYNs61szCO0K


Answer: C

Watch Video Solution

75. The pH of 0.1 M solution of a weak acid  is 4.50. It is

neutralised with certain ammount of  solution to decrease

the acid content to half of initial value. Calculate the pH of the

resulting solution.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(HA)

NaOH

4.50

8.00

7.00

10.00

https://dl.doubtnut.com/l/_gYNs61szCO0K
https://dl.doubtnut.com/l/_TOtSlfbjU45h


76. A weak acid is 0.1% ionised in 0.1 M solution. Its pH is

A. 2

B. 3

C. 4

D. 1

Answer: C

Watch Video Solution

77. Autoprotolysis constant of  is

A. 

B. 

NH3

[NH
+

4 ][NH3]

[NH −
2 ][NH3]

https://dl.doubtnut.com/l/_TOtSlfbjU45h
https://dl.doubtnut.com/l/_jY568kJHP5mp
https://dl.doubtnut.com/l/_8VCcJZdBWBPQ


C. 

D. 

Answer: C

View Text Solution

[NH
+

4 ][NH −
2 ]

[NH +
4 ]

[NH −
2 ]

78. The sulphide ion concentration  in saturated 

solution is . Which of the following sulphides should be

quantitatively precipitated by  in the presence of dil. HCl 


A. I, II

B. III, IV

[S2 − ] H2S

1 × 10− 22

H2S

Sulphide Solubility Product

(I) 1.4 × 10− 16

(II) 1.2 × 10− 22

(III) 8.2 × 10− 46

(IV) 5.0 × 10− 34

https://dl.doubtnut.com/l/_8VCcJZdBWBPQ
https://dl.doubtnut.com/l/_0Mwea4I871cc


JS Jee Section (Only one choice correct answer)

C. II, III, IV

D. Only I

Answer: B

View Text Solution

1. Which of the following is the weakest base?

A. NaOH

B. 

C. 

D. KOH

Ca(OH)2

NH4OH

https://dl.doubtnut.com/l/_0Mwea4I871cc
https://dl.doubtnut.com/l/_oF6k15jShgbx


Answer: C

Watch Video Solution

2. Molten sodium chloride conducts electricity due to the

presence of

A. Free electrons

B. Free ions

C. Free molecules

D. Atoms of sodium and chlorine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_oF6k15jShgbx
https://dl.doubtnut.com/l/_O8WumR0v2Hoz


3. The pH of a  molar solution of HCl in water is

A. 8

B. 

C. Between 7 and 8

D. Between 6 and 7

Answer: D

Watch Video Solution

10− 8

−8

4. Of the given anions, the strongest Bronsted base is

A. 

B. 

C. 

ClO−

ClO−
2

ClO−
3

https://dl.doubtnut.com/l/_Q2q4bFAqy9NK
https://dl.doubtnut.com/l/_un9UJZE928Iv


D. 

Answer: A

Watch Video Solution

ClO
−
4

5. At , pure water has . What is the value

of  at 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

90∘C [H3O
⊕ ] = 10− 6M

Kw 90∘C

10− 6

10− 12

10− 14

10− 8

https://dl.doubtnut.com/l/_un9UJZE928Iv
https://dl.doubtnut.com/l/_S5octJNhZtto


6. The precipitate of  is obtained when

equal volumes of the following are mixed

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CaF2(Ksp = 1.7 × 10− 10)

10− 4MCa2 + + 10− 4MF −

10− 2MCa2 + + 10− 3MF −

10− 5MCa2 + + 10− 3MF −

10− 3MCa2 + + 10− 5MF −

7. A certain weak acid has a dissocation constant of .

The equilibrium constant for its reaction with a strong base is

A. 

1.0 × 10− 4

1.0 × 10− 4

https://dl.doubtnut.com/l/_ep6cKNO3TbLs
https://dl.doubtnut.com/l/_ZaD4akqOFoGM


B. 

C. 

D. 

Answer: C

Watch Video Solution

1.0 × 10− 10

1.0 × 1010

1.0 × 1014

8. A certain buffer solution contains equal concentration of 

and HX. The  for  is . The pH of the buffer is:

A. 4

B. 7

C. 10

D. 14

X −

Kb X − 10− 10

https://dl.doubtnut.com/l/_ZaD4akqOFoGM
https://dl.doubtnut.com/l/_34F390HYbXnx


Answer: A

Watch Video Solution

9. The best indicator for detection of end point in titration of a

weak acid and a strong base is

A. Methyl orange (3 to 4)

B. Methyl red (5 to 6)

C. Bromothymol blue (6 to 7.5)

D. Phenolphthalein (8 to 9.6)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_34F390HYbXnx
https://dl.doubtnut.com/l/_SWjzfKZPuFH0


10. The compound that is not a Lewis acids is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

BF3

AlCl3

BeCl2

SnCl4

11.  mole of  is mixed with  mole

of HCl and diluted to one litre. What will be the 

concentration in the solution

A. 

0.1 CH3CH(Kb = 5 × 10− 4) 0.08

H +

8 × 10− 2M

https://dl.doubtnut.com/l/_vyA7JAqKCtmL
https://dl.doubtnut.com/l/_gnTzOURnjy5a


B. 

C. 

D. 

Answer: B

Watch Video Solution

8 × 10− 11M

1.6 × 10− 11M

8 × 10− 5M

12. The  of acteylsalicylic acid (aspirin) is . The pH of gastric

juice in human stomach is about  and the pH in the small

intestine is about 8. Aspirin will be:

A. Unionised in the small intestine and the stomach

B. Completely ionised in the small intestine and in the

stomach

pKa 3.5

2 − 3

https://dl.doubtnut.com/l/_gnTzOURnjy5a
https://dl.doubtnut.com/l/_3ItIdxqbZ8DV


C. Ionised in the stomach and almost unionised in the small

intestine

D. Ionised in the small intestine and almost unionised in the

stomach

Answer: D

Watch Video Solution

13. The conjugate acid of  is :

A. 

B. 

C. 

D. 

NH −
2

NH3

NH
+

4

NH2OH

N2H4

https://dl.doubtnut.com/l/_3ItIdxqbZ8DV
https://dl.doubtnut.com/l/_xJIzPj31NK1z


Answer: A

Watch Video Solution

14. The compound whose  solution is basic is

A. Ammonium acetate

B. Ammonium chloride

C. Ammonium sulphate

D. Sodium acetate

Answer: D

Watch Video Solution

0.1M

15. The compound insoluble in acetic acid is

https://dl.doubtnut.com/l/_xJIzPj31NK1z
https://dl.doubtnut.com/l/_R90YCKuOKGIr
https://dl.doubtnut.com/l/_jaMkSWouOU6X


A. Calcium oxide

B. Calcium carbonate

C. Calcium oxalate

D. Calcium hydroxide

Answer: C

View Text Solution

16. When equal volumes of the following solutions are mixed,

precipitation of  will occur only wity

A.  and 

B.  and 

C.  and 

D.  and 

AgCI(Ksp = 1.8 × 10− 10)

10− 4M(Ag+ ) 10− 4M(Cl− )

10− 5M(Ag+ ) 10− 5M(Cl− )

10− 6M(Ag+ ) 10− 6M(Cl− )

10− 10M(ag+ ) 10− 10M(Cl− )

https://dl.doubtnut.com/l/_jaMkSWouOU6X
https://dl.doubtnut.com/l/_CTYOa8yjKN0u


Answer: A

Watch Video Solution

17. Which one of the following is the strongest acid ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ClO3(OH)

ClO2(OH)

SO(OH)2

SO2(OH)2

https://dl.doubtnut.com/l/_CTYOa8yjKN0u
https://dl.doubtnut.com/l/_NUi0ylzxxwdm


18. Solubility product of  is . Its solubility in

moles//litre would be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

BaCl2 4 × 10− 9

1 × 10− 3

1 × 10− 9

4 × 10− 27

1 × 10− 27

19. The hydroxide of alkaline earth metal, which has the lowest

value of solubility product  at normal temperature 

is :

(Ksp) (25∘C)

https://dl.doubtnut.com/l/_bGwmCz7PaiML
https://dl.doubtnut.com/l/_YNVlrAnWmjkP


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Mg(OH)2

Ca(OH)2

Ba(OH)2

Be(OH)2

20. The following equilibrium is established when hydrogen

chloride is dissolved in acetic acid

 


The set that characterises the conjugate acid-base pairs is :

A.  and 

B.  and 

HCl(aq) + CH3COOH(aq) ⇔ Cl− (aq) + CH3COOH
+

2 (aq)

(HCl, CH3COOH) (CH2COOH
+

2 , Cl− )

(HCl, CH3COOH
+

2 ) (CH3COOH, Cl− )

https://dl.doubtnut.com/l/_YNVlrAnWmjkP
https://dl.doubtnut.com/l/_ZZRsUUu0kk0S


C.  and 

D.  and 

Answer: D

Watch Video Solution

(CH3COOH
+

2 , HCl) (Cl− , CH3COOH)

(HCl, Cl− ) (CH3COOH
+

2 , CH2COOH)

21. Which of the following solutions will have pH close to 1.0

A. 100 ml of (M/10) HCl + 100 ml of (M/10) NaOH

B. 55 ml of (M/10) HCl + 45ml of (M/10) NaOH

C. 10 ml of (M/10) HCl + 90 ml of (M/10) NaOH

D. 75 ml of (M/5) HCl + 25 ml of (M/15) NaOH

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ZZRsUUu0kk0S
https://dl.doubtnut.com/l/_QQa9meRE1VkO


22. The cyanide ion  are isoelectronic, but in contrast

to  is chemically inert, because of

A. Low bond energy

B. Absence of bond polarity

C. Unsymmetrical electron distribution

D. Presence of more number of electrons in bonding orbitals

Answer: B

Watch Video Solution

CN and N2

CN − , N2

23. The dissoctiation of water of  is  and the

density of water is  the ionisation constant of water is

A. 

25∘C 1.9 × 10− 7 %

1g/cm3

1.0 × 10− 14

https://dl.doubtnut.com/l/_U8hmjTIoEzq4
https://dl.doubtnut.com/l/_eFu4nHbhFVUL


B. 

C. 

D. 

Answer: B

Watch Video Solution

2.0 × 10− 16

1.0 × 10− 16

1.0 × 10− 8

24. Which one of the following salt is most acidic in water?

A. 

B. 

C. 

D. 

Answer: D

NiCl2

BeCl2

FeCl3

AlCl3

https://dl.doubtnut.com/l/_eFu4nHbhFVUL
https://dl.doubtnut.com/l/_lZ8NVU1rlJd3


Watch Video Solution

25. Which of the following solutions has ?

A. 0.01 M KOH

B. 1 N KOH ml

C. 1 NaOH ml

D. 1 N 

Answer: A

Watch Video Solution

pH = 12

Ca(OH)2ml

26. In a solution of acetic acid, sodium acetate is added, then its

pH value

A. Decreases

https://dl.doubtnut.com/l/_lZ8NVU1rlJd3
https://dl.doubtnut.com/l/_lyKr5D9JelbT
https://dl.doubtnut.com/l/_9s4uNVSsdmoC


B. Increases

C. Remains unchanged

D. (a) and (b) both are correct

Answer: B

View Text Solution

27. The following acids have been arranged in the order of

decreasing acid strength. Identify the correct order 

ClOH(I), BrOH (II), IOH (III)

A. 

B. 

C. 

D. 

I > II > III

II > I > III

III > II > I

I > III > II

https://dl.doubtnut.com/l/_9s4uNVSsdmoC
https://dl.doubtnut.com/l/_0KioejVQ7I0N


Answer: A

View Text Solution

28. If  for fluoride ion at  is , the ionisation

constant of hydrofluoric acid in water at this temperature is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

pKb 25∘C 10.83

1.74 × 10− 5

3.52 × 10− 3

6.75 × 10− 4

5.38 × 10− 2

https://dl.doubtnut.com/l/_0KioejVQ7I0N
https://dl.doubtnut.com/l/_H1RDxGM8usv4


29. the solubility of  is y mol . Its solubility product is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A2B3 dm− 3

6y4

64y4

36y5

108y5

30. Read the following statement and explanation and answer as

per the options given below: 

Assertion :  is a stronger acid than  


Reason : In  there are two nitrogen-to-oxygen bonds

whereas in  there is only one.

HNO3 HNO2

HNO3

HNO2

https://dl.doubtnut.com/l/_Kmfxqoe9nhF7
https://dl.doubtnut.com/l/_Anuo3ad9MeO9


A. If both assertion and reason are correct, and reason is the

correct explanation of the assertion

B. If both assertion and reason are correct, but reason is not

the correct explanation of the assertion.

C. If assertion is correct but reason is false.

D. If assertion is incorrect but reason is correct.

Answer: C

View Text Solution

31. If the  value in the hydrolysis reaction, 

 is ,then the hydrolysis

constant of the salt would be :

A. 

Ka

B+ + H2O → BOH + H + 1.0 × 10− 6

1.0 × 10− 6

https://dl.doubtnut.com/l/_Anuo3ad9MeO9
https://dl.doubtnut.com/l/_4iJgbChebwb5


B. 

C. 

D. 

Answer: C

Watch Video Solution

1.0 × 10− 7

1.0 × 10− 8

1.0 × 10− 9

32. The pH of 0.1 M solution of the following salts increases in the

order

A. 

B. 

C. 

D. 

NaCl > NH4Cl < NaCN < HCl

HCl < NH4Cl < NaCl < NaCN

NaCN < NH4Cl < NaCl < HCl

HCl < NaCl < NaCN < NH4Cl

https://dl.doubtnut.com/l/_4iJgbChebwb5
https://dl.doubtnut.com/l/_DFBdTix2jEsp


Answer: B

Watch Video Solution

33. The solubility product of  is . The

solubility of this compound in gram per  of solution is

A. 

B. 

C. 0.816

D. 1.4

Answer: B

View Text Solution

Mg(OH)2 1.2 × 10− 11

100cm3

1.4 × 10− 4

8.16 × 10− 4

https://dl.doubtnut.com/l/_DFBdTix2jEsp
https://dl.doubtnut.com/l/_r8HjzMPyArDq


34. Which of the following is the strongest base

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

C2H
−

5

C2H5COO
−

C2H5O
−

OH −

35. The set with correct order of acidity is :

A. 

B. 

C. 

HClO < HClO2 < HClO3 < HClO4

HClO4 < HClO3 < HClO2 < HClO

HClO < HClO4 < HClO3 < HClO2

https://dl.doubtnut.com/l/_nTvXpnNvRMvX
https://dl.doubtnut.com/l/_7tSEczI15AEp


D. 

Answer: A

Watch Video Solution

HClO4 < HClO2 < HClO3 < HClO

36. For a sparingly soluble salt , the relationship of its

solubility product  with its solubility  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ApBq

(Ls) (S)

LS = Sp+q. pp. qq

LS = Sp+q. pq. qp

LS = Spq. pp. qq

Ls = Spq. (pq)p+q

https://dl.doubtnut.com/l/_7tSEczI15AEp
https://dl.doubtnut.com/l/_eGRlSrDizc0j


37. The correct order of acidic strength is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

CaO < CuO < H2O < CO2

H2O < CuO < CaO < CO2

CaO < H2O < CuO < CO2

H2O < CO2 < CaO < CuO

38.  is :

A. Monobasic and weak Lewis acid

B. Monobasic and weak Bronsted acid

C. Monobasic and strong Lewis

H3BO3

https://dl.doubtnut.com/l/_urInIMBRXUgx
https://dl.doubtnut.com/l/_jstetxWVXxfZ


D. Tribasic and weak Bronsted acid

Answer: A

Watch Video Solution

39. A solution which is  each in , and 

 it treated with  sulphide ion. If the  of 

and  are ,and ,

respectively, which one will precipitate first?

A. FeS

B. MgS

C. HgS

D. ZnS

Answer: C

10− 3M Mn2 + , Fe2 + , Zn2 +

Hg2 + 10− 16M Ksp

MnS, FeS, ZnS HgS 10− 15, 10− 23, 10− 20 10− 54

https://dl.doubtnut.com/l/_jstetxWVXxfZ
https://dl.doubtnut.com/l/_kvdHL57z6DwF


Watch Video Solution

40. A weak acid  has the dissociation constant . It

forms a salt  on reaction with alkali. The percentage

hydrolysis of  solution of  is

A. 1.0E-6

B. 0.0001

C. 0.01

D. 0.0015

Answer: c

Watch Video Solution

HX 1 × 10− 5M

NaX

0.1M NaX

https://dl.doubtnut.com/l/_kvdHL57z6DwF
https://dl.doubtnut.com/l/_Bx9VdZzCIoaK


41. A  solution of  is isotonic with  M

solution of glucose at same temperature . The apparent

percentage dissociation of  is :

A. 0.25

B. 0.5

C. 75

D. 0.85

Answer: C

Watch Video Solution

0.004M Na2SO4 0.010

NaSO4

42.  mole of  is mixed with 

mole of HCl and diluted to one litre. What will be the 

concentration in the solution

0.1 CH3CH(Kb = 5 × 10− 4) 0.08

H +

https://dl.doubtnut.com/l/_xdpSMxWtfFMp
https://dl.doubtnut.com/l/_cgTKBHabVxcb


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

8 × 10− 2M

8 × 10− 11M

1.6 × 10− 11M

8 × 10− 5M

43. The species present in solution when  is dissolved in

water

A. 

B. 

C. 

D. 

CO2

CO2, H2CO3, HCO−
3 , CO2 −

3

H2CO3, CO2 −
3

CO2 −
3 , HCO3

CO2, H2CO3

https://dl.doubtnut.com/l/_cgTKBHabVxcb
https://dl.doubtnut.com/l/_pelVnuNqmb1y


Answer: A

Watch Video Solution

44. Solubility product constant  of salts of types 

 at temperature 'T' are 

, respectively.

Solubilities  of the salts at temperature 'T' are in the

order

A. 

B. 

C. 

D. 

Answer: D

W h Vid S l i

(Ksp)

MX, MX2 and M3X

4.0 × 10− 8, 3.2 × 10− 14 and 2.7 × 10− 15

(mol. Dm − 3

MX1 > MX2 > M3X

M3X > MX2 > MX1

MX2 > M3X > MX1

MX1 > M3X > MX2

https://dl.doubtnut.com/l/_pelVnuNqmb1y
https://dl.doubtnut.com/l/_FtfZl6g4O9J4


Watch Video Solution

45. 2.5 ml of  weak monoacidic base (  at 

) is titrated with  M HCl in water at . The

concentration of  at equivalence point is (  at 

)

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

M
2

5
Kb = 1 × 10− 12

25∘C
2

15
25∘C

h+ Kw = 1 × 10− 14

25∘C

3.7 × 10− 13M

3.2 × 10− 7M

3.2 × 10− 2M

2.7 × 10− 2M

https://dl.doubtnut.com/l/_FtfZl6g4O9J4
https://dl.doubtnut.com/l/_rH6W1BNLJsvE


46. Passing  gas into a mixture of  and 

 ions in an acidified aqueous solution precipitates

A. CuS and HgS

B. MnS and CuS

C. MnS and NiS

D. NiS and HgS

Answer: A

Watch Video Solution

H2S Mn2 + , Ni2 + , Cu2 +

Hg2 +

47. How many litres of water must be added to  of an aqueous

solution of  with a  of  to create an aqueous solution

with  of ?

1L

HCl pH 1

pH 2

https://dl.doubtnut.com/l/_o8OLIofSt9EI
https://dl.doubtnut.com/l/_L5sC07K27tbh


A. 0.1 L

B. 0.9 L

C. 

D. 

Answer: D

Watch Video Solution

2.0L

9.0L

48.  of a weak acid  and  of a weak base  are

3.2 and 3.4 respectively. The  of their salt (AB) solution is

A. 6.9

B. 

C. 

D. 7.2

pKa (HA) pBb (BOH)

pH

7.0

1.0

https://dl.doubtnut.com/l/_L5sC07K27tbh
https://dl.doubtnut.com/l/_T4TxvRv7yG4f


JS Jee Section (More than one choice correct answer)

Answer: A

Watch Video Solution

1. Which of the following will show common ion effect and form a

buffer solution?

A.  and 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

CH3COONH4 CH3COOH

NH4Cl + NH4OH

H2SO4 + Na2SO4

NaCl + NaOH

https://dl.doubtnut.com/l/_T4TxvRv7yG4f
https://dl.doubtnut.com/l/_KjLHgiPl0VBV


2. The decreasing order of strength of the bases,

 and :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

OH − , NH −
2 , H − C ≡ C − CH3 − CH −

2

CH3 − CH −
2 > NH −

2 > H − C − > OH −

H − C ≡ C − > CH3 − CH −
2 > NH −

2 > OH −

OH − > NH −
2 > H − C ≡ C − > CH3 − CH −

3

NH −
2 > H − C ≡ C − > OH − > CH3 − CH −

2

3. Which of the following statement(s) is (are) correct?

A. The pH of  solution of HCl is 81.0 × 10− 8M

https://dl.doubtnut.com/l/_KjLHgiPl0VBV
https://dl.doubtnut.com/l/_n6SO76TBPtLi
https://dl.doubtnut.com/l/_CWvIsWiFtWuy


B. The conjugate base of  is 

C. Autoprotolysis constant of water increases with

temperature

D. When a solution of a weak monoprotic acid is titrated

against a strong base, at half-neutralisation point

Answer: B::C

Watch Video Solution

H2PO
−
4 HPO

2 −
4

pH = (1/2)pKa

4. Assuming complete dissociation, which of the following

aqueous solutions will have the same pH value

A. 100 ml of 0.01 M HCl

B. 100 ml of 0.01 M H2SO4

https://dl.doubtnut.com/l/_CWvIsWiFtWuy
https://dl.doubtnut.com/l/_XwEavYtKXr9n


C. 50 ml of 0.01 M HCl

D. Mixture of 50 ml of 0.02 M  and 50 ml of 0.02 M

NaOH

Answer: A::D

View Text Solution

H2SO4

5. A buffer solution can be prepared from a mixture of

A. Sodium acetate and acetic acid in water

B. Sodium acetate and hydrochloric acid in water

C. Ammonia and ammonium chloride in water

D. Ammonium and sodium hydroxide in water

Answer: A::C

https://dl.doubtnut.com/l/_XwEavYtKXr9n
https://dl.doubtnut.com/l/_H9ktQO42bL09


Watch Video Solution

6. Which of the following can not function as a buffer solution

under any condition ?

A. NaCl and NaOH

B. NaOH and 

C.  and HCl

D. Borax and boric acid

Answer: A::B::C

Watch Video Solution

NH4OH

CH3COONH4

7. Aqueous solutions of ,and 

 of identical concentrations are provided. The pair

HNO3, KOH, CH3COOH

CH3COONa

https://dl.doubtnut.com/l/_H9ktQO42bL09
https://dl.doubtnut.com/l/_ued2C6XyJMEQ
https://dl.doubtnut.com/l/_R9wTOyHAy4Qy


(s) of solution which form a buffer upon mixing is// are

A.  and 

B. KOH and 

C.  and 

D.  and 

Answer: C::D

Watch Video Solution

HNO3 CH3COOH

CH3COONa

HNO3 CH3COONa

CH3COOH CH3COONa

8. The equilibrium:  in aqueous medium at 

 shifts towards the left in the presence of

A. 

B. 

C. 

2Cu1 ⇔ Cu0 + Cuu

25∘C

NO3

Cl−

SCN −

https://dl.doubtnut.com/l/_R9wTOyHAy4Qy
https://dl.doubtnut.com/l/_7vrtDJj1IgX4


D. 

Answer: B::C::D

Watch Video Solution

CN −

9. The initial rate of hydrolysis of methyl acetate (1M) by a weak

acid  is  of that of a strong acid 

at . The  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(HA, 1M) 1/100th (HX, 1M),

25∘C Ka(HA)

1 × 10− 4

1 × 10− 5

1 × 10− 6

1 × 10− 3

https://dl.doubtnut.com/l/_7vrtDJj1IgX4
https://dl.doubtnut.com/l/_Tfw22WXVgW5q


10. The  of  is  at . The solubility (in

mol/L) of  in a  solution is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ksp Ag2CrO4 1.1 × 10− 12 298K

Ag2CrO4 0.1MAgNO3

1.1 × 10− 11

1.1 × 10− 10

1.1 × 10− 12

1.1 × 10− 9

11. Choose the correct statement

A. pH of acidic buffer solutions decrease if more salt is added

https://dl.doubtnut.com/l/_Tfw22WXVgW5q
https://dl.doubtnut.com/l/_D5b5jbPnAdgR
https://dl.doubtnut.com/l/_UnBcTAfDWkqG


B. pH of acidic buffer solution increases is more salt is added

C. pH of basic buffer decreases if more salt is added

D. pH of basic buffer increases if more salt is added.

Answer: B::C

View Text Solution

12.  of  at  K is  Identify which of the

following is/are correct?

A.  of  is 12

B. pH of  is 6

C.  is neutral

D.  is acidic

Kw H2O 373 1 × 10− 12

pKw H2O

H2O

H2O

H2O

https://dl.doubtnut.com/l/_UnBcTAfDWkqG
https://dl.doubtnut.com/l/_Yz79FUMN6AoA


Answer: A::B::C

Watch Video Solution

13. For two different acids with same concentration:

A. The relative strength is expressed as 

B. Relative strength is expressed as 

C. Relative strength is expressed as 

D. 

Answer: A::C

Watch Video Solution

α1

α2

Ka1

Ka2

√
Ka1

Ka2

pH1

pH2

14. Which of the following statement (s) is/are correct

https://dl.doubtnut.com/l/_Yz79FUMN6AoA
https://dl.doubtnut.com/l/_F1aA7bF4hYv9
https://dl.doubtnut.com/l/_Cy5IpGoQS5hD


A. pOH of an acidic buffer decreases if less salt is added

B. pOH of a basic buffer decreases if less salt is added

C. At the saturation point the ionic product is equal to

solubility product

D. The term solubility product is only for sparingly soluble salt

Answer: A::B::C

View Text Solution

15. The percentage ionization of a weak base is given by

A. 

B. 

C. 

(√ ) × 100
Ka

c

( ) × 100
1

1 + 10pKb −pOH

(√ ) × 100
Kb

c

https://dl.doubtnut.com/l/_Cy5IpGoQS5hD
https://dl.doubtnut.com/l/_JRjxMseD5qNw


D. 

Answer: C::D

View Text Solution

(√ )100
Kw

c × Kaof conjugate acid

16. Which of the following solution (s) is/are correct

A. In contains weak acid and its conjugate base

B. In contains weak base and its conjugate acid.

C. It shows change in pH on adding small amount of acid or

base

D. All of these

Answer: A::B

View Text Solution

https://dl.doubtnut.com/l/_JRjxMseD5qNw
https://dl.doubtnut.com/l/_zZbfSKNecwOW


JS Jee Section (Reasoning type question)

17. There is a salt of weak acid and weak base the  of the acid is

greater than the  of the base hence

A. Degree of hydrolysis is independent of the concentration of

the salt solution

B. Anionic hydrolysis will be greater than cationic hydrolysis

C. Cationic hydrolysis is greater than anionic hydrolysis

D. 

Answer: A::C::D

View Text Solution

Ka

Kb

h = √
Kw

KaKb

https://dl.doubtnut.com/l/_zZbfSKNecwOW
https://dl.doubtnut.com/l/_DluhrIxWFAKt


1. Statement 1 : , HCl and  are all equally strong in

water but not equally strong in acetic acid. 

Statement 2 :  gives  as well as  ions, but 

 gives only  and no  ions.

A. Statement 1 is true, statement 2 is true , statement 2 is

correct explanation for statement 1

B. Statement 1 is true, statement 2 is true , statement 2 is not

a correct explanation for statement 1

C. Statement 1 is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: B

View Text Solution

H2SO4 HNO3

H2O H + OH −

CH3COOH H + OH −

https://dl.doubtnut.com/l/_M5RhkaxH1gpt
https://dl.doubtnut.com/l/_4SeB1YKzlE6R


2. Statement: A micture of the solution of a weak acid and its

conjugates base acts as a good buffer. 

Explanation: The ratio of the conjugates base acid in the mixture

does not change substantially when small amount of acids or

alkalines are added to the buffer.

A. Statement 1 is true, statement 2 is true , statement 2 is

correct explanation for statement 2

B. Statement 1 is true, statement 2 is true , statement 2 is not

a correct explanation for statement 2

C. Statement 1 is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4SeB1YKzlE6R
https://dl.doubtnut.com/l/_2hppnp4zr5wD


JS Jee Section (Comprehension Type Questions)

3. Assertion (A):  of a weak acid become equal of the  of

the solution at the mid-point of titration. 

Reason (R) : The molar concentration of the proton donor an

proton acceptor beomes equal at the mid-point.

A. Statement 1 is true, statement 2 is true , statement 2 is

correct explanation for statement 3

B. Statement 1 is true, statement 2 is true , statement 2 is not

a correct explanation for statement 3

C. Statement 1 is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: A

Watch Video Solution

pKa pH

https://dl.doubtnut.com/l/_2hppnp4zr5wD


1. The Ph of basic buffer mixtures is given by : log

 whereas Ph of acidic buffer mixtures is given by : Ph =

. Addition of little acid or base although shows

no appreciable change in Ph for all practical purposes, but sicne

the ratio  or  changes, a slight decrease or increase

in pH results. 

The ratio of pH of solution (I) containing 1 mole to pH of solution

(II) containing 1 mole of  and 1 mole of acetic in one

litre is :

A. 

B. 

C. 

D. 

Ph = Pka +

[Base]

[Salt]

pKa + log
[Salt]

[Acid]

[Base]

[Salt]

[Salt]

[Acid]

CH3COONa

1: 2

2: 1

1: 3

3: 1

https://dl.doubtnut.com/l/_yqIWDgBelWg2


Answer: A

Watch Video Solution

2. The pH of basic buffer mixtures is given by :

 , whereas pH of acidic buffer

mixtures is given by: . Addition of

little acid or base although shows no appreciable change for all

practical purpose, but since the ratio  or  change, a

slight decrease or increase in pH results in. 

The volume of  needed to prepare a buffer of 

 with 50 mL of  acetic acid is: 

A. 50 mL

B. 25 mL

pH = pKa + log( )
[Base]

[Salt]

pH = pKa + log( )
[Salt]

[Acid]

[Base]

[Salt]

[Salt]

[Acid]

0.2MNaOH

pH4.74 0.2M

(pKaofCH3COO
− = 9.26)

https://dl.doubtnut.com/l/_yqIWDgBelWg2
https://dl.doubtnut.com/l/_TqpfZGSSv4Fu


C. 20 mL

D. 10 mL

Answer: B

Watch Video Solution

3. The pH of basic buffer mixtures is given by :

 , whereas pH of acidic buffer

mixtures is given by: . Addition of

little acid or base although shows no appreciable change for all

practical purpose, but since the ratio  or  change, a

slight decrease or increase in pH results in. 

The amount of  to be added to 500 mL of 

 solution  prepare a

buffer of  is:

pH = pKa + log( )
[Base]

[Salt]

pH = pKa + log( )
[Salt]

[Acid]

[Base]

[Salt]

[Salt]

[Acid]

(NH4)2SO4

0.01MNH4OH (pKaf or NH
+

4 is9.26)

pH8.26

https://dl.doubtnut.com/l/_TqpfZGSSv4Fu
https://dl.doubtnut.com/l/_9o2YZjksNmqS


A. 0.05 mole

B. 0.025 mole

C. 0.10 mole

D. 0.005 mole

Answer: B

Watch Video Solution

4. The pH of basic buffer mixtures is given by :

 , whereas pH of acidic buffer

mixtures is given by: . Addition of

little acid or base although shows no appreciable change for all

practical purpose, but since the ratio  or  change, a

slight decrease or increase in pH results in. 

A solution containing  mole of dichloroacetic acid

pH = pKa + log( )
[Base]

[Salt]

pH = pKa + log( )
[Salt]

[Acid]

[Base]

[Salt]

[Salt]

[Acid]

0.2

https://dl.doubtnut.com/l/_9o2YZjksNmqS
https://dl.doubtnut.com/l/_dhRdYJIWMup1


JS Jee Section (Integer type questions)

 and  mole sodium dichloroacetate in one

litre solution has  :

A. 0.05 M

B. 0.025 M

C. 0.10 M

D. 0.005 M

Answer: A

Watch Video Solution

(Ka = 5 × 10− 2) 0.1

[H + ]

1. The dissociation constant of a substituted benzoic acid at

 is . The  of  solution of its sodium salt

is

25∘C 1.0 × 10− 4 pH 0.01M

https://dl.doubtnut.com/l/_dhRdYJIWMup1
https://dl.doubtnut.com/l/_4NsXsNOwOPZ0


Watch Video Solution

2. Amongst the following, the total number of compounds whose

aqueous solution turns red litmus paper blue is: 

Watch Video Solution

KCN K2SO4 (NH4)2C2O4 NaCI

ZN(NO3)2 FeCI3 K2CO3 NH4NO3

LiCN

3. The total number of diprotic acids among the following is 

 


 


Watch Video Solution

H3PO4, H2SO4, H3PO3

H2CO3, H2S2O7, H3BO3

H3PO2, H2CrO4, H2SO3

https://dl.doubtnut.com/l/_4NsXsNOwOPZ0
https://dl.doubtnut.com/l/_6XurWxHVzcju
https://dl.doubtnut.com/l/_3QM91nS9BPYa


4. In 1L saturated solution of

 of 

 is added. The resultant

concentration of  in the solution is . The value of

"x" is.

Watch Video Solution

AgCI[Ksp(AgCI) = 1.6 × 10− 10], 0.1mol

CuCI[Ksp(CuCI) = 1.0 × 10− 6]

Ag+ 1.6 × 10−x

5.  for butyric acid is . Calculate pH and hydroxyl ion

concentration in  aqueous solution of sodium butyate.

Watch Video Solution

Ka 2.0 × 10− 5

0.2M

6.  is dissoolved in  and total volume is made

upto . Calculate the percentage of  that has reacted

with  in this solution.  for .

0.16gN2H4 H2O

500mL N2H4

H2O Kb N2H4 = 4.0 × 10− 6M

https://dl.doubtnut.com/l/_x1NEWCcwMG7D
https://dl.doubtnut.com/l/_noMmARbjtHNL
https://dl.doubtnut.com/l/_vvp7Hpf550IW


JS Jee Section (Matrix Match Type Questions)

Watch Video Solution

7. A certain buffer solution contains equal concentration of 

and HX. The  for  is . The pH of the buffer is:

Watch Video Solution

X −

Kb X − 10− 10

8. Calculate the per cent error in the hydronium-ion

concentration made by neglecting the ionisation of water in a

 M NaOH solution.

Watch Video Solution

1 × 10− 6

https://dl.doubtnut.com/l/_vvp7Hpf550IW
https://dl.doubtnut.com/l/_1PzTBKpVeJAG
https://dl.doubtnut.com/l/_jQpkl9zzm9eO


1. When a salt reacts with water to form acidic or basic solution ,

the process is called hydrolysis . The pH of salt solution can be

calculated using the following relations : 

 (for salt of weak acid and strong

base .) 

 (for salt of weak base and strong

acid ) . 

 (for weak acid and weak base ). 


where 'c' represents the concentration of salt . 

When a weak acid or a weak base not completely neutralized by

strong base or strong acid 

respectively , then formation of buffer takes place . The pH of

buffer solution can be calculated using the following relation : 

 

Answer the following questions using the following data : 

 

pH = [pKw + pKa + log c]
1

2

pH = [pKw − pKb − log c]
1

2

pH = [pKw + pKa − pKb]
1

2

pH = pKa + log. , pOH = pKb + log.
[Salt]

[Acid]

[Salt]

[Base]

pKa = 4.7447, pKb = 4.7447, pKw = 14

https://dl.doubtnut.com/l/_AvTRACXQVnSN


JS Jee Section (JEE Advanced (Numeric answer type question))

When 100 mL of  M  is added to 50 mL of  HCl

solution , the pH is

Watch Video Solution

0.1 NH4OH 0.1M

1. The solubility of a salt of weak acid (AB) at pH 3 is

. The value of Y is ____. (Given that the value

of solubility product of AB  and the value of

ionization constant of HB )

Watch Video Solution

Y × 10− 3  mol L− 1

(Ksp) = 2 × 10− 10

(Ka) = 1 × 10− 8

https://dl.doubtnut.com/l/_AvTRACXQVnSN
https://dl.doubtnut.com/l/_xiggbckN9Ern

